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Instructions to the candidates :-
1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any one from (a) and one from (b) of the following in about 150
words each : [20]
a 1) How didtheastrologer convince Guru Nayak about his future?

i)  What is self-esteem? How does the writer differentiate high self-
esteem from low self-esteem?

b) 1) Whatdoyouthink isthetheme of the story ‘ The Gift of the Magi’?
Explain.

i)  Comment on the significance of thetitle'Karma.

Q2) Attempt any one from (a) and one from (b) of the following in about 150
words each : [20]

a 1) How does the poet express undying love for his beloved in the
poem ‘A Red, Red Rose' ?

i)  Elaborate the central idea of the poem 'Where the Mind is without
Fear'.
b) 1) How does Sargjini Naidu express her intense desire to meet her
lover in the poem 'If you Call Me'?

i)  What arethe similesthe poet uses effectively in'A Red, Red Rose'?
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Q3) Attempt any one from (a) and one from (b) of the following in about 150

words each : [20]
a 1)  What messagedoesNehru givein hisspeech'A Tryst with Destiny'?
Elaborate.

i)  Theyoung generation is at the threshold of facing more challenges
than their forefathers. Discuss with reference to the essay, "Youth
and the tasks Ahead'.

b) 1) Why does Dr. Ambedkar express doubts about India's democratic
system?

i)  Discuss'The Eyesare not Here' asatouching story about two blind

Co-passengers.

Q4) Attempt any one from (a) and one from (b) of the following in about 150

words each : [20]
a 1) Explain'UponWestminster Bridge' asaNature poem.
i)  What isthe narrator's attitude towards the old woman?
b) 1) Explorethethemeof desireandwant inthe poem 'Successiscounted
Sweetest'.
i)  Discuss 'An Old Woman' as a symbolic poem.
Q5) @ Attempt any fiveof thefollowing: [10]
)  Usecorrect tense forms of the verbs given in brackets :
ThePresident of India.......... (arrive) in Pune next month. Everyone
isbusy preparing for hisvisit. Workers......... (clean up) the streets.
i)  Choosethe correct aternative and rewrite thefollowing :
Mangj .......... the book and can talk to usabout it. (read / has read).
i) Fill inthe blanksin the sentences bel ow, putting the verbsin brackets

in either the ssimple past or the past perfect tense :
The Sun ......... (set) by thetimewe .......... (leave) for home.
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Iv)  Fill intheblank in the sentence below, using the future perfect forms
of the verb given in bracket.

Our examination has begun, and by next Saturday | ......... (write)
my last paper.

v)  Correct thefollowing sentence :
No one know the answer.

vi) Fill in the blank in the sentence below using the appropriate form
(singular / plural) of theverb givenin bracket :

Kgol and Shilpa........ (be: simple past) on their way to film studio.

vii)  Fill intheblank in the sentence bel ow using appropriateform (singular
/ plural) of the verb given in bracket.

Each question in this paper ....... (need : simple present) to be read
carefully.

b) Attempt any two of thefollowing : [10]

)  Mr. Patel and Mr. Reddy discuss on the issue of moviesin India.
They agree on some points and disagree on others. Write adialogue
based on this situation.

i)  Ramakant comes to know that his Friend Vikrant has stood first in
statelevel debate competition. Writean informal dialogue.

i)  Thegeneral manager of acompany invitestwo colleaguesfor dinner.
One accepts and the other declines the invitation because of some
other engagement. Writeadial ogue.

363838
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MARATHI
G-1: srygfae "Adt argHa
(2013 ded)
gz . 3 ard| [Tgpor 7or: 100
grergead — ) @wudt faaiet #ar
i)  @gTEE
iii) swTaETRE TSt

gaar .~ 1)  ad v @istant siavas g,
i) Swdiesier ofer Tvarel @quf 7o FIifaara.

7o 1) 1) Wt st 9 st 3w 150 weara for. [10]
) ‘oot U ®TE A A SAhET faeRTETe areeTe |
i) catwA fowEE ‘FEa a1 gewT T WY w4
i)  vTET-wETEeETgR e fawe wdn gt o foreT.
V) wafRET AT THTST e IR HEY SeRTEd qrEdT.
) Wreieht HUETE G FvAret 3w 150 weai forar. [10]
) sraur ufskaa fwior UM sreYw R RUATETS IUTE .
i) ‘arA’ @ aiivew wivrearet fowara wiiEdt forar.
jii) TR wEETE Uttt giFeT T %
V) ‘adumus’ @ gER aregwtieeet afaer it forer.
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7o 2) &) WICferdeht hiorearat e seAret sw 20 veara forer. [10]
) AN TEEt # SaRiET HivTen wUd Eed ?
i) ufzer wa@ TR Fvh TR He ?
i) sToETAIER W wivTeAT AT gt ?
V) wRE wfEeaTder g famdt sererie Ara forar.
V) AT STEedT SgEt GeRR hIvTRS kel Tg ?
Vi) R HIvTeT AT TAHHIS 6 ohel 7
Vii) 3TUUT USTYeR F@HTS 3T HIUTA dqred gid 7
) Wrefterdeht shiorearat urer Seret w20 vreara forer. [10]
) TTqUeeh HTEIHURTA STUITETS Sierdt Fieht vt shisar gaTiay o ?
i) o faTewt Frea sden Ueg wIe e ?
iii) AR TETs T aEE WUR W w7
V) ‘org’ wfaaa weft avem it s fowa ween o ?

V) TREUEE Fiedt shiddd st e R quia fata
T AR ?

vi) fa. g1, arare Tt argaten AuamErdt swoma femeft Feft e ?

Vi) ‘wht YupeRt ATEelt § foar wivh fafget o ?
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797 3) 1) Wefteraeh! FHiorerdt veh weArer 3w 100 wreai forat. [10]
) ‘oAl wodtet eSS geT™ STl SETEETE "ifgdt foreT.
i) TeTerEATe qaaat FI HE T8 TEH{ AT AHAA AR ?
) Wreieht HUETE T gy 3w 100 weaid fo. [10]
) ‘urdt set " A siaden ot IenTgA greE.

i) . q. e area wiadaggd g™ & ated o ot

797 4) @t ‘o’ e @ TeTier Wkt a1 FeAret I forer. [30]
#) i) RmorrEr gege’ a1 faEE w99 wmue fora.
i) ‘g enfur st w@ Sugeh’ o1 wAdie foAee w@ew .
jii) ‘oo’ an SOl TR |,
) i) . H. QNG FATeAT Hiaddaia Tage quie .
i) SUW wEe AT ASEAT UL qiNgaTa T e 3T ?

jii) ‘TSt wfEt WEEl AT hiddTAT STUR WIEATE Hel Aredr i
giera e .
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97 5) 1) Wieitetdeh! hivreaTdt g aTieiyes dse wrdt st forar.

1)  Administration

i) Agreement
v) Executive
vii) President

iX) Editor

) WICATCTdeh! HIVIAE TT= 9168 oraA fawaes faagen goe oo forar.

i) e
i) sz
v) forenfef
vii) vftem

iX)

[4701] Ext. - 10
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i) Caender

Iv) Discount
vi) Management
viii) Reference

X)  Mobilephone

i) erafer
iv) smef
Vi) SaEs
viii) gt
X) arfdtarg

[5]
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MARATHI
G-1: SATagHIeh I SUANTA AST (U 1ITEhA)
(2013 de)
gz . 3 ard| [Tgpor 7or: 100

ger .~ 1)  @d gvT @istant siravas s,
2) IwHIHS T ik FyATE YU JOT FIffEAra.

777 1) Wit ST g7 swAreh 20 weata e forg, [20]
) iR wivears TwR fore.
i) T weR Rt @ s ¥ R
iii)  fga vivervr wur Bt ? Wi wTe Tk g fere.
iv) ‘P’ o w7 fer.
V) ‘amr wus wE ? o forEr.
Vi) ‘Harg’ v @@ ? @ fer.
vil) TS YR foee @ d wEy |,
viii) @refier wguft forgm oof =,



iX) @refter fawamer gl g9 TR T8 .
)  AAHTRAT
)  FARO

X) Eelter arFEriET 3o A ST SuaT .
) dre «En
¥) SHar T w0

Xi) YL Houdre UhHehiul e TATHTST Ueh Tsg foTgl.
) SATIEA USUIR UTaHT qToft
F) TSR et AE@A

Xii) YSS AT g FHE INBET ¢
1) fretehs
q)  WISHUTAT

Xiii) et vreg Trem fragew gew we fore.
a1) fafors

q) IdA

T¥72) ) YECTIR! RV TRt TvAe I 100 vreeiaa fore.

) Sfem SUagRIde 9T T T .

i) gfoa yNemAT=N SMTEvERaT

[4701] Ext. - 10 6
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¥) YA AT RS . [10]

TGS AT BRE ASAT ATRAT hedd. ANAHT AT, 3T
SUCIT HTUEAT HTHIRUTE! e Za STHaT. YUt ATUTEH HgH! Garaae .
3@ HIVA HIVTAT AFTAT Uk Aq AT, TOE Tgeed T hgd HHS WIUTETALT
AT EAYE STV AL 31fereh TTde el TS, HehTes —HEATHRTeS
TR-TR UHT TUATE HIUTRT IgHT AT AT e TEd AAA. AT
HTUTHTER W U o Tedish hIHTA FERITR THid 3186, TR Tl SHTSaTe
AT & T IV HedT0T B3 ? I 9al gaa@ STHUNT AT had
ATIEAT AL, FhReal §:@M TREAAT 3ia:3HI0a At 3a fmior
wHAel. el S 3 wg MEH, FUE IR Wit AT, Ad Hehei,
SETEA T AT TSACEAT AT G — HE A=A AR Ao WA
ATR. FHATS FARRUT a1 A g TR,

(vrsewe - 120)

797 3) o) WeraR] HUTETE T fawere 150 Wi warg e . [10]
) ‘Tdia weanl T a9 fOuETer a9 ATt Nl SATerhwt

i) ‘oEurETdt AerRren Geft’ ugeter awur a fregt e arfarentdt Tt
AR AEA .
F) WA S A=A WIS IR . [10]

A great part of Arabia is desert, here there is nothing but sand
and rock. The sand is so hot that you cannot walk over it with your bare
feet in the daytime. Here and there in the desert are springs of water that
come from deep down under the ground. So deep that the sun cannot
dry them up. These springs are few and far apart, but whereever thereis
one green grass very soon covers the ground all around it. Soon fig
trees and palm trees grow tall and graceful making a cool, green, shady
place around the spring. Such aplaceis caled Oasis.

The Arbaswho are not in the cities live in the desert all the year
round. They livein tents that can be put up and take down easily and
quickly. So that they can move from one Oasis to anoter, seeking grass

and water for their sheep, goats, camels and horses.

[4701] Ext. - 10 7



77 4) WrefteTdeh! wivreargd! Teht gvarel 3w 300 visgmed forgr. [20]

) TS Wt eI Shiviedie ATRdt R @Y SUHIS % el WA o
fera.

i) TSI SRIATAT SHIUT hHIUTeAT M STt et a forer.

777 5) e @ fawarr 300 wesimed fy o, [20]
i) e wegd : weTR T
i) siersrg frgem
iii) T g e (wfera)

363838
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MARATHI (¥dt)

AR 3. 1
SAEEIeh & SUAISTd Jldt : 9RT—1
(2013 deA)
g : 3 ad | [ @ggor 7707 : 100

geqr ;1) @d 99 |iSfavl sravas SiEd
2) @d T GEE 0T SEA

g7 1)  ERIUTER GuTEATE UfshaT SEITEH SrEET
feran

WA IAW TREHaeh HEAaR gee & foral.

R e UEted Wot TU Saul, Heciel UF TTEd JHIUTE B0T, SHUT U0l TR
TTEE T AT YUl BR WY 3. TETE M RIdehl e 965t o feidioh ol Shade
AT TG ARG, I/ A0 f wR0 A foedt | amor g Tat. e
TATH=l I2YUT FZUTATE. I TS SSUUTN UfdehR ShiEel aigst.

THTUTI Shedll T SUTHehReh STUATT ITeRIdT STEd. hTH ST farsiid aremean e
FHATE ¢ IR USd. TG lieh SAfavehl i HUEEl aX SHIGSUT NhTIUTA o6
IIAGUITE ATEe T TG TdTd. ITEUAT HIUTETAT, SATI0T R SATE9N a-d aretel
g, fohan “srucaTen e uetel wR eagaa’ fhan ‘MUl wRE YWUE Wt
AR 39T TS Ao ATadid WA 33d HTEd el AgHt TR0T Hd AT &R At
TG ST A T FSed R, AT IV AR AT UG 39N YAl el

P.T.O.



97 2)

97 3)

77 4)

91 5)

ARG HIETAHEE AT ST rsi-gra Jaradl g TR T8 .
feman
TAAGHT TEEY A UHeraqT fafae TR woe &1,

feren
T =Eu TE T awrEl Feeash 3 afeew o

TAHYh FEUTS S ? o AR e WY 9 Sayaehdl T .
feran

FIUTATE! SrEier St fergn.

) VEUCTEATH! STEYEHAl

)  TywHrSUie TWEd

®) W T AR

g) Sohdict HIlgdl o WHEUh STfereRT

vV Vv ¥V

[4702] Ext.-11 -2-
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PART - A

Q1) Trandateinto English or Marathi. (Any Two) : [12]

STt hia TSI WIETR . (FIURE )

1) ““Towmn 3w, Tuerea, Feerforan arga | wawr foem ? wmmwa e afke
FHRETH, TG R0 Afg oW, I @ U9 fohelfa 9d dagd Ui aaaguT
e awa et - s e, faeea, foen e argen’” o | waweer soman
ET | wedd 3fd e -

*“HHATEERUT ST, TS ATdhEH |
TeaagrRemel, B AT Feaal ||

2) ‘= =@ AMwWIEEld, AT gfeEat |
T TS gif=, TEdet Suferere ||
“urfra = UTUTHgEfN, ATt HEen oF g |
e & U0l HAATIR, UgAHREl TeRitd gerst ||
“I wwwvE uyta fafsear, aieEt aswEaiEeT |
JEENYYREAE, THIE T e ||

J) Y W IHSSAN AT ST HRHATT AT ATHFHAAVUI haeTehtd e STHHeT
I T AJUEG, ST HeAT Wraw STfraTeeat UhH= g | Uehn=d far @
mmmm-“m,w,mmmwm
ﬁgﬁ”ﬁrlmﬂﬁ@mmﬁ: Tﬁa:raa'r-r@manma
AUy fdga o ¥ SIHse Aicshl SUavISTs fagwt  fa |

PTO.



Q2) Explainwith reference to context. (Any Two) : [10]
TEHTEET ISR . (HURE 3F) ¢
1) Ffd = 7 = i AT W WO, IR q9 qeweE ) W
2) ‘oAl otE, SN, FEARE TN ; T UhehiTH FEENE TRy, e uemee

FAratreT’’ o |
3) orEEl @l WEn AT Yeuash sfaqt A ey eyt 39 w
gfrare uftge afd sugde |
Q3) Answer any one of the following question. [16]
WTeAieTdeh! TehT Tl Afee) 3w forat.

1) Write an essay on sundarikasutta.
graferga a1 fawarer afaem fay o
2) Write an essay on nandasutta

Fega a1 fawamer afoew ey forer.

Q4) Writeadetail note on any two of the following : [12]
WTeteTteh! ShHIVTETE gIgier Afaer ur forar.
1) demTar

2) fuwrg

3 w&m
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PART - B

Q1) Trandateinto English or Marathi. (Any Two) : [12]
YA hiaT TS HWTTeER . (SHIuTadl F) -

Q2)

1)

2)

3)

T W2 gear gRaraadl |, ggieed ag wad Sutfaf |

e oot gewarenta T, iR HET ergni agwm’ 1|

Al HAR Seratid Gavol, IhhgEagHacarizs |

TEAATH T SHWauTl, g6g Ua sifidegasd we T |

forg did Wepsh™, T TSRV | FgHIH @ ST, SFhasielid Srai ||
T gAY gAY, IR A FIE0N | SeRH Hed WANT, 3l st weat ||
TE IR UR AT, IR 7 femfa | S foegs, @@ gf= st 1)
Y fererure=, wafheemaTae | SaHeemIuIE, qHg SfH STer ||

AT T HEH FTEVE TAGEE - HiEiy @ el geel @k ateg
FgIfd | ATTEIA @ Ut Ay gamggiEeaeunty, A auErae
FEYREEE ga Tiaal Hat eRE | 99 3R ASSITadid T gl ashehal
SRTehl SFARTSTT ATEEAT A NTATe FUgeaTaRaual Aaa ATl | T
URUTEIRATHE O0H | THEed @ U960 JAT Hatd 90 SRgEUT IEwweT |

Explain with reference to context. (Any two) : [10]
HWTEEd TIFeRIur &, (SRt 3F)

1)
2)

3)

“ggifa, W wfvE, wRfE ? g, Wt a9, Tt o
fean qufa enfee=n, e af=mn |

TG @i qufd, et qufe samon |

N TEIWERI, gl qufer wwre ||

‘ot e AR sTgeat, Wt fRagerdTa ATt |
T TR TAUS FeAs, a9wg q21 Afaia sweasan 1|

[4701]-Ext. - 12 3



Q3) Answer any one of the following question. [16]
WTeileTtehl TehT T2 Ffea’ I fe1gr.

1) Ciritically appreciate brahmanavagga.
sTgIuTaTe Ffeheas wrrgor w5,

2) Write an essay suttanipata.
gfura =1 fearer wfoew ey forar.

Q4) Write adetailed note (Any One) : [12]
THIVTETE TehTeR Tfeem da forar.
1) <weaTuTE

2) ATeeRgd
3) ur

36383
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SANSKRIT (E¥hd)
G- 1: Surabharati (TXHTLAT)

(2013 Pattern)

de : 3 arql [Tor T : 100
gear:— 1) @ g7 sfAar.
All questions are compulsory.
2) IwdimEier oid ot T Fifaara.
Figures to right indicate full marks.

7.1) ‘ot emfor ‘@ faumTeer IR HIUTATET SR TS St ST Wi @ [20]

Trand ate each two from 'A' and 'B' sections into Marathi or English.

‘ar’ fawmr /Section 'A'

) YAIEEHAYE a1 SHUE WePITIaTg- TQe — THergameH a1 (o | gehushsTe
FAATER GAVAGH AU UTH HIGAHITHAT — Fu-ai-ane FHavmaq |
TENATAY R gary THvTerRcierRger -y =T TR | sTeyTauTen
A TATE, oG IAUTAT GRS, fGaeauman: @raieeh, SuimHiausu Sugol
T |

i) foques:- forma: W ArefasT agematoest @ FraacmeagegduE amreaE
ARTeRh FATHEA: |

Tl - &Y wEd |
AYEET WYy = ggugmEtet |
FHICTHRTAGEAT TTAGLaTadT o ||
TIE A HEAAGUHA T T1q |
forquen: - el wiesafa |

PT.O



iii) 'Sisters and Brothers of America atfar smfehan: wfira: ymaw= | st
TATTHIN: HSITaT, AT U] Iq HeRd TOUE ATTTRIRIVE TREEH,
AYAYEHT T | Fmare 11 aewr fod saaduiteg: swEmed: 10 areeermat
wma: | 1893 fawarss frmmt g wumen wrefres fagveyiae 3=
gduduftug faeud 3a emHiq |

‘@’ fawm /Section 'B'

) Uy A e wnt

gtqUauy iU
Th WOgH el geaed
Ay erafy e @ Ay Af: 1|

i) foafa 15 o fagen ada qen w2
ERCKRRIEIE NI A L F e i
HaTd o YAYAH 9e: ®e Td agae
Twata yfefaraigurg wioe gat ==: 1|

i)  ERTAEEI U RIS |
. gramy gaTeviveredT T TwE |
ST qURETAAT YioTHTE T T |
Hida SATAUgITET ead T = I ||

7.2) ‘o emfor ‘@’ faumTder g RivTETE SEie Ees Togietun o= [20]

Explain with reference to context any two from each section, section 'A'
and 'B'.

‘ar’ fawmr /Section 'A’
) TeuTaERl Taudsh 39 Fedayard 7=y |
i) sreushivT 7 TN UREHUYEHE THd |
i) AT SfeETg BYHEATHIAAH |

‘@’ fawm /Section 'B'
) osrEferE WS uTUgET |
i) iR Tt A Tt
iii)  eiveRreRTOT ity Wy R |

[4701] Ext. - 13 2



7.3) WHIUTATE TehT TvATe Afreaw 3w fora. [20]
Writean ?oesay type of answer to any one from following.
) oA 9 Fd 9TeT™ aredd T9E .
Explain the moral of the lesson &= = g=a.
i) ITHaeem anfur TR ATE HaTe Al TUY .
Explain adialogue between arwaesra and @3t in detail.

7.4) HIUTCATE! Tkt T9ATS HiTEa? I <=1 [20]
Write an essay type of answer to any one from following.
) ‘umsiaaadarg:’ ar ureTa TRl .
Appreciate the |esson samsita=agaTg:.
i) ‘grER:’ ureTder wut snfur gF TieET Harere quiA .
Describe a dialogue between =t and g& with reference to the lesson

.
.o

7.5) et Fiorrdt § fadem dan fern. [20]

Write critical notes on any two of thefollowing.

) ifeeEm frerurawges foem
Views of srferera regarding education.

i) iraET TR
Cleverliness of Tiram

iii) wrgder™ fresmrzw.
Learning of wrgmdie.

V)  sivreRtremai=n STeTe!.
Language style of sfvierramd.

3635 38
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E.Y. B.A. (External)

HINDI
G — 1: IS Heeh Tgat (Functional Hindi)
(2013 Ued)
e : 3 T2 [ gorfe - 100

gaTe -~ 1) @t gvT srfAard & 1
A T -G Geu—ep——

y7 1) 1) FefeRaa SRl arieius veai # @ foeedl g9 vieqit o fadt uata T

[10]
)  Abstract i) Bill
i)  Cabinet Iv) Director
v)  Enquiry vi) File
vii) Guilty viii) Hard cash
IX) ldentity card X)  Joint Account
xi) Memory xii) Plan
o) f=feRaa & @ foredl g Tfurda otfeRel e forgt ot wek T2t aat &
IIER vreat ® foriam [10]
i) 40 i) 25x5=125
i) 20+35=55 Iv) 8;
V) 68% vi) 50-20=30
vii) 40.23 vii) 64+8=38
i 3
IX) 2 X) 13.6
) 311 iy =
Xi) Xii) 2

PTO.



gy 2) Frateian amert # o foedi 2@ arert st W JaHT o STTER W Yge hich R
ferRerg [10]

i)
i)

gt foslt § @t I | Sty ga |
TR T THT Fgd T9= gt ¢ |
TR o ATA-3{IA TR H A T |
TSHT TN agd o A ¢ |

Y T qFE GA T |

36k U TR A R

TAR 391 | AT T TE E
T aga-d Eer faet ¢ |

A g AT AT § |

THYER hi IET | TS0 WAT ATHT |
I I TR WS & |
gt 9 THeTg et o |

frafaRaa ufieds =1 ww-fagE wegi o oR-o/@a (F8Uur) s 34 ska
vityes SR : [6]
e # |fgen it SuAifar srfvam 2 | arfde aet sfram =t amft 34
% |TY AETH T 9L TEEH W HAT ¢ | SUAAT i g | 9. qv A %
AT W Mk NI ¢ | Wi WG Siia o 3Ttd okl [ ohidl g | e
TART o |1 g Wiae o FHior Y SROT 4T 8 | ek STHETer HT 3R g
378 SO T ¢ | ATfEed @ g6 WY ht i ® §ATe TET ¢ | fenet s
QI &fiuT g = at 9g THTS & TETAeT Shl oA AT @ | A qUT & 9re
T T g Y T o {70 TeRTIT % TN T KT AT 7 | W R SATEAR
- G gF I Wit THTH o THE fIhri T FU0T R g aHt 98 wq-diee
THEAT T ATAHH FraT 2 |
FrAfeiRaa o=t ¥ 9 fohegl g1 Ul & UTeU daR I [10]
i) mﬁﬁm/aﬁmmmﬁwmﬁmﬁ;ﬁa%&a%ﬁﬁ%mm
73 foght = “oorumn arfereRr@t’ & ug o foru ermaeR uw forean / forae
2
i) WUt / Wy S99, EE A, g A W | Geg R et O, g
! Tt &g o W0 T Tumig o sraer W s un foredt / foraan
2
i) @AW / vaar mErE, fowg wite, iETe ¥ WRed SiEied A
! 7= hl AHET o e # Pt o forear / foradt 2
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v 4) a1) TrefeiRaa § | foFgl §f fawdi o JHmem o3 ST Qe o Torg fasmu st
THAT AR R : [10]

) oruw w fawm |

i) =T A og 7E wsfee @ famm |
iii)  forarat <t waE |

iV) errgdfees aer st fomma |

art) TrafoiRaa oRft eruen wdt uftesg o1 & # eqarg Hifsu - [6]

India is a great country in many aspects. There are big mountains.
Like Himalayas protecting our country. Long ago a famous king named
'‘Bharata’ rules our India. After his name India is called as 'Bharat'
many famous Emperow ruled over India like Chandragupta, Ashoka,
Harsh, Akbar and Shajahan. All these rulers are famous in Indian history.
Ganges, Jamuna, Sindhu, Godavari, Krishna, Kaveri are the sacred
rivers in India. Banaras, Prayag, Tirupati, Madhuri are the famous pilgrim
centres. Kashmir, Neelgiri mountains and Mysore are the beautiful and
worth seeing places of our country.

ferdiatt ftrg femumaTdt S| IR Uk A 99T HHETET AR,
TUTYET SATUeIT SIMER WA ATETAT TAT TS Shid ZraT =TedT AT SATqed
AT “WRA’ T AT MNBEA TS ANTA. ek HIS Urg TH SATIeAT 9TTaR
TS HEA A, ANk, FUAYA, HhaX HTMUT I A9 hTdt A1 |TAT
THETT, hTA AT Ufers TEaT SITedn I9Td STgard. <aye hieht, TamT, fawud,
HEUS 3. AT TASB F ATIedT qUITd Tieg TRd. a8 Hiivw, FHentil ugre
ATIOT FEEY ARG AU Tores & STuedn g9mTd TTed.
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777 5) @) fieferiea ergwdl wedt § @ fohedl 7 o s fefe | [18]
) e R e e fif
i) SEEe B i stavaskar wt wE Fif |
jii) =it TR =R % &= # R i sy we Rk |
iV) T EOR % HTegml ot wierd aies i |
art) Freafafaa fawet § @ frdl or R fewfort fofau [20]
) IeAwr fofu 6 feward |
i) RTEIRE T W AU GEEETEH Hivd |
iii)  Tuch W % vu A &
iv) femmam ® & st w= |
V)  rargeh % T |

Vi) ¥R TEA & Wy |

38383

[4701] Ext. - 14 4



Total No. of Questions: 5]

P391 [4701] Ext. - 14
E.Y. B.A. (External)
G — 1: HINDI (Functional Hindi)
(2013 Ued)
qISAgEdeh : 1) I A9 — HUTSh Sl Teig WER
2) TS WA HUTEeh E1. G ATdh
o 3 g2 [gorfes : 100
gaTe -~ 1) @t gvT srfAard & 1
2)  FIfeAt orik o s wvT & qurtE §
g7 1) Frefoian & @ i W) Twet % T fRaT [20]

)

1),
iii)
Iv)
v)
Vi)

o] el % B ¥ A I SR e & aredt H fRE TR R ue
T ? US-UHTER gl wh YR W T8 hHIFT |

FTET WA o ©1S T 90T U 9Teq1 § ShITST |

WA 3 WA ki fohE TR s fomam o ?

‘@’ wgH T I2YT TE I |

ATATRE ST9T o1 SAfH GEehR sty fora Terr feram ?

‘AR Y Aforeft’ st o sfider Rt FreleRat W WeRTT iU |

777 2) Fasfeafi i 51 et e el % g fafsa - [20]

)

ii)
iii)
V)
v)
Vi)

TvT 3) )

‘Bz ek g ™ @ wfar @ wraned e ik |

AT TR UH UTT g ShidAT skt AT U+ vreat # feilkau |

‘g0 it ATHATIT HISAT % HISAW | HIT AT TR AT AR F 7
‘MR g TS’ hieraT | hid & AHT whi AgAT fohd TR Tehe AT 2 ?
‘ITRTA AR IHh AT HIAAT hT I T HITWT |

‘artet ¥ fadh’ wfaar o wreaw @ wig 3 HwiAaT dour faar @ ?

fFreafafaa sraawn 4 @ e @ i aged =men fifsu | [12]
) A8 SeRd T TRERT, Y 31 YA fo TR ermdn | @ |, arewt @ Ue
WA | AU TG FT il R HA E, AT R ER 1’

i) A SR g B TH A W AT AT 2| A, A 2 iR mg g |
i) ‘g wrfcTe® — aTfereT W T A | A hAe | S8 TR 7,

3 W a1



arm) FrafaRaa sraawon & & el @ i wwesd sre fifsu -

)

i)

gy7 4) a1) TrafeRaa arftwrees weei # @ fonedl erme & T8 uarta ferfe

‘33 Firar omr farew & vam 2, et e
IS uT fAehe 37k 3 & o fgerE |

i @ i fafea e, agh @ fewmn -
W fear-fafsm o w0 o 2@ g s 117
Rt

g T A T it Tehd 7,

T A TG o1 OX 9T BT 9 @ieid § |
I3 Rl A WIFh—90 h
grgan & W g 117
ot g v 2,

M ge ™ fiw wgt fuer;

W Al g aAR W

T HER Ik AATAT 8
MAATE A aEaTE |

)  Affidauit i) Ban

i)  Duration Iv) Expert

v) Form vi) Gazette

vii) Head quarter viii) Increment

iX) Job X)  Muster Role
an) FrafeReaa # @ foredt o7 ot @t Ig wtes TR 3 fat :

) Tomen o wwen Jgar wga € |

i) TR T T THA H A |

jii) Tt 3 aow A &

V) wIga S| @ |

V) T @ gaen fae g )

Vi) UTSIITET T UTH q1 W E |

Vi) W U UeTE S T A T S

Viii) sffepeor & et 9| B |

[4701] Ext. - 14
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3)

3)

T¥7 5) 1)

Frafeiea & & foredt T uftesg &1 &t # sigame Hifsu | [6]

I)  Newspapers are one of the sings of civilization. The more a country
Is educated man is always eager to know what is going on in the
world and information he can Houe. Only thought the medium of
news papers. The primary function of a paper is to supply us
with all sorts of news. Local and foregin. It gives us information
of what is going on in our own country and other parts of the
world. As a matter of fact a newspaper is a sort contemporary
history.

i) GETHdt THTTE @07 FEUT IaHTE UAThS UTEAT I8, Siae ATdedn
TIMMATA ek GRTTA STOATA qaet et T STHET Wist 3/ SATfor
TS aawT U ST Ul ST Ad. STTIEdT STaid SATTUT STeTeiedn
FTARIT UT ¢ TAHTH UATS W haod ATE. T STTIeHT S9TTeTel TSmHiet
ATIUT ST TSTHIET ATICATAT TES HHS] IThaTd. TR UTEAT Jau™ o3
TEUT U] HHTERTCIA STogramel SRl Fgud & |RTal a5e.

S DEC|

frafafRaa ufede =1 ww-TagE wisgl & arR-c@a (Fguur) = 3@ sk

iR €T |

YT 1ol |t 0 STTehTYl | fO@me usHaTet Aert a9t Ugi o fowa °§ s

! IHH B | TS I & SATMIshR & uvera ff A eraier ®§ A 39

T | A ToAT STia ot o Sitad g1 1§ Tehal | Yot o o9 |t #id @ W

SIS T § | ovaiet § USeN Afoha TRIUT € | 37 qAT 31+ ShieAT3dl

HRUT A T AN W IIE ARG AT AT oft | ug fomm | et aw

Tea o foar 2 | it foreft awe sraew e /T ST o | SSTieeht o 31reh o

T Iaier # 3= ht At wieATzal W oo o ot § )

Frafefaa =t ® | Rt teh o 1 aew demR dirfe | [6]

) oifehar / SR Ud, WWRH TR, & § 99 ©IH W Ig U At giaen
2g, e erforenlt = Rrepradt uxr foreedt / foremn 7

i) orftdar / sterm wua, AR, 9AE @ T UH. St e,
IPETR i e sameamar’ ug & foru e = foradt / foraar 2 |

FrafeRaa o @ et v fawa w FEy foalaw [10]
) T i wgE o

i) TI-FOR ureaw iR wH |

i) VPR % Sgd Tl |
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Total No. of Questions : 5] SEAT No. -

P392 [Total No. of Pages : 4
[4701] Ext. - 15
F.Y. B.A. (External)
ARABIC
(2013 Pattern) (General Paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Trandateinto English or Urdu or Marathi any two of the following passages:
[20]

</(,w~° ;;,&;»;%L;iu—’—»}\;ﬁy\ ()

é\/é,é\g ’M\stﬁ/\;ff:vﬂb:ﬁ cﬁ/\}\d
::) /;y){; Q_e_é\(g(’TJLz\)\ —bjzzwcgb
- @Lé»; SRS e NG ESL E L u]
g»vngi;j); @A\d\‘&?\wuﬂ&w\
éLp; (,abu; M\G\M\)

2] dvf’)(){ “\-;LPMJJ\QA Zfovo\» - <L__>>
‘\(/é)’ \d\’w\_: '&;’W >\.:,.)\¢g @\_,Jowov,B\
C"—"‘w \;«i‘u—)\,_}\@(/ja)pr(_—w\_&)bc:j:ojj
.tw)@)w\m /}“)\,.Ma C)\-«Mu(,lo
\:/”\*)u”*'\)) U’\_A&\\ ?:\:") DV;Q"Q\ C},_,p) WL?

ATOL5 AL eSS gD - S

PT.O.



/

- <
Q—’?\ w@\uuu@\cgjés ¢ S__\ z

o~
“'““)(3\-@;%”;5 \-—o\(,-s)@\m»v\\\ Ooe\ L
A‘”:%\Q\ S av_;-\tfo\ﬁ\c,-f(} \:/ — (=)

6’*‘)\ :/;—»'Q\M /e:_;\vo\)\__)’f"\ A
ARG N 25 3 5 5 g
—?y/\,am/af)@(/@\ \wz)ﬁ AR = .5

-
- P
5 ER GR35 000 512 ¢ 225
A A sl s 24 J/

4-@&3\_-,5»((’\5\\:_)\ - i 33;\53”4" > %

A S SN Ve &2V
Q2) Explainwithreferenceany Fiveof thefollowing Verses: [20]

e VIN S Al B O
| c_)\,&))\%\)\; W,w>ew\;®
- g:)\,auxg"/;s_,m - @A%“ Eé;iii,ffj &)
&E)Q\(Jvz;w“(ﬁféf\j@ @
OLe)\(Jo et el —Lo)w» NQ\W’);@
4__)\’ QQ\MJ 456) Lcﬁ_)\ Y ®
_Cj\_f;tj\phscb\) QW\O‘V(/O—?B ’ﬂj@

Y

~C>\-3°}53\</_¢,11(“/(/U) QL)A)"(/V"@-—:’J{J %
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Q3) @ Definewith examples any Two of the following Topics: [15]
73
)
P

;/"\_:_e\.a) ® “‘:VL»-»’})S }\':\i)) @

b) Writethe Answersin Arabic any Five of thefollowing questions:  [5]

<C)f59ué§f® S — w&&i;ﬂz}@@
@Q\}“ SLU@ s o ,.)\-A_S\L)-’\ &

. 7 é”")@\® ﬁ-o §\~.Q U__w_\_;;:)_o O

.—4;))“3
S.M\;’{./)/; UVO ®§((§\\QQ\ZM\>L‘5 @
Yoo, s M:;‘,S . /)/'

Q4) Explain any Two of the following Topics: [20]

U—»&V ) i’;,-f\;"&séLf; @
,@L&\@Mg\ws@

Q5) @ Trandateinto English any five of thefollowing sentences: [10]

- ""5&—3 (3“"‘”—‘-450\5\3 @
___S —_ - \ ~ e .5 5 -
(cfﬂﬁf\@)\@pq:\ N ()

e

TR AN @
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— AL—Q)M ")”G\C_@\)’_}; .
— cviwféw\*-;\é;i‘:)% Q@)

- Qf"“‘—’*’%"b E""&?‘\m’“‘(} D

b) TrandateintoArabic any Five of the following sentences: [10]

i)  ThisBusiscoming from the college.

i)  Hisofficeisfar from his Home.

i)  That chair iscomfortable.

Iv) Sheisbusy in her office.

v) TheTelevision of Faridaisin her room.
vi) Heisgoing to the house of histeacher.
vii) Thelittle boy isnaughty but intelligent.

viii) | went to the house of my friend.

L
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Total No. of Questions : 5] SEAT No. -

P393 [Total No. of Pages : 4
[4701] - Ext. - 16
F.Y. B.A. (External)
PERSIAN
Text : Aks-e-Farsi
(2013 Pattern) (General Paper - I)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Defineandlllustrate any six of thefollowing: oo [12]
It G el
J:'J)\')J,a— 2 .)(,lvj P
oy fd‘(r{ v
T reF
Q2) Write ashort note on any Three of thefollowing : [15]
O’fjéj/ﬂ(j) s 053
o
Gls-v
d < .d
Q3) @ Reproduce on any ONE story of the following : [12]
)

PTO.



b) Writeashort note any three of thefollowing : [15]

(5}’76’0,3 |

[t -
\/J(.CJ/ N
G -
&_}KI -A
Q4) Trandate and explain any Ten couplets of thefollowing : [20]

/(/Zéf(;;f;/u -
/L/ d)’L )/)L(/’/
>/j10320)/”/"’

=020 oy'/o")"; o
u)’/vf——w’@/ >
M\Jyj(;—/t/ / » ,,1 j%]/;—d
/}/)J/ <

P (’JJ/J»G“/’””‘)U’Q
Wu//@f‘ﬂvf —lp Y

s
-9
SUL =162 ¢ T
/gu"l"’ﬂ/-'))(f/ﬂlﬁ , oy
R KﬁO”’/JG?—)}/(bfdéL‘
VT o Gt e L 0
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_L[;,yré}/_),f(f’(cf’cf -A

' G;._,(Zl)ﬂ)/."o;///jfﬁj

7 , -
P2 P Ll
> )“ J; / , /‘é/y /-
@ﬂ/)/q/fdb’ﬁ e 7
' zr Ll =)

ol
OloZ2 < b2 b s 4,
sl YO
(PO AU o oot (o

Q5) @ Trandate any Two passage of the following : [16]

- - H /» . "/-n - - <
U o L 55 (9 67 U a2 A2 (0 Rk !
/o ) A 2
25 e Lt azsTp 2 sl Flz ) 5) by &)l
: 7 . o ,
AL s ) ) T T2 (_;L{/ dz/v-:/eJ/,gf//chﬁ'U/’/
);//A/Jdg,ab)él)pp{/d{}j))/;u»&);}/){:-
))/:_/)[_;}/ - ‘9/9)) U;,}' )((/"/;’_,’) Q‘/J
/A - - P r~
'4’(’7&-'[.7 e Gt 5= LA 5 O A ) 0;/;;.,:
~, ’ _ . L - ) >
WO U Gl 6162520 07 /“’/ff
o P 7
: : NNV il R A
,L;)/,w/;,{,,:,/wjy/,g;/@f/ SIS A

, ' e ./UF/)(/’J/F"/;
ﬂaw,/ﬁéyt;jlu‘f{/’/’ ¢
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)D/Cf'lj/ofd e ycs‘o/j)(//)//, B s
J/J/(f"[-n} 9w J’”?O}/)/J
O i et 0T

GHOM’\/;}{’*’/(}‘//)L,J )j(/}é&é’”’uw—”}
/JD/J/U//))/)/(; oty L /L\,(\/J-"Cfﬂi)/f

U/L/’f Uyl//’(f)/;o)/_,ﬂd;oj/(,u,ﬂ/u)(f/ﬁ7/)j
/P/P/J///ojcy’)/‘,,/(f»/jo/y UJ,UG/K
/‘;/tf’/‘ij/"ja:/!///(j‘ﬂ_L)LOf;y]O/,/J)’

_,J/(f“"// Cﬂf"'
V4

Dllst *‘Zf/,u o L /’"U’/) 1 ‘»/__4,./1 Pbﬂ/«y_

)/f//O"jf”l/d”&cﬂ/>,ﬂ"))@’/@’a/’/aao;
(5‘\7/)’GLU‘/’())’)L”MC’U’/PJJ//J)) 3)
)/}/;”(;’””bw/ SLrU s 2507 s QL) g7 =l (‘dl;”
J/)/f/lyw,«wb’v/b oJ//j,«)L,CpL ol o
,U’f)blrb/ ,J(:zG’f“Cb?/ol/)/cﬂ/w J_,\J/L’ U7
/L//ﬁr(J/P « U)f/ﬂ‘*/))/L/-/,/JJfD/
)/7////(/'//(;//({“7 Uu/w//, ‘(LL/JJ//’/

b) Trandatethe unseen English passagein Persian, Urdu or Marathi. [10]

Since ancient times, Indians have studied the functioning of the
human body. They discussed various diseases and ailments, correctly

describing their symptoms, diagnosis and cure as long as 3000 Years
ago.

363838
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Total No. of Questions : 5] SEAT No. -

P394 [Total No. of Pages : 8
[4701] Ext. - 17
F.Y. B.A. (External)
ECONOMICS
G - I : Indian Economy - Problems and Prospects

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :-
1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any one question of the following : [20]

ad Compare of Indian Economy with developed countries with reference
to Population, Human Development Index, Agriculture and Industry.

b) State the features of Indian population and explain the problems of
over population in India

Q2) Attempt any one question of the following. [20]

a State the causes of unemployment in India and explain the measures to
reduce unemployment.

b) Explain the place of Agriculture in Indian Economy.

Q3) Attempt any one question of the following : [20]

d What isIndustrialization? Explain therole of Industrialization in Indian
Economic Development.

b) What is Social Security? Discuss the measures of Social Security in
India.

PTO.



Q4) Attempt any one question of the following. [20]
a State the need of planning and explain the objectives of planning.

b) Explain the progress of co-operative movement in Maharashtra.

Q5) Write short notes (any two) : [20]
a Causes of high birth rate in India.
b) Types of unemployment.
Cc) Specia Economic Zone (SEZ).

d) Problems of Co-operative Movement.

2
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Total No. of Questions : 5]

P394

[4701] Ext. - 17
F.Y. B.A. (External)

arefoTTE
G-1: R rfeqawell — qUET SATT Hierasa
(2013 UeH)
(TSt TUTER)

de : 3 ard] [Tgpor 7or: 100
gaar :— 1) & v qISav sravas 3z,

2) FTAiESIeT 3k guf Jor FIIfaara.
3) @eWIardt g 5T FVTIIAST UETH.

97 1)

797 2)

797 3)

WTeieTdehl HIVTATEN Tk U39 Aieal. [20]

) wieREEaT, uel fawmm@ fdvnes, ot @ SeaT aiear @ewia WA
JfEIEEIEt TRTA OIS AT .

q) URAE AREEIT 3@ ATIME | SATUT WRATATA TR ciehasa=ar

HAYT g <hll.

WTeieTdehl HIVTATEN Tk U39 Aieal. [20]
) YRATATA SR HIRUT TR SATIUT SRR Sl ShIUATATSI=AT IUTIAIIAAT
Y .

) WRAE AT Jete T T H.

WTeieTdehl HIVTATEN Tk U39 Aieal. [20]

1)  SASATTERIRIUT TEURR Shid ? WRATSAT 31Tfeleh farehmaTdiet eitenfirehienturr=it
qftrert I8 .

¥) HHTRTHR G U T ? WRATd I |THINT Geiaradean Sutamet
==t .



Tp74)  wreherd SR T d,

[20]

3T)  SATFeR AT STTavehal AT SATIUT ATfeieh ST 3§ TUE &hl.

q) HENYTATA ARl Tacsral Il T8 .

gp75) & fogn. (st 3)
) WRATAA I TS HROT

¥) dwHE TSR
%) foviw anfofe &=
T) UEHR ABdsiedl qHET

L
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Total No. of Questions : 5]

P394
[4701] Ext. - 17
F.Y. B.A. (External)
ECONOMICS
G - 1: Agricultural Economics
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :-
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Attempt any one question of thefollowing : [20]

d What is the Agricultural Productivity? Explain the measures on high
productivity.

b) What is Agricultural Economics? Explain scope & importance of
Agricultural Economics.

Q2) Attempt any one question of the following : [20]

d What isthe Co-operative Marketing? Explain the merits & demerits of
Co-operative Marketing in India.

b) What isthe Specia Economic Zone (SEZ)? Explainthefeatures & Impact
onAgriculture,

Q3) Attempt any one question of thefollowing : [20]
ad ExplantheRoleof 'Micro Finance and'NABARD' inAgricultura finance.

b) DefineAgricultural labour. Explain the features and type of Agricultural
Labour.



Q4) Attempt any one question of thefollowing : [20]
d What isthe WTO? Explain the Impact of WTO on IndiaAgriculture.

b) Explainthereasonsof drought and give remediesto control over drought.

Q5) Write short notes (any two) : [20]
ad  MinimumWagesAct.
b) Food Security.
c) Typesof New Irrigation Systems.

d) Organic Farming.

2
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Total No. of Questions : 5]

P394

[4701] Ext. - 17
F.Y. B.A. (External)

arefoTTE
G- 1: T STeivTE
(2013 UeH)
(TSt TUTER)

de : 3 ard] [Tgpor 7or: 100
Faqr :— 1)  ad gvT qistant sravas.

2) ITHIHSIeT 3k T FIAATA.
3) @eWIardt g A FTIIAST UETH.

v 1)

97 2)

797 3)

WTeAieTdehl SHIVTATE Ueh U994 @igal. [20]
) At ScUTGHRAT U HA ? WA ScaTgehdl ATeAuITETE™l SUTT goaT.
) T AT U HE ? FU ALAITET SATH ST Hged WA,

WTeAIeTdehl HIVTATE Ueh T99 @igal. [20]

) wEHR fOuuE saen et T ? ARATd e agehtt fadue e qor
arTfor gy Em,

¥) T enfdfed o et & ? fowiw onide em=it Afvresr AW Wt
geTTadieT TuTa |,

WTeAieTdehl SHIVTATE Ueh U994 @igal. [20]

) it auyTaeamed gen famq@st AT ATaTE A heT SITOTRT
lERRtECICICRRE I
) VAR U T ? VA AfTs OHE e YR T .

7



Tp74)  wreherd SR T d,

[20]

) WATIdeh SATIR FEeAT U ST ? WA Jidl STeiiel WRTfdeh SaTaR

AT THT TIY 1.
) VIl AT gERTETE RO AR TR IUT gaIa.

7p75) i o, (o )
) fopam aaw wrET

q) T
E) IR TCCEICECIE R Ca
T) Hg vt

2
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Total No. of Questions : 5] SEAT No. -

P395 [Total No. of Pages : 8
[4701] - EXT. - 18
F.Y. B.A. (External)
POLITICAL SCIENCE
G-1: Indian Government & Politics

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :-

1)  All questions are compulsory.

2) Figures to the right indicate full marks.
Q1) Attempt any one question of the following. [20]

ad Explain saient features of Indian Constitution.

b) Discussissues of regiona politicsin India

Q2) Attempt any one question of the following. [20]
a  Write structure & functions of Loksabha

b) Explain the changing nature of political partiesin India

Q3) Attempt any one question of the following. [20]

ad Write salient features of Indian Federal System.

b) Write structure & functions of Maharashtra Vidhanasabha

PT.O.



Q4) Attempt any one question of the following. [20]
ad Explain the structure & functions of Election Commission.

b) Discuss the Directive Principles of State Policy in Indian Constitution.

Q5) Attempt any two short notes of the following : [20]
a Issues of Regional Imbalance.
b) Right to Equality.
c¢) Functions of Ministry.

d) Deputy President.

2
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Total No. of Questions : 5]

P395
[4701] - EXT. - 18
F.Y. B.A. (External)
POLITICAL SCIENCE
G-1: Indian Government & Politics
(2013 Pattern)
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Total No. of Questions : 5]

P395
[4701] - EXT. - 18
F.Y. B.A. (External)
POLITICAL SCIENCE
G-1: Modern Indian Political Thought
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :-
1)  All questions carry equal marks.

2) Figures to the right indicate full marks.

Q1) Answer any one of the following : [20]
ad Explain Mahatma Phul€e's views on emancipation of Shudra- Atishudra.

b) Discuss M.G. Ranade's views on Social Reforms.

Q2) Answer any one of thefollowing: [20]
d DiscussLokmanyaTilak'sviewson Nationalism.

b) Explain M.K. Gandhi'sviews on Communa Harmony.

Q3) Answer any one of thefollowing: [20]

a Discuss Dr. B.R. Ambedkar's critique of caste system and ways to
Annihilate the caste system in India

b) Discuss M.N. Roy's critique on Marxism.



Q4) Answer any one of thefollowing :

a)
b)

Discuss V.D. Savarkar's critique of British Rule in India

Explain Abul Kalam Azad's views on Communal Harmony.

Q5) Write notes on (any two) :

a)
b)
C)
d)

Mahatma Gandhi's views on Sarvodaya.
Jyotiba Phul€'s views on emanicipation of women.
V.D. Savarkar's Hindu Nationalism.

Abul Kalam Azad's Interpretation of Islam.

2
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Total No. of Questions : 5]

P395

[4701] - EXT. - 18
F.Y. B.A. (External)
POLITICAL SCIENCE
G-1: Modern Indian Political Thought

(2013 Pattern)
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Total No. of Questions : 5] SEAT No. :

P1260 [Total No. of Pages : 4
[4701] - Ext. - 24
F.Y. B.A.
PSYCHOLOGY (External)

G1: General Psychology (Theory)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.

Q1) a) What is Frustration? Explain the types of conflicts. [20]
OR

b) Whatis conditioning? Give in detail the practical applications of classical
and operant conditioning.

02) a) Explainthe process of thinking and write in detail the types of thinking.[20]
OR

b)  Write in detail the various fields of Psychology.
03) a) Whatis attention? Explain in detail the determinants of attention.  [20]

OR

b) What is Emotion? Explain in detail the basic types emotions.

PTO.



04) a)

b) Explain the Freud’s Psychoanalytical Theory of Personality.

Explain the structure and functions of the human brain.

OR

05) Write short notes in 200-250 words (any 2) :

a)
b)
c)
d)

Trial and Errors method.
Creative Thinking.
Pituitary Gland.

Structuralism.

* K *
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Total No. of Questions : 5]

P1260
[4701] - Ext. - 24

F.Y. B.A. (External)
PSYCHOLOGY

G1: General Psychology (Theory)

(2013 Pattern)
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Total No. of Questions : 5] SEAT No. -
P386 [Total No. of Pages : 3
[4701] Ext - 3
F.Y. B.A. (External)
FRENCH (BEGINNERS)
Text : Nouvel En Echanges - Raddi/Paranjpye
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Q1. Répondez en frangais. (6 au choix) [12]

1) Combien de mois y a- t-il dans un an? (en lettres)
2) Nommez la ville capitale de la France.

3) Comment s’appelle la saison des pluies en Inde ?
4) Combien de jours y a- t-il dans une semaine?

5) Nommez deux vétements d’homme.

6) Nommez deux fruits.

7) Que mangez-vous au petit déjeuner?

Q2. Compréhension. Lisez le passage et répondez aux questions
suivantes.

Le bateau d’Adrien

Le bateau d’Adrien, ¢’est un vieux, un tout vieux bateau. Adrien aime beaucoup son
bateau. le bateau est sur cette petite plage. Les enfants, ils aiment jouer sur ce bateau.

Ils sont ici tous les jours a la plage. lIs ont des aventures. lls imaginent qu’il n’y a pas
de vent. Parfois, ils jouent aux pirates. Quelques enfants essayent de prendre le bateau et
les autres défendent leur trésor. Ce sont des batailles qui durent des heures et des heures.

Iis jouent, ils courent, ils sont trés contents avec leur bateau. Adrien n’est plus la
mais, son bateau part en voyage chaque jour avec ces enfants. {1 est un symbole
d’aventure et de courage pour eux.

1} Dites vrai ou faux : [3]
a) Les enfants aiment jouer sur le bateau d’Adrien
b) Le bateau est un nouveau bateau. ‘
¢) Le bateau est un symbole de courage.
2) Qui est Adrien ? cochez la réponse correcte (1]
a) -Le batcau
b) -Le propriétaire (owner) du bateau
¢) -Un enfant qui joue sur le bateau
3) Donnez le contraire : contents ; arriver, aimer 3]
4) Conjuguez les verbes au futur proche : i3]
I1s jouent, ils courent et ils sont trés contents avec leur bateau.

PT.O.



Q3) Grammaire
A) Conjuguez les verbes au présent [15]

1) Elles (finir) leur devoir.
2) Hélene, elle (boire) le vin trés vite.
3) M. Vincent ne (manger) pas de giteau.
4) Le garcon (8tre) trés intelligent.
5} Vous (écrire) une lettre 3 vos amis.
6) Marie ne (comprendre) pas 1’espagnol.
7)1t (lire) le journal avec attention.
8) Elle (regarder) la Tour Eiffel.
9) lls (venir) de Portugal.
10) Sylvie (avoir) un cours d'espagnol.
11) Elle est malade, elle ne (aller) pas a I’école.
12) (parler) —ils I’anglais?
13} Isabelle (choisir) un cadeau pour son ami.
14) Tu (vouloir) acheter une robe pour ton amie ?
15) Les feuilles (verdir) au printemps.

B) Mettez les prépositions. 3)
1) Le petit gargon cache ___ la table.
1) Itudiante est ____ ses deux camarades de classe.
2) Lescléssont__ e sac.

C) Récrivez les phrases avec le contraire du mot souli gné. 2)

1} La salle de classe est grande
2) Le professeur est devant les étudiants.
D) Mettez au négatif : ' 3)
1) le chat boit le lait.
2) 11y a un tableau vert dans la classe.
3) C’est un nouveau sac.
E) Mettez au pluriel : : (4)
1) Je peux chanter la chanson anglaise.
2) L'ordinateur est sur la table.
F) Mettez au féminin. 4)
1) Mon pere est un homme intelligent et beau.
2) Le jeune Indien est actif,

G) Mettez un adjectif possessif convenable : 2)
1) Tu écris une lettre a cousins.
2) Elle téléphone & pére.

H) Mettez les phrases en ordre. 3)
1) fille /ma /de / la / cousine/ est/ tante/ ma
2) n’/ pas/ est/ stylo/ mon /ce
2) été / le/ gris/ en/ ciel/est/ n’ / pas

I) Complétez avec les articles contractés (au,ala, du, de la, etc) 2)
1} Nous allons restaurant.
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2) Donne les fleurs _ parents!
J) Trouvez 'intrus. 3)

1. chaussures/ cheval/ chaussettes/ chemises

2.Livre/ stylo/ cahier/ guitare/ gomme

3. vingt-deux, vingt-quatre, vingt-cing, vingt-six.

K) Récrivez selon les indications : (N

1) quelle heure est-il ? 12.55pm
2) c’est lundi, demain ¢’est mardi{Aujourd’hui/ hier).
3) Vous (prendre) vos cahiers et vos livres. (Mettez a I'Impératif)
4) Marie aime horloge ronde. (ce/cette/ cet/ ces)
5) c'estun livie ___ mon ami. (mettez l'article contracté).
6) Ma meére est la de mon pére (grand’mére, tante, cousine, femme)
7) Les chaussures? sont noires. (Mettez les pronoms sujets)

L) Reliez les colonnes. (5
1. A bientét a) you go to bed
2. A mardi b) you greet someone in the evening
3. Au revoir c) you want to take leave
4. Bonsoir d) you want to meet someone on a day
5. Bonne nuit €) you are going to meet someone soon
Q4) Traduisez en anglais. (10}

J'ai une grande maison rouge. 11 y a huit chambres- un salon , trois chambres 4
coucher, deux salles de bain , une cuisine et une salle 3 manger. Dans le salon,
il y a deux fauteuils , un grand tableau, une télé et une lampe. Ma chambre est
confortable avec un lit, un placard , une table et un tapis . [l y a un jardin autour
de ma maison avec des arbres, des fleurs de toutes les couleurs. 11 y & un parc
prés de ma maison, mais ma maison n'a pas de garage. J'aime beaucoup ma
maison.

QS5) Ecrivez une composition sur (15)

Mes amis OU Ma famille QU Les Saisons

363636
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Total No. of Questions: 6] SEAT No. -

P 405 [Total No. of Pages: 3
[4701] - Ext. - 31
F.Y. B.A. (External)
OPTIONAL ENGLISH
Interface (English Literature& Language)
(2013 Pattern) (General English Paper - )
Time: 3Hoursg| [Max. Marks: 100
I nstructions to the candidates: -
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Answer the following questionsin about 80 words each (Any Three) :  [15]

a)
b)

c)

d)
€)

Q2) 8

Comment on the aptness of the title "Toasted English'.

On what basis was Kalam's father elected president of the Panchayat
board?

Write a note on the character sketch of Harvey Maxwell.
Explain the theme of the story - 'The Romance of a Busy Broker".
Explain the theme of the story - 'A Day'sWait'.

Answer thefollowing questionsin about 80 wordseach (Any Three) :[15]
)  Examine'Sonnet 29' as a celebration of love.

i)  Explain the central idea of the poem - "The World is Too Much
With Us.

i)  How doesWalter DelLaMare dea with theelement of magicrealism
In his poem?

IvV) Do you agree with 'James Kirkup's view - 'No Men are strange, no
countriesareforeign'? Explain.

v)  What message doesWilliam Wordsworth convey through his poem
- 'The World is too much with Us?

P.T.O.



b)  Write short notes on the following (Any Two) : [10]
)  Languageis species specific.
i) Informativefunction of language.
i) Language: A system of symbols.
Iv)  Phatic function of language.

Q3) Answer the following questionsin about 120 words each (Any Two) :  [16]
a Write anote on the character sketch of Nnaemeka
b) Comment onthetitle of the story - ‘MarriageisaPrivate Affair'.
c) How doesManohar Malgaonkar Mock film - crazy youth?
d) Examine'Upper Division Love' asashort story.

Q4) Answer the following questionsin about 120 words each (Any Two) :  [16]
ad How doesRobert Frost deal with the difficulty of choicesin human-life?
b) Examine- 'The Sun Rising' asanemotional lyric.

c) Write anote on the central theme of the poem - "'The Mountain and the
Squirrdl'.

d) How does Langston Hughes bring out a bigger social evil through an
ordinary everyday situation in the poem - ‘Ballad of the Landlord'.

Q5) Answer the following questionsin about 120 words each (Any Two) :  [16]
a) Attempt the character sketch of stranger in - 'Lithuania.
b) Explainthe major themeof theplay ' Lithuania.
c) Comment on Svietlovidoff'srole in the play - 'Swansong'.

d) How does Anton Chekhov treat the themes of old age and death in his
play - 'Swansong'?

Q6) @ Writeanotein about 50 words (Any One) : [4]

1)  Morphology : A Branch of Linguistics.
i)  The concept of Semantics.
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b) i) Identify thenumber of phonemesinthefollowingwords(Any Two)

[2]

A) Care B) Cut
C) Bright
i)  ldentify the structure of following wordsin termsof CandV (Any
Three) : [3]
A) Look B) Night
C) ddl D) Sight
E) Serve
i) ldentify the vowelsin thefollowing words (Any Three) : [3]
A) Bear B) Bud
C) Might D) Get
E) Dream.
+4+ 4+
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Total No. of Questions: 5] SEAT No. -
P406

Time: 3Hoursg]

[Total No. of Pages: 7

[4701] Ext. - 36
F.Y. B.A. (External)
STATISTICAL PRE-REQUISITES

(2013 Pattern)
[Max. Marks: 100

I nstructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

Use of statistical tables and calculator is allowed.
Symbolshavetheir usual meaning.

Graph paper will be supplied on request.

1)
2)
3)
4)
5)

Q1) Attempt each of thefollowing:

a)

b)

State whether each of thefollowing statement istrueor false:  [1 each]

)  The standard deviation is measured in the same units as the
observationsin the data set.

i) If all ultimate class frequencies are non-negative then data are
Inconsistent.

i)  For symmetric distributions al the even order central moments are
zero.

Iv) Kurtosisisthe peakedness of the curve of the distribution.

v)  Thefrequency distribution hasthe advantage of representing datain
compressed form.

Choose correct alternativein thefollowing: [1 each]

1)  TheKarl Pearson’s coefficient of correlation between X and Y is

A) independent of change of origin
B) independent of change of scale
C) both (A) and (B)

D) none of the above

P.T.O.



i) If each of the observation in aseriesisdivided by 5 then the mean
of the new data set is:

A) unchanged
B) half of theold mean
C) decreased by 5
D) theold meanisfivetimesthe new mean
i) Index number measurethe average:
A) Redativechanges
B) Absolute changes
C) Percentageincrease
D) Proportionate changes
IV) A measure of dispersion which isindependent of unitsis:
A) range
B) meandeviation
C) coefficient of variation
D) standard deviation
v)  Withthehelp of histogram one can determine:

A) median B) mode
C) deciles D) percentiles
c) Answerinbrief: [2 each]

)  Stateany two demerits of arithmetic mean.

ii)  Defineratio scalewith oneillustration.

i) Find the harmonic mean of 5, 10, 17, 0, and 256.
Iv) Define Bowley’s coefficient of skewness.

v) State any two differences between correlation and regression.
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Q2) Attempt any four of thefollowing : [4 x 5=20]
ad Explainthevarious uses of index numbers.
b) Thefollowing table givesdaily profit (in hundreds of Rs.) of 195 shops

inatown.

Profit (in’00 Rs.) Number of shops
50-60 15
60-70 20
70-80 32
80-90 35

90-100 33
100-110 22
110-120 20
120-130 10
130-140 03

Draw less than cumulative frequency curve and hence determine 50"
percentilegraphically.

c) Obtain 6™ decilefrom the following frequency distribution:

Monthly salary (00 Rs.) Frequency
14-16 12
16-18 30
18-20 55
20-22 40
22-24 35
24-26 28

d) Explainraw dataand describe its various types.

e) Explain the concept of association of attributes.
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f)

Information about the daily salaries of employeesin firms A and B is
stated below:

No. of employees| Meansdary | S.D. of salary
FirmA 60 400 10
FirmB 40 500 1n
Determine
i)  Whichfirmhassmaller variationin salary?
i) Find the combined mean of two firms.
Q3) Attempt any four of thefollowing : [4 x 5=20]

a)

f)

The frequency distribution of thirty books on a shelf according to their
number of pagesisasfollows:

No. of pages | 100-200| 200-300 | 300-400 | 400-500 | 500-600

No. of books 3 8 6 8 5

Compute quartile deviation.

Write a note on Spearman’s rank correlation coefficient.

Explain the concept of error in regression.

Describe various problems in the construction of index numbers.

From the information given below, compare the skewness of the two
groups using suitable measure of skewness.

Group | | Group 11
Median 22 25
AM. 24 22
S.D. 10 12

Calculate price index numbers for the following data for the year 2010

taking 2008 as base year using thefollowing formulae

i) Laspeyre's
i) Paasche's and

i) Fisher's
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Commodity Base year (2008) | Current year (2010)
Price | Quantity | Price | Quantity
A 4 6 5 4
B 5 4 6 2
C 6 2 8 1
Q4) Attempt any two of thefollowing : [2 x 10 = 20]

a)

b)

d)

Compuite coefficient of variation for thefollowing data:

Marks 0-20

20-40

40-60 | 60-80 | 80-100

No. of students 5

12

32 40 n

i)  Thefollowingisthedistribution of theincome (in’ 00 Rs.) of number
of workersisgiven below.

Income 0-10

10-20

20-30| 30-40 | 40-50

60-70

No. of workers| 500

2100

2200 | 2000 | 1600

Determine the modal income (in”00 Rs.).

i)

Write a note on skewness of frequency distribution.

[5]
[5]

The following are the weights X (in kgs.) and the heightsY (in cms.) of

seven students:
Weight (X) 69 | 64 | 68 63 68 64 59
Height (Y) 163 | 163 |175 | 176 | 157 | 190 | 180

Compute Karl Pearson’s coefficient of correlation between height and
weight. Also, comment on your result.

i)  Thefollowing datarelate to the sales of 100 companies:

Sales(inlakhs) Number of companies
58-60 12
60-62 18
62-64 25
64-66 30
66-68 10
68-70 03
70-72 02

Determine geometric

[4701] Ext. - 36
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i)  Staterelations between central moments and raw moments up to 4™

order. [4]
Q5) Attempt any one of thefollowing : [1 x 20 = 20]
a 1) Explainthevarious methods of sampling. [10]

i)  Deflate (real income) the following series of income by taking into
account cost of living index number. Also, comment on your findings.

[5]

Year Income Cost of living
(Rs. per capita) Index number
2004 320 100
2005 360 120
2006 360 125
2007 390 150
2008 420 180
2009 470 200
i)  Explain the least square method of fitting the second degree curve
of thetype, Y = a + bX + cX2. [9]
b) 1) Fit a second degree parabola to the following data taking Y as
dependent variable
X 1Y
1 2
2 6
3 7
4 8
5 | 1
Hence, estimate Y for X = 6. [10]
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i)  Compute mean deviation about mean for thefollowing data:  [5]

Profit (Rs. crores) | Number of companies
10-20 08
20-30 12
30-40 20
40-50 06
50-60 04
i) Explainthe method of base shifting. State the situations under which
base shifting isessential. [5]
+4+ 4+
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Total No. of Questions: 5] SEAT No. -

P 409 [Total No. of Pages: 4

[4701] - Ext. - 39
F.Y. B.A. (External)
MATHEMATICS

FMG-1:Industrial Mathematics

(2013 Pattern)

Time: 3Hoursg| [Max. Marks: 100

I nstructions to the candidates: -
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Useof calculator isallowed.

Q1) Attempt each of thefollowing: [20]
d Draw asketch of the quadratic functiony = =2 + 4x + 1.
G G ¢
b) Evauate L'_Tom ]&_ -5 6 1]

c) Find the derivative of y = (7x +9)3 WAth respect to x.
d) Find the average function for the totaflunction TC = 3Q% + 7Q + 12.
e) Definethepriceelasticity € of dem

f)  FndAB, given and

g) Giveanexampleeach of anidentity matrix and anull matrix.
h) Statethe extreme point theorem.

i)  Determinethefollowingintegral

j)  Stateany two rulesof integration.

P.T.O.



Q2) Attempt any four of thefollowing : [20]

a  Sketch the graph of the equation 3y + 15x = 30. Also compute the slope
and intercepts.

b)  Show that the function

fx) = !

= x=3

IS continuous at x = 3.

c) Find for the equation 2x® + 5xy + 6y? = 87.

d) For the function f(x) = 3x® — 36x* + 135x — 13,
)  Findthecritical valuesand

i)  Testwhether at thecritical valuesthefunctionisat arelativemaximum
or minimum.

e) Define the terms marginal cost and marginal revenue. Also prove that
Marginal Cost (MC) must equal Marginal Revenue éM R) at the profit-

maximizing level of output. %:_5%)&{1(%4“ h(¥)-g'(x)
f)  Test whether the functiony = — _+93x2 + Ox —?5 IS concave or convex
a
) x=-3 i) x=3.
Q3) Attempt any two of thefollowing : [20]
a Given f(X) = g(X) . h(x) where and both exist, prove that

. Also compute the second-order
derivative of f(x) = (x*—3) (x*—2) at x = 2.
b) 1) Findthemarginal revenue (MR) for thefollowing demand function
and evaluate it at Q =4 and Q = 10, where Q = 36 — 2P,

i)  Findthemarginal cost (MC) function for thefollowing average cost
function:
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c)

Faced with two demand functions Q, = 24 — 0.2P,, Q, = 10 — 0.05P,
where TC = 35 + 40Q, what price will the firm charge without
discrimination?

Q4) Attempt any four of thefollowing : [20]
a Compute(AB)C, giventhat : and
b) State true or false : Matrix multiplication is commutative. Justify your

answetr.

Evauate

Given MC=dc;lr—QC:12e°'5Q and fixed cost, FC = 36: Find the total cost

and the average cost.

Definetheterms: afeasibleregion and adack variable.
Solvethefollowing linear prog E blem.
Maximize =40y, + 30y, 3 8

Subjectto 5y, + 2y, < 30
2y, +4y, 28

Y
Y.y, O.

Q5) Attempt any two of thefollowing : [20]

a)

Solvethefollowing linear system, using the Gaussian elimination method :
6x, + 2X, + 59X, = 73

X, =3, + X, =-1

4x, + 8, — 9x, = 9.
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b) A hedth enthusiast wishes to have a minimum of 36 units of vitamin A
each day, 28 units of vitamin C, and 32 units of vitamin D. Brand 1 costs
$ 3 and supplies 2 units of vitamin A, 2 units of vitamin C and 8 units of
vitamin D. Brand 2 costs $4 and supplies 3 units of vitaminA, 2 units of
vitamin C and 2 unitsof vitamin D. Intermsof equationsand inequalities,
what istheleast cost combination guaranteeing daily requirements?

c) 1) Therateof netinvestmentsis , and capital stock att=0is
75. Find the capital function k.

ds -
ii)  The margina propensity to save is given by WZO'S_O'ZY %.

Thereisdissaving of 3.5whenincomeis 25, that is, S=-3.5when
Y = 25. Find the savings function.

+4+++

| =40t
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F.Y. B.A. (External)
MATHEMATICAL STATISTICS

Discrete Probability and Discr ete Probability Distributions

(2013 Pattern)

Time: 3Hoursg| [Max. Marks: 100

I nstructions to the candidates: -
1) All questions are compulsory.
2) Figuresto the right indicate full marks.
3) Useof calculator and statistical tablesis allowed.
4)  Symbolshavetheir usual meanings.
Q1) Attempt each of thefollowing:
a Statetrueor falseof thefollowing: [G5x 1=5
1)  The probability of sure event is one.
i)  Mutually exclusive eventsare not independent events.
i) If A and B areindependent eventsthen P(A N B) = P(A) * P(B).
iv) If P(A)=0.6 and P(B)=0.3then P(A) P(B).
v)  Third central moment of asymmetric distribution is not zero.

b) Choose correct alternative of thefollowing: [G5x 1=5
1)  Theprobability of animpossible event is
A) zero B) one
C) two D) infinity

i) The value of a discrete random variable (r.v.) with maximum
probability isknown as

A) mode B) median
C) mean D) variance
i)  The Covariance between two independent discreter.v.s. is
A) zero B) ten
C) negative D) notexist

P.T.O.



Iv) If A and B are two independent events of Q with P(A) = 0.4 and
P(B) =0.7then P(A B)is
A) 011 B) 0.82
C) 05 D) 1

v) If X followsbinomial distribution with parametersn=8andp=0.7
thenmeanof X is

A) 6 B) 3
C) 8 D) 56
c) Answerinbrief of thefollowing: [5x 2=10]

)  Statelimitationsof classical definition of probability.

i)  Define pairwiseindependence of three events.

i) 1If X isPoisson r.v. with P(X=2) = P(X = 1) then compute P(X 1).

IV)  Write the sample space for experiment of throwing of two fair dice
at atime.

v) Stateany two redl life examplesof uniform distribution.

Q2) Attempt any four of thefollowing: [4 x 5=20]
a Stateany five propertiesof cumulative probability distribution.
b) Adiscreter.v. X has probability distribution as below:

X 1 2 3 4 5
PIX=x] | K | 2K | 3K g 4K | 5K
Find:

i)  Thevaueof K.
i)  Thedistribution function of X.
i)  Medianof X.

c) A box contains 8 bulbs of which 5 are good bulbs. A random sample of
4 bulbsissalected from thisbox without replacement. Find the probability
of getting at most two good bulbs in a selected sample.

d) LetX beadiscreter.v. with probability distribution as given below :

X -1 0 1 2
PIX=x] | 03 | 035 | 0.25 | 0.1
Compute:

1)  Themean of X.
i)  Thevariance of X.

e)  Show that all cumulantsof Poisson distribution are equal . Hence comment
on the nature of Poisson distribution.
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f)  With usual notations, prove that:
E (aX + bY) = aE(X) + bE(Y); where a and b are constants.

Q3) Attempt any four of thefollowing: [4 x 5=20]

d  What do you understand by deterministic and non-deterministic models.

b) State and prove additive property of cumulant generating function (cgf)
of adiscreter.v.

c) A committeeisto beformed by selecting four persons randomly from 5
Engineers, 4 Doctors and 3 Lawyers. Find the probability of forming a
committee which contains at least one Lawyer.

d) Obtain the distribution function of geometric r.v. with parameter ‘p’.

€) Thejoint probability distribution of (X, Y) isgiven below:

\ 1 2
X
-1 1018 | 042
0 012 | 0.28

Compute E(X +Y), Verify E(X +Y) = E(X) + E(Y).

f)  Obtain the mean and variance of binomial distribution with parametersn
and p.

Q4) Attempt any two of thefollowing : E(Afﬁ&) [2 x 10 = 20]
ad Definepartition of asample space. Also, state and prove Bayes theorem.
b) Let(X,Y) bebivariate discreter.v. with joint probability distribution as

below:
\ -1 0 1
X
1 0.1 k 3k
2 2k K 2k
3 0.1 2k 3k

Compute :

i) Thevalueof k.

i) PX+Y<2).

i P(X/Y=y), V.
c) i) LetA andB betwo events of Q such that P(A) = 0.3, P(B) = 0.5
and P(A  B) = 0.2 then compute and
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i)  Obtaintherecurrencerelation for successive probabilitiesof binomial
distribution. Also, state its uses.

d) Show that thebinomial distribution isapproximated from hypergeometric
distribution, state your assumptionsif any.

Q5) Attempt any one of the following : [1 x 20 = 20]
a 1)  Withusual notations, show that:

Var(aX + bY) = a?Var(X) + b?Var(Y) + 2ab Cov(X,Y). [8]

i) A fair coin is tossed two times. Discuss the independence of

following threeevents: [7]

A: atail occurson 1% toss,
B: atail occurs on 2™ toss,
C: same face on both tosses.

i)  Obtain the mean of hyper geometric distribution with parametersn,
M and N. [5]

b) 1) If XandY aretwoindependent poisson discreter.v.s. with parameters
m, and m, respectively. Obtain the conditional probability
distribution of Y given X +Y = n, where n be any non negative
integer. B(BFA [8]

i) Let Q={w, w, w, w, w, w} with P(w,) = 0.18, P(w,) = 0.22,
P(w,) = 0.25, P(w,) = 0.15, P(W,) = 0.12, P(W,) = 0.08. Let
A ={w, w,, w} and B ={w,, w,}. Compute P(A B), P(A B°),

and . [8]

i)  Define the conditional mean and conditional variance of bivariate

discrete r.v.s. [4]
+4+ 4+
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| nstructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Useof statistical tables and calculator is allowed.
4)  Symbolshavetheir usual meanings.
Q1) Attempt thefollowing:
a State whether following statementsare True or False. [1 Each]
1)  In case of grouped frequency distribution with open end classes

b)

mean can be computed.

i)  The mode can be determined graphically.

iif)  Central moments (m ) are independent of change of origin.

Iv) Karl Pearson's coefficient of skewnessis always lies between O to
1. (bothinclusive).

v) Thesetof classfrequencieswhich can determineall remaining class
frequenciesis called afundamental set.

Choose the correct alternative : [1 Each]

) IfY=a+bXisthelineof regresson of Y on X then the constant 'b'is
A) Cov(X,Y) B) Cov(X,Y)/Var(Y)
C) Cov(X,Y)/Va(X) D) Cov(X,Y)/SD(X)

i) If measure of skewness, y, < 0 then the distribution is
A) Positively skewed B) Platy kurtic
C) Symmetric D) Negatively skewed

i)  Rangeis measure of

A) Central tendency B) Dispersion
C) Skewness D) Kurtosis

P.T.O.



IvV) For simple linear regression model Y =a+ bX + ¢, with E[e] =0
and Var[e] = 1,
A) E[Y]=¢ B) E[Y]=E[bX]+e
C) E[Y]=a+ bE[X] D) E[Y] = E[a] + E[bX] + E[€]
v) ThelIndex number for base year is consider as
A) O B) 100
C) S0 D) 100%
Answerinbrief : [2 Each]
i)  Definetheterm Simplerandom Sampling.
i)  Define Laspeyre's priceindex number.

i)  Definer™order raw moment (n) for grouped frequency distribution.

Iv)  Define Harmonic mean.
v) DefineYule's coefficient of association.

Q2) Attempt any four of thefollowing : [4 x 5=20]

a)

b)

f)

For the following data prepare stem and leaf chart :
110, 105, 111, 107, 118, 107, 112, 103, 108, 110,
113, 115, 114, 121,112, 118, 102, 117, 100, 113.
Define:
)  Variance
i)  Bowley's coefficient of KB =39
Explain the method to determine the median graphically using suitable
illustration.
Write a note on skewness and kurtosis.

Isthefollowing information consi stent? and , Justify
your answer.
Explaintheterms: 'Deflating’ and 'purchasing power of money'.

Q3) Attempt any four of thefollowing : [4 x 5=20]

a)

b)

Explain concept of correlation between two variables. Further explain
the use of scatter diagram in the study of correlation.

Given thefollowing information in case of two attributes :

N = 2500, (A) = 410, (AB) = 80, (B) = 650

Compute the coefficient of association between two attributes and
comment onit.
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d)

f)

correlation.
Find the mode of the following distribution.
Mid-Values | 1500 | 2500 | 3500 | 4500 | 5500 | 6500 | 7500
Frequency 25 32 66 85 58 35 5
Q4) Attempt any two of thefollowing : [2 x 10 = 20]

a A survey conducted to determine the distance travelled (in Kms.) per

b)

d)

Compute Fisher's price index numbers for the following data:

Commodity Base Year Current Year
p, (inRs) | g,(inkg.) P,(inRs) | g,(inkg.)
A 12 30 10 50
B 13 50 12 80
C 15 60 16 70

Define Geometric mean. State itstwo merits and demerits.

Define Karl Pearson'scoefficient of correlation and Spearman's coefficient
of correlation. State any two properties of Karl Pearson's coefficient of

liter of petrol by anewly introduced two wheeler.

Distance
(inkms)

40 - 45

45 - 50

50 - 55

55-60

60 - 65

No. of two
Wheders

13

12

25

35

15

Compute mean deviation about median for the above frequency

distribution.

Calculate the Spearman's rank correlation coefficient for the following

data:

Marksin
Algebra(X)

75

32

33

40 | 45

33

12 |1 33|30

12

Marksin
Arithmetic (Y)

60

34

40

0 | 45

40

22 | 43 | 42

66

The mean soil temperature (X) and number of days (Y) required for

germination for winter wheat at 10 placesare given below :

(X)

S/

42

38

42 | 45

42

44 |1 40 | 46

44

(Y)

10

26

41

29 | 27

27

19 | 18 | 19

31

Fit aline of regression of theformY = a + bX to the above data.
If the attributes A and B are independent, then show that

i)
i)
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Q5) Attempt any one of thefollowing: [1 x 20 = 20]
a 1) Explantheterms: populationand samplewithillustration.

i)  Define Arithmetic mean (AM), Median and Mode. State one real
life situation for AM, Median and Mode.

i)  Define Index Numbers. Explain the term splicing used in Index
Numbers.

IV)  Reconstruct the following index numbers series with the base year
2005.

Year 2001/2002|2003|2004 | 2005|2006{2007/2008/2009

| ndex 100 | 114 | 118 | 121 | 125|132 | 137 | 139 | 142
numbers
Series
(2001 = 100)

b) 1) Definetheterms'Attributes and 'Variabl€'. Further explaintheterms
Nominal scale and ordinal scale.

i)  Explain the concept of coefficient of determination used in linear
regression model.

i)  Explain the terms primary data and secondary data with suitable
illustration.

Iv) From the following data construct the index number for the year
2010taking 1999 as base by using simple average of pricerelatives.

ltem Price (Rs.) in 1999 | Price (Rs.) in 2010
A 7 10
B 5 8
C 10 12
D 15
E 9 1
+ 44+
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I nstructions to the candidates: -
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Symbolsand abbreviations have usual meanings.
4) Use of calculator and statistical table is allowed.
5) Graph paper will be provided on request.

Q1) Attempt each of thefollowing:

a Statewhether thefollowing statementsaretrue or false: [1 each]
1)  Both the regression coefficients should not be greater than unity.
i)  Karl Pearson’s correlation coefficient islies between O and 1.
i)  Mean deviation about its median isalways minimum.
IvV)  First central moment is equal to mean.
V) Index numbers are called as economic parameter.

b) Choosethe correct alternative: [1 each]
1)  Which of the following is not good measure of central tendency

A) Mean B) Median

C) Mode D) Standarddeviation
i)  Varianceisamean squared deviation about its

A) Mean B) Mode

C) Median D) Zero
i)  Box plot helpsto judge the

A) Centra vaue B) Spread

C) Symmetry D) Correlation.
iv) If Corr( X,Y) =0.8then Corr( X+3, Y=-3) is:

A) 0.8 B) 0.16

C) 0.10 D) 09

P.T.O.



v)  If the population isheterogeneousthen better method of samplingis:

A) SRS B) Stratified random sampling
C) Systematicsampling D) two stage sampling.
c) Answerinbrief: [2 each]
) Giveno, =1, o, =3and Corr(X, Y) = 0.8 obtain Var( 2X —3Y).
i) If AM. and GM of two observations are 5 and 2.5 respectively.
Find their Harmonic mean.
i) For two attributes A and B if N = 200, (A) = 40, (aB) = 40,
(B) = 150 verify whether the attributes A and B are independent.
iv) Calculate A.M. for agroup of 10 observationsif > (xi—2)=8.
v) Defineattributeand variable.
Q2) Attempt any four of thefollowing : [4 x 5=20]
a Forasymmetrical distribution, with usual notations, show that
b)  With usual notations, show that for any distribution S.D. > M.D. about
mean.
c) Write ashort note on scatter diagram.
d) Definevariancein case of ungrgLnJ;ped data. Explaln the effect of change
of origin and scale oniit. =2| (m,+(n)’
e) Caculatemeanand5%ftri mméd l%ean for the weights of 20 studentsin
kgsaregiven below:
50, 28, 32, 42, 26, 40, 31, 38, 51, 48,
33, 45, 36, 40, 29, 43, 48, 52, 60, 30.
f)  Findquartiledeviation for thefollowing data:
Age 10-12 | 12-14 | 14-16 | 16-18 | 18-20
Students| 5 22 40 30 3
Q3) Attempt any four of thefollowing : [4 x 5=20]
ad DefineKarl Pearson’scoefficient of correlation (r) andshow-1 r +1.
b) What is measures of central tendency? What are its characteristics of

[4701] -
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c) Find Spearman rank correlation coefficient for the following marks
distribution of studentsin two subjects:

Marksin Statistics 77 75 46 80 50 65

Marksin Mathematics 57 80 60 65 70 63

d) Withusual notationsshow that 3, 1.
e) Construct box plot for the following data:
120, 200, 80, 110, 250, 100, 50.
f)  Weighted A.M. of thefollowing frequency distributionis5, find thevauex.

Variable(Xi) 2 4 6 8
Weight (Wi) X—1] x+1|x+1|2x-5
Q4) Attempt any two of thefollowing : [2 x 10 = 20]
ad 1) Giventhetwo linesof regression areas.

i)

10X +3Y +66=0
X-=2Y+24=0
Obtain: )
1) Corr (X, Y)
Define Yul€e's coefficient of association (Q), with usual notations
showtha-1 Q +1

b) Givennpairsof observations (& )i =1,2, ..... n, explain the procedure
of fitting of simple linear model of the typeY = a + bX + ¢, with
E(e) = 0, V(¢) = o2 estimate the parameters ‘a’ and ‘b’ by method of
least square.

c) What isindex number? What are the problems in the construction of
index numbers?

d) Define rank correlation. Obtain the derivation of Spearman’s rank
correlation in case of without ties for n pairs of observations.

Q5) Attempt any one of thefollowing: [1 x 20 = 20]

For a frequency distribution, Bowley’s coefficient of skewnessis
0.6. Thesum of first and third quartilesis 100 and the median is 38.

Find the two quartiles. [7]
Given n pairs of observations(xi, yi) i = 1, 2, ...... n, explain the
procedure of fitting of second degree curve of the type
Y =a+ bx + cx?, by least square method. [7]
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i)  Calculate Fisher’spriceindex number for thefollowing information:

[6]

2p,q,=1660 Xp,q,=10/0 Zp,q,=2070 ZXp, q, = 1340.

b) 1) SupposeX,Y andZ areuncorrelated variableswith same S.D. (o).
Obtain the correlation coefficient between( X +Y )and (Y + Z).

[7]

i)  Splicetogether thefollowing series of index numbers by continuing

) theseriesA forward and

I1) the series B backward.

i) Giventhefollowing information on price of acommodity:

Mumbai Pune
Averageprice 65 67
S.D. of price 25 35

Year 1| 2| 3| 4| 5 | 6|7
SeriesA [ 210 | 225 | 250 | 300 | - | - | -
SeriesB | -~ | -~ | -~ | 100 | 115 | 150 | 175

[7]

And r = 0.8. Find most likely price in Mumbal corresponding to
price of Rs.75in Pune. Also state which city had more stable prices?

Why?

[4701] - Ext. - 48

S+

[6]



Total No. of Questions : 5] SEAT No.

P880 [Total No. of Pages : 8
[4701]-Ext.-5
F.Y.B.A. (External)
GERMAN
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Time: 3 Hours Total Marks: 100
Note: All questions are compulsory. Use of dictionary is not allowed.

Frage L. Ubersetzen Sie! [15]
(A) Ubersetzen Sie ins Englische! (10)
A: Hallo! Wartest du schon lange hier?
B: Na ja, schon eine Stunde.
A: Schon eine Stunde?
B: Ja. Mein Bus kommt nicht und mein Regenschirm ist kaputt. Mein Handy
funktioniert auch nicht.
A: Kein Problem. Mein Regenschirm ist groB. Und du kannst mein Handy benutzen.
B: Danke schon, das ist sehr nett!

Sandra Lorentia ist 1976 in Italien geboren. Sie lebt seit 12 Jahren in Deutschland und
ihre Staatsangehorigkeit ist deutsch. Sie wohnt in Munchen und arbeitet bei Trans-Fair.
Sie wohnt mit ihrem Ehemann zusammen. Sie haben eine Tochter und zwei Sohne. Thr
Ehemann ist Lehrer von Beruf. Er unterrichtet Chemie und Biologie.

(B) Ubersetzen Sie ins Deutsche! (Nur 5) (05)

Gabriele can speak Japanese and Russian.

We have already read the book.

Do you have a dishwasher?

She is driving along the river.

Lhi e BB ER

1 am buying vegetables and fruits.
6. Will you call Mrs. Hoffmann tomorrow?
Frage IL [20]
(A) Beantworten Sie die folgenden Fragen! (Nur 5) (10)
i. Was machen Sie in der Freizeit?
2. Wie feiert man Karneval in Deutschland?
Was sind Ihre Eltern von Beruf? Wo wohnen Ihre Eltern?

[¥5]
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4. Was haben Sie heute Morgen gemacht?
5. Sie machten eine Suppe kochen. Was brauchen Sie?
6. Was ist Thre Muttersprache? Welche Sprachen konnen Sie?
7. Was alles gibt es in Threm Wohnzimmer?

(B) Schreiben Sie! (05)
Sie haben im Januar eine Indienreise gemacht. Schreiben Sie eine E-Mail an Thren
Freund/Ihre Freundin und beschreiben Sie Ihre Reise!

(C)Schreiben Sie einen Dialog! (05)
1. Sie mochten mit Ihrem Freund ins Kino gehen. Rufen Sie ihren Freund an!
ODER

2. Sie miissen dringend nach Berlin fahren. Sie kénnen Threm Sohn von der Schule nicht
abholen. Rufen Sie Thre Frau ani

Frage III. Grammatik [35)
(A)Ergiinzen Sie die richtigen Personalpronomen! (05)
1. Ich brauche einen Hammer. Ich finde  nicht.
2. Das Abendkleid gefallt Ich trage __ heute Abend.
3. Die Schreibmaschine ist schon. Frau Fischer kauft
4. Ist das mein Autoschliissel? Ich habe ___gesucht.
(B)Ergiinzen Sie die richtigen Possessivpronomen! (05)
1. Der Lehrer fragt  Studenten. Aber die Studenten antworten _ Lehrer
nicht.
2. Besuchtihr __FEitern regelmiBig, Jonas und Sabeth?
3. Ichhabe das Bad geputzt. Jetzt mussich  Zimmer aufriumen.
4 Wannist _ Geburtstag, Richard?
(C)Ergiinzen Sie die richtigen bestimmten/unbestimmten A rtikel! (05)
I Der Tourist fotografiert _ Schlange.
2. Rita geht jetzt ins College. Sie braucht Handy.
3. Meine Lehrerin schenkt _ Pfarrer von unserem Dorf __ Handschuh.
4. Wirhaben __ Bild schon verkauft.
(D)Schreiben Sie das richtige Modalverb! (05)

1. Wir nicht mehr tanzen. Wir einen Tee trinken.
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2
3.
4.

Die Katze wirklich sehr hoch springen.
Ich zu Hause bleiben. Meine Mutter ist krank.

ich zuerst die Brille putzen oder die Schuhe?

(E) Formulieren Sie die Siitze ins Imperativ um!

L

i

e

5
(F)B

W -

5.
(G)B

N A

Setzt du bitte die Puppe auf das Sofa?
Stellst du bitte die Biicher in das Regal?

Konnt ihr bitte am Samstag kommen?

Konnen Sie bitte morgen um 11 Uhr anrufen?

. Nimmst du bitte die Vase?

ilden Sie das Perfekt!

Wirft das Kind den Ball?

Der Mann streicht die Wand an.

Er fahrt am Freitag nach Mumbai.

Jeden Montag kocht die Mutter eine Suppe.

Die Frau traumt vom einem Krokodil.
ilden Sie Fragen!

Ich lade meine Freunde zum Geburtstag ein.
Der Zug féhrt um 10 Uhr 20.

Seit 3 Jahren lerne ich Deutsch.

Ich finde das Haus schon.

Der Mann hilft dem Kind.

Frage IV. Wortschatz

(A) Was passt nicht?

1
2
3.
4

5.

. trinken: den Kaffee — den Saft — die Tomaten — das Mineralwasser
_ schreiben: einen Zettel — eine Nachricht — eine Pizza — einen Brief

buchen: einen Flug — eine Unterkunft - ein Formular - eine Ubernachtung

. aufraumen: die Kuche — das Zimmer — den Schreibtisch — das Fest

scheuBllich — schlecht - toll - nicht gut

(B)Schreiben Sie das richtige Wort!

1.

2

PN

Ich heiBe Stefan Zweig. Stefan ist mein

Eins, zwei, drei, vier usw. sind
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3. Thre Staatsangehorigkeit ist tirkisch. Sie kommt aus
4. Neu Delhi ist die von Indien.

5. Im kann man schwimmen.

(C)Schreiben Sie mindestens 4 Waorter pro Thema! (10)
1. Hobby 2. Mobel 3. Camping 4. Familie 5. Essen

Frage V. Lesen Sie den Text und beantworten Sie die folgenden Fragen! [10]

Frither war alles ganz anders. Nach der Arbeit ist man nach Hause gekommen. Da war der
Mensch frei. Am Feierabend hat man vieles gemacht. Man ist ins Kino gegangen, hat Freunde
besucht und oder ist ins Restaurant gegangen. Oder man hat zu Hause in Ruhe gegessen,
geredet oder Karten gespielt. Man hat mit den Familienmitgliedern diskutiert. Man war wie ein

Kind, das alles machen darf.

Friiher hat man die Freunde einfach angerufen oder zum Abend zusammen gegessen. Man hat

stundenlang mit Freunden geredet.

Heute ist es aber nicht so. Heute haben die Menschen nicht so viel Zeit. Wenn man einen
anruft, dann endet der Anruf in S Minuten. Man ist so sehr miide von der Arbeit, dass man
einfach nach Hause fahrt und etwas kocht, isst und ins Bett geht. Manchmal sieht man mit dem
Mann oder der Frau fern. Aber dabei gibt es keine Diskussion. Man spricht nicht iiber die
Probleme. Die sind nicht mehr wichtig. Der Mensch ist beinah unfreundlich geworden und eine
Konversation ist nichts anderes als Schweigen.

(A) Beantworten Sie die folgenden Fragen! (03)

1. Was hat man frither am Feierabend gemacht?
2. Was macht man heute am Feierabend?
3. Wie ist der Mensch heute geworden?
(B) Richtig oder Falsch? (04)
1. Frither hatte der Mensch viel Freizeit.
2. Heute gibt es langere Gespriche am Telefon.
3. Heute hat der Mensch viel Zeit.
4. Heute diskutiert man die Probleme mit den Familienmitgliedern.
(C) Suchen Sie drei Freizeitaktivititen aus dem Text! (03)
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Total No. of Questions : 5]

P830 [4701]-Ext.-5
F.Y.B.A.
GERMAN
German (Advanced)
(2013 Pattern)

Time : 3 Hours] [Maximum Marks : 100
Use of a dictionary is not allowed
Frage 1. Uberstetzen Sie die folgende Texte Ins Englische! (24)
A) (08)

Leipzig ist eine Messestadt mit Tradition. Viele berihmte Leute lebten in Leipzig. Der Dichter
Johann Wolfgang von Goethe war hier Student. Heute ist Leipzig eine moderne GroBstadt mit
Industrie, Handel und viel Kultur. An der Universitét studieren Studenten aus der ganzen Welt.
In Leipzig gibt es fur jeden Besucher etwas. Das Stadtzentrum hat viele schéne alte Hiuser,
Geschidfte und Restaurants. Blicherfreunde kommen jedes Jahr im Marz zur Buchmesse. Auch
der Leipziger Hauptbahnhof mit vielen Geschiften z3hlt zu den schénsten in Europa.

B) (08)

Friiher ging praktisch jeder Mann arbeiten, wihrend die Frau sich um die Kinder kiimmerte. Der
Vater war die hdchste Autoritdt und traf die wichtigen Entscheidungen. Ein Mann, der die
Wohnung sauber machte? Eine Frau, die Karriere machte? Das war die groRe Ausnahme. Heute
ist es fast fiir alle Frauen selbstverstindlich, einen Beruf auszuiiben, wenn sich jemand um die
Kinder kiimmert. Und fir viele Manner ist es klar, dass sie bei der Hausarbeit helfen miissen.

A) Ubersetzen Sie die folgenden Sitze ins Deutschel { nur 4} (08)

Anjas parents are tolerant but they smoke a lot.

Atlast, it's a Sunday, now | want to watch a movie,

Monika prepares the breakfast and Tim works in the garden.
Willi has to clean his room everyday. His parents are very strict.
A house with garden is our dream.

You can either write a letter or an email.

QU wNe

Frage 2) Beantworten Sie zehn der folgenden Fragen! (20)

1. Sind Sie Nesthocker oder Nestfiiichter? Warum?
2. Was wissen Sie (iber Ostern?
3. Nennen Sie die Hauptstddte von Bayern und Thiiringen|



Welche sind die Nachteile, wenn man auszieht?

Wie kann man mehr bewegung im Alltag bringen?
Wer war Nikolaus? Wie wird der Nikolaustag gefeiert?
Was denken Sie {iber Tattoowierung?

Wie sind die Essgewohnheiten der Inder?

Nennen Sie die Satdtstaaten in Deutschland.

10 Schreiben Sie kurz tiber die Berliner Mauer.

11. Was macht man in der Adventszeit?

12. Wiirden Sie gerne in einer WG wohnen? Warum?

©®N ;e

Frage 3. Lesen Sie den folgenden Text und beantworten Sie die darauf folgenden
Fragen! (16)

Markus (aus Miinchen, 14) - Ich finde, dass 15 Euro im Monat sehr wenig sind. Ich will gern 20.
Kino, Popcorn, Hamburger, alles ist teuer als friilher. Alle anderen Jugendlichen bekommen
mehr als ich. Wenn ich manchmal arbeite und ein bisschen Geld verdiene, dann reicht es
gerade so. Am Sonntag zwischen acht und zehn trage ich Zeitungen aus. Wenn ich fiir mehr als
zehn Euro im Monat telefoniere, muss ich es selbst bezahlen.

Monika (aus Miinchen 14) - Ich bekomme von meinen Eltern 12 Euro monatlich. Fiir gute
Noten bekomme ich extra Geld. Deshalb reicht mein Taschengeld meistens.Wofiir? Fiir die
Siipigkeiten in der Schule und die Eisdiele am Samstagnachmittag. Wenn ich Pleite bin,
bekomme ich manchmal etwas von meiner Oma.

Manuel (aus Hannover, 13) — Unser Vater ist seit sechs Monaten arbeitslos. Das Geld, das ich
von meinen Eltern bekomme, ist zu wenig. Das Geld flir den Schulbus ist 8 Euro pro Monat.
Deshalb helfe ich meinem Bruder ab Freitagabend manchmal in einem Supermarkt aufraumen.
Das sind dann noch mal 15 Euro pro Person. Das brauchen wir auch fiir die Schulsachen. Kulis,
Bleistifte usw.

A) Beantworten Sie die Fragen! 06
1. Was macht Markus, um mehr Taschengeld zu bekommen?
2. Wofiir gibt Monika ihr Taschengeld aus?
3. Wasist das Problem bei Manuel?
4. Geben Sie einen passendenTitel. 01

B) Richtig oder Falsch? 04
1. Manuel bekommt acht Euro als Taschengeld von seinen Eltern.
2. Beim Telefonieren muss Markus aufpassen.
3. Nach jeder Priifung bekommt Monika mehr Taschengeld.
4. Manuel verkauft Kulis und Stifte im Supermarkt.
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C) Wie kann man es anders sagen? 02
1. Wenn ich Pleite bin, ...
a. Wenn ich keine Zeit habe
b. Wenn ich gar kein Geld mehr habe
c. Wenn ich keine Geduld mehr habe
2. Wenn ich manchmal arbeite und ein bisschen Geld verdiene, dann reicht es gerade so.
a. dann habe ich noch Geld.
b. dann werde ich reich.
¢. dann habe ich irgendwie so viel Geld, das fiir mich gerage genug ist.
D)Suchen Sie ein Maskulin, ein Feminin und ein Neutrum Nomen aus dem Text. 03

Frage 4. Grammatik und Wortschatz (35)

A) Bilden Sie Passiv! (nur5) 05
Der Student kopiert die Texte.

Reiben Sie den Kése auf das Brot!

Der Mechaniker repariert das Auto.

Man leiht Biicher von der Bibliothek aus.

Thomas lddt die Freunde zur Party ein.

Man singt und tanzt in der Diskothek.

B) Verbinden Sie die Sitze mit Zweiteiligen Konjunktionen! (nur 5) 05
(zwar - aber, weder noch, entweder - oder, sowohl - als auch, nicht nur - sondern
auch, teils-teils)

Der Film ist gut. Der Film ist lustig.

Tina sieht schon aus. Sie ist sehr intelligent.

Ich kann nicht schwimmen. Ich kann Skifahren.

Schreiben Sie eine Email. Schreiben Sie eine SMS.

In Central Mall sind die Produkte von guter Qualitat. Sie sind teuer.

Ich kann kein Deutsch. Ich kann kein Englisch.

Gy U, e 00 B

O Ao R

o)
S

Ergdnzen Sie mit Préteritum Formen! (nur 5) 05
Friiher . Heute schreibt man nur Emails.

Heute fahrt man mit dem Motorrad. Friiher

Heute arbeiten die Frauen auch. Friiher
Jetzt drger ich mich nicht so viel. Friiher
Friiher , jetzt hdre ich nicht so laute Musik.
Heute bin ich ruhig. Friiher

N AWk e

D) Ergdnzen Sie das richtige Wort! (nur 5) 05
1. Brot, Butter, Marmelade usw. So sieht ein typisch deutsches aus.
2. Erkommt nie spat. Er ist immer
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In einer wird das Bier produziert.

Ich habe Husten und S

Der Lift funktioniert nicht. Er ist ausser

Brot kann man in einer kaufen.

oy on =

E) Bilden Sie Partizip Perfekt!  (nur5) 05
Rita hilft mir den Koffer tragen.

Die Eltern sehen die Kinder fréhlich tanzen.

Du sollst zum Arzt gehen.

Das kann ich nicht.

Richard lisst den Hund laufen.

Hérst du die Vogel singen?

Oy (LI Laohg

) Bilden Sie Relativsétze! (nur 5) 05
Heimat ist ein Ort. Dort fiihlt man sich sehr wohl.
Die Miitter sind sehr stolz. Ihre Kinder haben guten Noten in der Priifung bekommen.
Das ist mein Hund, Moti. Ich gehe gern mit ihm spazieren.
Das ist das Gebaude. Dort ist mein Biro.
In unserem College studieren viele Auslinder. Sie sprechen kein Englisch.
Die Flasche ist leer. Ich habe gerade aus ihr getrunken.

auEwN P

Erginzen Sie die Pripositionen! (nur 5) 05
Meine Oma wundert sich den technischen Fortschritt.

Die Freunde unterhalten sich oft Filme.

Kaspar, ich danke dir ____ deine Hilfe.

Die Kinder streiten sich ____ die Spielsachen.

Die alten Leute drgern sich die laute Musik.

Jeder trdumt einer guten Karriere.

owv s wNnRE O
- & & = ® s

Frage 5. Ergénzen Sie den Dialog ! 05
Enkelin : Hey, Oma, erzihl mal! wie war die Zeit, als du jung warst?

Oma :Die Zeit war ganz anders. Nur

Enkelin : Was? Die Frauen haben nicht gearbeitet? Was haben sie denn gemacht?

Oma

Enkelin : Oh Gott, nur Kinder und Kiiche?

Oma :

Enkelin : Warum denn nicht studiert?

Oma : Nicht nur das,
Enkelin : Auch keine Freiheit! Das ist ja unglaublich! Aber warum denn?
Oma : Eswar einfach so.Das war keine moderne Zeit wie heute.
Enkelin : Schade. Aber gut, dass heute
Oma : Nun, meine liebe, gut, dass du in dieser modernen Zeit geboren bist. Nicht?
Enkelin : Ja, Gott sei Dank!
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Total No. of Questions: 5] SEAT No. -

P 415 [Total No. of Pages: 3

[4701] - Ext. - 50
F.Y. B.A. (External)
MATHEMATICS

AMG-I:APPLIED MATHEMATICS

(2013 Pattern) (General - 1)
Time: 3Hoursg| [Max. Marks: 100

I nstructions to the candidates: -
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Attempt each of thefollowing: [20]

1neN}_

8 Findg.l.b. and l.u.b. for the set {E

b) Findright and left hand limitsa 2)( and x tendsto O.
i  X# 2

=0, X=2.
PP, oy
d) Findn" derivativey ,if ¥ x+b
e Evauate
f) Evauate

g) Defineonintegrating factor of the differential equation Mdx + Ndy = 0,
where M and N are functions of x and y.

. du
h)y Find—=-and ,whee
oX

P.T.O.



I)  Definean order and degree of the differential equation.
) Solvesin(y-xp)=P, where
Q2) Attempt any four of thefollowing : [20]

ad If xandy are any real numbers with x <y then prove that there exists a
rational number r suchthat x<r <vy.

b) letl=[a b] beaninterval andlet f:I >R becontinuousonl.Ifk R
satisfiesf(a) < k <f(b) then provethat thereexistsapoint C | between
a and b such that f(c) = k.

c) |If , provethat (1 +x?)y . + (2nx—1)y +n(n—-1)y , =0.

d) State Lagrange's mean value theorem and give its geometrical
Interpretation.

€) Expand sinx in ascending powers of (X—%) :

f) Determinetheset A={x/x*+x>2}.

Q3) Attempt any two of thefollowing : @ggﬁ 33 [20]
- x——4a, IfO0<x<a

a i) Provethat  isnotrationa numtr.
. . - f(xX)=9 O, if x=a
ii)  Discussthe continuity of 5

a— %, if x>a
b) 1) Verify Lagrange's mean value theorem for the function f(x) = logx
on[1, €.

i) Findal xe Rthat satisfy

c) Stateand prove Leibnitz theorem. Hencefindy , if y = x°.€>
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Q4) Attempt any four of thefollowing : [20]
d WhatisBernoulli'sequation? Explain the method of solvingit.
b) Find the orthogonal tragjectories of the family of parabolasy? = mx.

c) Solve , using

d) Evauate

dy
e Solvey=(1+P)x+ P, where P=&.

f)  Provethat the differential equation Mdx + Ndy = O isexact if

Q5) Attempt any two of thefollowing : [20]
a Given that , Obtain
ﬁﬁﬂfgw*x (n D tgnr2y

reduction formulafor I sin" xdx,
0

b) 1)
i) Solve (X% +y? + 2x)dx + 2y dy = 0.

d
o) i) 30|Ve(1+x2)d—i+2xy:cosx_

i) solve Y- 29
dx X2+ xy

S+
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Total No. of Questions: 5] SEAT No. -

P 793 [Total No. of Pages: 3

[4701] - Ext. - 501

S.Y. B.A. (External)
COMPULSORY ENGL ISH

Text Prescribed : Literary L andscapes

(2013 Pattern)

Time: 3Hoursg| [Max. Marks: 100

I nstructions to the candidates: -
1) All questions are compulsory.
2) Figuresto the right indicate full marks.

Q1) Attempt any one from (a) and one from (b) of the following in about 150
words each : [20]

a 1)  Writeanoteon Gandhiji’sfaith invegetarianism.
i)  Explainthesignificanceof thetitle of the story ‘ The Homecoming'.

b) 1)  What suggestions does Hazlitt giveto his son to make him capable
to accept hissituationinlife and aspiring to hel p and respect others?

i)  How, according to Shashi Tharoor, do cultural diversity and pluralism
help societal devel opment?

Q2) Attempt any one from (a) and one from (b) of the following in about 150
words each : [20]

a 1) Explainthecentra theme of the poem ‘ The Village Schoolmaster’.
i)  What does the poet say about mercy in ‘The Quality of Mercy’?
b) 1) Elaborate‘The Solitary Reaper’ asalyric.

ii) Discuss‘O Captain! My Captain!’ as a patriotic poem.

P.T.O.



Q3) Attempt any one from (a) and one from (b) of the following in about 150
words each : [20]

a)

)

“Women aresisters’. Do you agree with this opinion of Rosemary?
Why?

Comment on the ending of ‘The Last Leaf’.

What efforts does Kalpana Chawla make to be a world renowned
astronaut?

Write a note on the friendship of the author and Todd in ‘My Lost
Dollar’.

Q4) Attempt any one from (a) and one from (b) of the following in about 150

words each : [20]
a 1) Explainthecentral ideaof the poem ‘Laugh and Be Merry’.
i)  Discuss'Still | Rise’ asapoem about the bright future of the Blacks.
b) 1) Explanthe aptnessof thetitle of the poem * Another Woman'.
i)  Describethe different images used in My Grandmother’s House' ?
Q5) @ Attempt any EIGHT of thefollowing: [8]
i)  The cows have returned to the shed. (Change into a negative
sentence).
i)  They liketravelling. (Changeinto anegative sentence).
i) You are trying to find someone. (Rewrite the sentence adding a
guestion tag).
Iv) Ritesh runsfast. (Rewrite the sentence adding a question tag)
v) | haven't met Mr. Sharma, did 1? (Correct the sentence)
vi) Kishor isleaving for Chennai tomorrow. Kishor’s father isleaving

for Chennai tomorrow. (Combine the pair of ssimple sentences into
a compound sentence using an appropriate coordinating
Conjunction).
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vii) Thisisthe greatest satisfaction that an actor can hope for. (Identify
whether it is ssmple, compound or complex sentence).

viii) Although the curry wasfar too salty, Amit did not complain. (Change
into asimple sentence)

IX) If you do not want to take the pink sari, you can take the white one.
(Change into a compound sentence).

X)  The boys decorated the hall with flowers and balloons to make it
look bright and cheerful. (Change into acomplex sentence).

b) Attempt any TWO of thefollowing : [12]
1)  Writeaparagraph on ‘ Advantages and Disadvantages of Internet’.

i)  Write a brief report on the ‘Public Lecture Series that has been
organized recently in your town.

i) Imaginethat you come across an advertisement in alocal newspaper
for the post of an Assistant Teacher in Englishin an esteemed ingtitute.
You wish to apply for the post. Write an application |etter.

S+
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Total No. of Questions : 4] SEAT No. -

P1263 [Total No. of Pages : 7
[4701] - Ext. - 502

S.Y. B.A. (External)

MARATHI (w1dt)
G -2 : SATAETR a IUATd AIST
(T STTHHA)
(2013 de)
9% ; 3 | [wegor 70T : 100

gaar .— 1)  qd 397 Qislan JEavad g,
2) FwEwmSier oid TETe qUT T FHeTA.

7.1) Y Teht HIUTeATE ggt Tt I wedeht 20 vrsaraEa forar. [20]
) 3T CREATETS! JTaveh U= =R ael forgt.
i) sfoem o foifget @ wrm.

iii)  omaw iR T WY

iv) feoaofa fafas v @m?

V) TaE wEh srevaesar fave w0
vi) wfEdiusrenten sawen forer.

Vii) s weee o TR feet
Viii) TRiUThe hIUTaE 29 ek |Rm.

ix) fafear ot @@

X) hHETCR WIS HIvTaE g farw |,
Xi) uftuseh U wE?

Xii) e’ HaELl U TRy SNaTe aaR .
Xiii) FEieria S5 U S ?

XiV) 37t SRgATe YRR .

PT.O.



7.2) Y& T el hiuTearg! g Tt 3w 50 visaradd forer. [20]
c I
) Rl foere T e Y .
ii)  gTTeaes sfagmTen afvrest |,
iii) feouft e rev w7 fevavft Ea i At ? s ST ?
T M
) TTEER WU HEATCETE W Y A6 316, T A T,
i) enfemra (file) wem form.
iii) onftfer srEaTET= TRt T A ?

7.3) YEIA ek TTETel hIVTTEl g e 3w 150 vregraeda forar. [30]
e
) wEEneEF foEneaiedt s gE wuarEgH TreEiedl adiH SRR TS U
ferar.

i) S RUAS g USRS Hiehdt fauEes STt AT d9R .
iii) 3ot JRATEE HedETS! SATeUETd STetesn TS sfag TR %
T M

) oraTaIEd SERhiedl ‘JREH WRUE et a1 Sevie e uftegd’ fawmmes
ATl AR fwuft = <.

i) 1. Fiog TRt AT9Teh e St Ui hudTd AU FaTE- W fawereh

iii) afieh STEaTATH TS TR .
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7.4) e TN T ST T Te s 3w 300 vreamada e, [30]
M
) e gaut wgicae auid Sus g srRishHr FEs o a9 .
ii) T it SieauaTa Sieiean Seehie T oiEH .
T M

) T’ a1 HETHTEt SEed A g8l 9N YUl HATel ol [T ShievErd U=
TRIUTHT STRAGET TR .

i) eEfere foeneaiamE! AU JiEeT aed FRUAHS JEsER SEihgd
Aifecaad fowaes s aoifaum SR fder @R =
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Total No. of Questions : 5]

P1263 [4701] - Ext. - 502
S.Y. B.A. (External)
MARATHI (9X13t)
G-2: STTYfeh AUSI Al M1 AT HUSH
(2013 de)
% ; 3 aTE| [wegur 71 : 100
AT~ 1) AFa
i) arEh TevraEr
iil)  gwefeors met

geqr :— 1)  ad g7 qisfan sravads .
2) 3w gk TvATR Ut 0T FIATA.

7.1) it gee S forer. [10]

H) A AT Teh AT TR ARG .

JTUT TR JAUS areal. . 6. TEal. g SATICATAT ek HIUTITrSE
ATfRet foresa ST, STTATESAT SITd ShIH SHIUTIE HIUR STIEHTel I HISTHIGAR Wed
AT, YUT AT HUTETE Uehel T AMTeITHAR AT 376d. &1 T AT o
HIUTETTrSEiedl ScehdTdl TTeaeiell 37d. 219l AU quivol fehen STesan ehiT
TASTEA ST 318l @ et et 3 Aifgdl fHesaret @rm. 3 SR
‘SRR B G Ueh HATHAaY fAgell W13 ARTEAL. SThrasuT g1 U=
TRGATACT Ueh WE<aTel Yok ST,

fafay o=a ™ U= AU SR ST Wed. s St @



A hiaEd TR e A% R} qEen wena Age. @ gfee swh
3Tk HTUTH ST <hl SATIUT cATEATehS STTEh{Ne STAl. TATSHTEINE SATIeHTel SAferh
AU ST died. et el ot Sahl ATAIE TRTET SHIHTTS! Ufig Tetett ST9i
3T, TR M el it HhI HISEATT . 9T HIVATE Saxhia ‘SR folfedt’
WTS; Yehd. TS ‘A AYH Ge ATl HIUE FHagan FnTal, St Srawiaed
T FTEhEUR 7 A TRY SATehioETgd ATet S AR, Sl 9 feryvanm,
et eI ARG T, el T ShIeal UAIEgRIg § S hAT areehide

3H A AR,
) YA VIEIEIS HSH UIRWITSR T foTa. (Siurend ggn) [10]

Manager Co-operative Documentry
Kingdom Editing Interview
Trandglation Headline Target
Guide Quize Photography
Certificate Tragedy Safety

7.2) i vrsgrada s forgt. (homd 221 [20]

) Sharay’ ved e Toledn =R SAfwdt a1 forgt.

i) e Wi A g AN FUTE TEed I ?

i) Frepm wHdEnl’ o gee W e

V) Siem 3o’ wed afe. TamRe e It Funer e fafden s ?

V) &t garnTean YU ShiuT ST ?

Vi) <RI FIESYS TSR ST ATe T8t HTHI I9ThS I8 T ?

vii) wreaRE iR Ot aeEe STt hivTen TehTeTst hid et STTE ?

[4701] - Ext. - 502 5



Viii) ‘aTsht STEuTerEur’ YEaehel TUTEeh ShIUT SR ?

iX) STTHTATE Treie a3 oAl 3% hIvTl ENH awh ohed ?
X) .. e grea g fo T ?

Xi) SerETeaTen ST HUR Hetl R ?

Xii) Torerentean shioten AT e R Arean FATER WG et ?
Xiii) WY T Hivh AT & ICoTEHIA HIGET HIUTT ?

XiV) TRMER YHATE0 At hivTd FHadenTicle & el ?

7.3) U=TE vegiuda W forgt. (Riud =m) [20]
) =Rt st fetfuama o1 e g ?
i) =fw, Tcaeia & STeHeRA T Thieh TI8 .
iii)  smcHaiE AEAmER wivr g T grs viehard ?
V)  STHEiET e WY &
V) R e ST UTiYemTe SN Jid ShivTal Wieh e Al ?
Vi) SEvhI STHEN ATeeaT SHISTAT vt SRun fiigg Stehard ?

7.4) <9 vsgiaea S foran. [16]
) TEHl diEt v e are TN foaes e & e wuE w6
feha
M. TR TS A TEEE! R TSR du==™t shefl ?

i) ‘ATEh STuTaEur Yraehd WIS U sfiudt SfawTdrs Uil A e staEren
ATESAAT AT TAE .

feman
fiifien R == ciRaewt U@ ST TEUTHEUT TR .
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7.5) w9 yregTaHa I forr. [24]
)  FENIT SESIRE MEHATE AT G A i Tgeet A ?
fehan
FHHAR AN UIEA ATl IteAfuTeh o W e a8 .
i) amue ‘SREAmRETe 3R Ul 3HTR favaTE ardier AT R TR el 3R ?
fehan

A 3ME & HH TESTl T 3T HSHIER MR TERR WE TN hivTeh T
T TITh hel AR ?

DOO®
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Total No. of Questions : 5] SEAT No. -

P1261 [Total No. of Pages : 3
[4701] - Ext. - 503

S.Y. B.A. (External)
MARATHI (¥3131)

S -1 : Audt Aiigcardier fafas wfeea wehr
(2013 de)

% ; 3 aH| [wegot 7701 : 100
HITEFH — 1)  AeH T Fgad qrel dcd ey
2) Femmre (T1eE) — f3.91. Prarset
3) wHW (F1FEH) — O 9IS A
e o~ 1) & gv @it sravad .
i)  ITelieneicr 3k TvATe qUf 7O G,

gg7l) el Uh HITETE TR Tl St eige forg. [20]
i) ATew TEUN HE?
i) et fafae geewen e =,
iii) ATeehTdiel uTre U @,
IV) e TRUSt T ?
V) weais fafae ger s 9 o
Vi) TR weale ey ove w0

Tv72) el Rt SR g S s 20 visaiada foter. [20]
i) R S SRt HehR TE foRdt wome St oot e
i) 3T ScTacTeRt ShTaieE g |igH hid STUTR STAaTd ?
i) fergtan st @ dredt?
iV) vIRE stwTETgETer i foread A ferare

PT.O.



V) Jedyre nefie &t U A forer.

Vi) TR e Wielid AuaTe Shl s grevEra Strel o forgr?
Vii) STUTETEETAT A Hatd AT UTgul ShivT ?

viii) whrt seadider fafas st @ o

iX) TORTEET ShiuTa WIsHATHRS S W g,

X) —EwTEreR aTe e i uTEd g ?

Xi) TeeN e UhSeATe hIUTEAT SATHE ST B ?

Xii) e Frauphel e qadt ol Fef g ?

Xiii) FHS g TG FaTE FEAA HT HHAA A Bt ?

XiVv) Tean siferes Steesen st fors s g e

7p73) U VieguEd S forEl. (SRIUE 2F) [10]
) “HTEE SRIUTET Ut ATEA’ 3 STWTETES Sh TEUTATd ?
i) o =afwi W
i) =g e o Rer A ?
iv) ferurds spererufl aren srdaon Tt w5,

go74)  Ee9 vegiEd SW ot (iRt 3) [20]
|)  TeEwTE ATehIeA YN THUHAT 9T .
i) e TewHE TR ST .
i) wRE & W A Weren dsh el oM W@ A e
V) et seaddier derere for forat.
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gg75) @R vsgEa SW forE. (v 99) [30]
)  UTERE SelaceRteal A fosel mid forer.

i) ‘Jed aTecict d1e guTe Uut SEE e 4% 9 AU A1 faume v
TE THTE TATEHTEAT SR T H.

iii) “wir & wead wir sRie= T uTETe deATe fesut s’ o feremren
Tt .

iV) iR a1 e A for.

DOO®
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Total No. of Questions : 5] SEAT No. -

P1262 [Total No. of Pages : 3
[4701] - Ext. - 504

S.Y. B.A. External
MARATHI (F3131)
e avAufEEsT wHTR -2
AT AUST ATEHATAT $Aad, 3.9. 1818 1960

(2013 TeA)

% ; 3 aH| [wegot 7701 : 100
AT i~ 1) oo go7 qizlan smavas .
2)  IwEiESier Jie eTe qUf U Fea.

7.1) Y& Tedeh TITiiet ShivTeaTe! ag Tgien 3w 20 visqioda fotgl. (SIeieh Terdiel Iedht urer)
[20]

c I
i) 18181 1874 = HIcTEESH HIVTAT AT HSIA T ?
i) SuSHen ‘i gy’ o/ SHIvH Fgeet SR ?
iii) wIdtdier ufgesn wrwiaha wreaie T forere?
V) “TERTS’ o1 WEhTSATS hHell THIUT TR ?
V)  vrau’ ol fefdett e
Vi) RIFTEH TOFT RO RIVTETE 3 ol shivTehmi=! A |nm.
vii) Fraaemfereren Rfidadmmiie s am Son arm.
T e
) WfcRtoT HE@TRIt TAUTUAT hegl THUATA AT ?
i) EHSIITEN SRR HEal e HIUTR FHIGIHR T SR ?
i) “TEe TR g e TSR WS Hoft SATe ?
V) ‘g 93 TN wIEale e Il TR ?
V) SigE g @ fagen R sheaeere shelt it 3R ?
Vi) LI TOTREET ShIvTTEl S ATeehe A1d forgr.
Vii) “‘vearEeui’ o argEe Tehwrean e Sron @i
PTO.



7.2) Y Uk el hIvTeTg! g TeAren St 50 vregraeia ferer. [20]
e
) 18187 1874 = wera=eh teiforen urede fvrg .
i) 18747 1920 = wIeraerdiel sen fAfidiean Srom T,
iii) 1920 @ 1945 =1 FHIEESHA Shicad SNYH® T T H.
iv) 19457 1960 = wierRaeTe TsTeh™ UTFasHt T8 .
T MR
i) 18181 1874 mefict WiNTaNG STSHATY F&&Y AT,
i) 18747 1920 =1 HIeTESTI TR UTYESH @R,
iii) 1920 @ 1945 a1 TGS FHieadre afymest TR,
iv) 19457 1960 =1 FeEEHIe e argwd ATHdTEt Anfiel SR |rm.

7.3) YdicTaeht shiuTeatdl g T 3w 50 yregmEa forer. [10]
i) 18187 1874 =1 TGS USEATEN FHIGRAE 0 h1 TZUTATd ?
i) 18741 1920 a1 TGS RN HEe s QAT S NgaTd |,
iii) 1920 @ 1945 =1 weTES™ wEh—-TigHt I 3 T Tged I ?
iv) 19457 1960 a1 FIeTESTIe ATeshiel aTvTeest TR,

7.4) T TR eI e WA 3 150 vreioRta fe. [20]
e
i) 1818 @ 1874 = HIGTEETIA FHawehRIcTohTdl ATEHA AU | HIHAH
forvre =,
i) 1874 a 1920 = @S WISt A= arearet &g .
T e
i) 1920 @ 1945 =1 HeEETHe dgHaLTl aedrd A .

i) 19457 1960 =1 FIcE=Ta FHHIUT STeedn T ST AN 91 aTgHa TehrTH
e fave .
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7.5) UYEiet Sk et Teht TeATe ST 300 yreeraea forer. [30]
e
i) 18187 1874 = hTcTEET= WIHIISTh, Hehideh, TSThIT SATUT teIfUTeh aTveerHt

fere =,

i) 1874 a4 1920 = HITASKIA SUST ATCehT=N FS ATEHIER Aedl TRUTTHTEH
== .

e
i) 1920 @ 1945 =1 wITEEHIA TSehld, TR TR T argHa arei
JTSTHITA W HEA 1.

i) 1945 a4 1960 =1 weESHE THE TARATHRT HIETEl IR HEA o3
TS TahRAY TET TIY .

DOO®
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Total No. of Questions : 4] SEAT No. :

P1812 [Total No. of Pages : 4
[4701] Ext. - 508
S.Y.B.A. (External)
GERMAN (General Paper - I1)

(2013 Pattern)
Time : 3 Hours] [Max. Marks :100

Instructions to the candidates:
1) All questions are compulsory.
2)  Use of a bilingual dictionary is allowed.

Frage LA. Ubersetzen Sie ins Englische. (22)
A (08)

Das Matterhorn, dessen Form an eine Pyramide erinnert, ist einer der bekanntesten Berge
der Schweiz. An seinem Fuf} liegt Zermatt. Diesen Ort, in dem es keine Autos gibt, kann man
nur mit der Bahn erreichen. Dafiir ist hier das ganze Jahr Skisaison.

Die Port Nigra, deren Name von der schwarzen Farbe ihrer Steine kommt, war einmal ein
Stadttor und steht in Trier. Die Stadt an der Mosel, die die Romer im Jahr 16 v. Chr.
Gegrundet haben, ist die dlteste in Deutschland.

B. (08)
Mia sitzt am Fenster. Es ist sehr frith am Morge, die Strafie ist still und leer. Sie schaut nach
draufien: Zeitungen stecken schon in den Briefkasten, langsam biegt ein Lastwagen um die
Ecke. Sie bemerkt, dass Tauben auf den Baum fliegen. Blitter fallen. Sie hat Zeit, findet es
schon, dass sie ein wenig traumen kann und schlief3t fiir einen Moment die Augen.

Frage L.B.Ubersetzen Sie ins Deutsche. (06)

Kevin could not come for the reunion since his mother was ill. He works as a journalist with
the ,Siiddeutsche Zeitung®. Natalie, his school friend also works in the same office. They
often have a coffee together and remember about their school time together. Natalie is not
married and finds her carrier very important. Kevin will got to NewYork next year for an
assignment.

Frage 1L.A: Beantworten Sie FUNF der folgenden Fragen. (15)

Beschreiben Sie Ihre Wohnung.

Wie ist das Wetter in IThrem Land. Wie viel Grad sind es im Winter?
Becshreiben Sie eine Reise, die Sie neulich gemacht haben.

Was wiirden Sie machen, wenn Sie allein auf einer Insel wiren?
Beschreiben Sie das deutsche Schulsystem.

g1 W

PT.O.



6. Beschrieben Sie eine Sehenswiirdigkeit in Deutschland.

Frage IL.B: Schreiben Sie einen Dialog iiber EINS der folgenden Themen.  (10)

Es ist Ferienzeit und Sie diskutieren mit Ihrer Familie zu welchem Ort Sie in den Ferien

fahren méchten. Schreiben Sie einen Dialog.
ODER

Sie haben einen neuen Film gesehen und diskutieren dartiber mit Ihrem Freund. Schreiben

Sie einen Dialog.

Frage lll:Grammatik und Wortschatz (40)
A. Bilden Sie Nebensiitze! (Nur 4) (04)

(weil, wenn, dass, um...zu, zu + Infinitiv, damit)

Hast du jetzt Zeit? Gehen wir in die Bibliothek?

Die Kinder singen weiter. Horst du ?

Sie 6ffnet den Regenschirm. Sie méchte nicht nass werden.
Er isst viel. Er hat richtig Hunger.

Weifdt du es? Eric hat letzte Woche geheiratet.

v Wi

B. Ergiinzen Sie die Komparativ- und Superlativformen! (Nur 4) (04)

(hoch, gern, stark, kalt, alt, grof3, teuer, gut)

1. Mein Mann ist grof3, aber unsereS6hne als er.
Wein trinkt man in Frankreich

Meine Schwester ist als mein Bruder.
Schwarzbrot finde ich als Weifbrot.

In diesem Mall sind sie Produkte

Sl

Welche Préposition passt? (Nur 4) (04)

Der Junge interessiert sich iberhaupt nicht ___ Korbball.
Der Journalist dankt dem Kollegen die Hilfe

Die Studenten nehmen ___ einem Quiz teil.

Lena bereitet sich ___ den Test vor.

N
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5. Sandra erinnert sich nicht die Telefonnummer.

D. Schreiben Sie die Sitze im Préteritum. (Nur 4)

Es fangt plotzlich an, zu regnen.

Die Jungen finden eine Bombe in der Stadt.
Plotzlich merken sie, dass das Benzin zu Ende geht.
Er sieht, dass ein Mann eine Frau ermordet.

Das Kind trinkt gern heisse Schokolade.

A

E. Bilden Sie Relativsitze. (Nur 4)

Hier sieht man die Stralenbahn. Ich habe auf sie eine Stunde gewartet.
Die Frau wohnt in Hamburg, Thre Tasche ist gestohlen worden.

Das ist Herr Mayer. Ich kenne ihn sehr gut.

Das Kind wird heute 7 Jahre alt. wir haben ihm eine Pflanze geschenkt.
Das ist der See. Durch ihn flief3t der Rhein.

G o

F. Bilden Sie das Passiv. (Nur 4)
1. Frau Schmidt wéscht die Kartoffeln.
2. Das Kind stellte die Vase auf den Tisch.
3. Im Deutschunterricht spricht man nur auf Deutsch.
5. Am Wochenende kochen wir etwas Besonderes.
6. Man kauft frisches Obst auf dem Markt.

G. Bilden Sie Konjunktiv II. (Nur 4)

Er spricht wie ein Lehrer. ( Vergleichssatz)

Ich habe kein Handy. Ich kann nicht anrufen. ( Bedingungssatz)
Sprechen Sie leiser! (Hofliche Bitte)

Heute hat es geregnet. (Wunschsatz)

Meine Freundin kauft immer teure Sachen. (Aussagesatz)

ok Wi

Wortschatz

A. Ergdnzen Sie das richtige Wort. (Nur 4)

Ich kann die Zeitung nicht lesen, weil ich meine vergessen habe.
Zum isst man Brot, Butter, Marmelade usw.

Das Kleeblatt ist ein symbol in Deutschland.

Ich méchte auf das Dach gehen. Ich brauche einen
Zum Neujahr wiinscht man

U1 W

B. Was passt nicht? (Nur 4)
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Gl Wb

5.

Frage IV. Lesen Sie den folgenden Text und beantworten Sie die Fragen.

w0

beginnen: der Film- die Rede- das Theater- der Vorteil

Nebel- Regen - Schnee - Berge

anziehen : die Schuhe- den Kopf- die Kleider- eine Krawatte

backen: Suppen- Torten- Kuchen- Brétchen

Arbeitszimmer: Schreibtisch- Schreibmaschine- Badewanne- Telefon

Schreiben Sie das richtige Nomen oder das richtige Verb. (Nur 4)
der Anfang-

einladen-

sich entschuldigen

die Miete

unterschreiben

(04)

(13)

Was ist das grofite Problem, wenn Schiiler lange krank sind? Sie kénnen nicht die Schule
besuchen und an dem Unterricht teilnehmen. Oft verlieren Sie dadaurch ein ganzes
Schuljahr. Dann treffen sie ihre Schulfreunde auch nicht mehr. Zusammen in die Schule
gehen, gemeinsam Hausaufgaben machen, in der Pause zusammen spielen usw. Das alles
ist dann nicht mehr moglich. So verlieren sie ihre sozialen Kontakte. Sie bleiben die ganze
Zeit im Krankenhaus liegen und langweilen sich. Sie haben viel Zeit aber trotzdem kénnen
sie die Schule nicht besuchen. Beim Projekt ,Digitales Klassenzimmer* kénnen Schiiler im
Krankenhaus am Unterricht teilnehmen, und zwar live‘, per Internet. Einige Lehrer geben
privat den Unterricht. Die Schiler brauchen keine Hefte, Biicher und Stifte sondern sie
arbeiten nur am Computer.

(A) Beantworten Sie die folgenden Fragen!

1.

Welche Probleme haben die kranken Schiiler?

2. Erkldren Sie das Projekt, Digitales Klassenzimmer".
3.
4. Suchen Sie Gegenteile aus dem Text:

Geben Sie dem Text einen passenden Titel.

sich langweilen X am kleinsten X

(B) Schreiben Sie richtig oder falsch!

r

Das Projekt hilft den Lehrern, wenn sie krank sind.
Bei diesem Projekt brauchen die Schiiler keine Schulsachen.

Unter diesem Projekt ,Digitales Klassenzimmer‘ benutzt man Computer in der

Schule.
Kranken Schiiler haben wenig Kontakt mit ihren Freunden.
Die Lehrer unterrichten den Schiilern per Internet.

&
A W)
Q

Q

\
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Total No. of Questions: 5] SEAT No. :
P 794

[Total No. of Pages: 2

[4701] - Ext. - 513

S.Y. B.A. (External)
URDU

Urdu General Paper - 11
(2013 Pattern)

Time: 3Hoursg| [Max. Marks: 100
I nstructions to the candidates: -

1)
2)

VY

1€

0%

0%

P.T.O.

Attempt all questions.
Figures to the left indicate full marks.
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Total No. of Questions: 5] SEAT No. -

P 795 [Total No. of Pages: 2

[4701]Ext. - 514

S.Y. B.A. (External)
URDU
History of Urdu Literature

(Special Paper - 1) (2013 Pattern)

Time: 3Hoursg| [Max. Marks: 100
I nstructions to the candidates: -

1) Attempt all questions.

2) Figures to the left indicate full marks.
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Total No. of Questions: 5] SEAT No. -

P 796 [Total No. of Pages: 2

[4701] - Ext. - 515
S.Y. B.A. (External)
URDU
Prose & Poetry Texts

(2013 Pattern) (Special Paper - 11)

Time: 3Hoursg| [Max. Marks: 100

I nstructions to the candidates: -
1) Attempt all questions.
2) Figures to the left indicate full marks.
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Total No. of Questions : 5] SEAT No. -

P797 [Total No. of Pages : 7
[4701] Ext. - 518

S.Y. B.A. (External)
(HINDI : General - 11)

&<t - mmEr= -
T, 1T T @
(2013 Pattern)

qreagiich : 1) oheT ORI : — §UTgeh  ©f. 3THar )

(. 3TN YBYA
2) HISATEA : — TUTgeh ST GET AT
1. GHTT ddehl
e : 3 T2 [ gorfe - 100
oAy -~ 1) @t geT A 8
2)  Ffet arw fore sie Tt % qurtE § 1
7y 1) Frefafam & & fresi 31 woei 3 T Forfam [20]

) ovfer Y ARt % AR W I far ¥ @ suRw e ?
i) ‘“Agwm’ wEr B werarg fafe |

iii) T ¥ At T’ e B Aadt w aRE - fiR |
iv) “fafern’ wmErh i s waa # falau |

V) HR ATt gl Y Tgehl shell qivh wTadt @ ?

yy7 2) Frafafea # @ fredi 1 uvi & s foafe - [20]
) ‘OrEeR 3R areHY’ it e ferfem |
i) o B et A e T AR |
jii)y ‘wfa W i’ wigar s v Wy fikw |
iV) ‘ST ehfeat § ufd-uedl % wral s e ger erfireass fear 2 2
V) “ordta TE gt &Y ehfaan | hfa T Haw od § 7

PTO.



g7 3) @1) TrafelRea sraawon # @ et v i wwes e fifsm [8]

) omE A TR o e 2 9, TR 3Hes Ueel T UeTs e o,
At TS T AT hl T ATd o HEgeT ATl ohl AT BT AR TG AT |

i) ‘TS g1 98t A | 3 URHTCHT, ATEdiet Wt |t 9E | orest d8, e
TEASA Tl FATHR AT g | TR A MG T8 THR U 7, 7 T3t SIS Toh o1
calll

am) frefofen sramoit § & forelt T <t wEEs smE Hif [8]

) cat

AT ATEH |E qH

30 oS Y TE et off |

T & ag o

i i et sitd e off 11
i) o waTEn Wt E

Rrem Tifomt & @ wefier & 59 ot

AT TG

777 4) @) fAferien ® @ fohelt o W fewuft ferfag [8]
) e AR wEER e |
i) fore 1 A |
jii)  ‘SER g o1’ wET T AR |
) Freferfed & | ot T o fevaoft ferfe - [8]
) T ok wrgeRl i g el |
i) ‘aomre’ Wi § & fomst |
iii) SR e @ e |

[4701] Ext. - 518 2



97 5) )

%)

%)

Frafefaa & @ fFdl oR yrsg—gvai & o1 saTeRt o § W i :[8]

[)  SoT-3Tor

i) T

lii) fa—edt

iv) fear-dan

v) afa-weft

vi) mg-mg

freferiam ® & forell Toh forwar o HTeTeRR 1 T 4R RIT [8]
) Toes 9RA SAFMEH & Wed W W1, JUTHHS IS | | |

i) wftrg Torohe Raemst & wnemen |

Frafoiaa # & Al B2 ot uTRuTdis wegt & f&dt waia fofew :  [6]
1)  Deposit

i) Finance

i) Post office

Iv) Addressee

v) File

vi) Vacancy

vii) Gazette

viii) Mail Train

freferiam & @ forell w6 <t fommo st = qam hifre [6]
I) U 9 & T w1 e |

i) a9R A A T ‘o i B wefa’ @ e |

36383
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Total No. of Questions : 5]

P797 [4701] Ext. - 518

S.Y. B.A. (External)
HINDI (General - 11)

TAISTHHEEh Tgel (Functional Hindi)
(2013 TeH)
o 3 g2 [gurfes : 100
gaad i~ 1) @t weT srfrard £
2) FIEAT St for@ sim wvT @ gurfes § 1

w7 1) Freforfam # & fardi ams swvAt 3 wifer s forfa - [16]
) e e e e fif
i) ‘SR’ TeheuT W ST S |
i) wrerterh R ore & fea o § 2
V) e s | g e o e ferfe |
V) THEER H1ea % kR ffau |
Vi) TETH HTEEA S TE T I |
vii) fasmae % = weEe fRag |
viii) ergaTg it afemer faRa |
IX) ¥eE-FTH T HE™ T R |

X) gfea wremi 6 wmn i =R e fafe |



7 2) o) TrAfoiRaa ® & foredl o7 o fedt utfntues arers fofam -

%)

)
i)
iii)
Iv)
v)
Vi)
Vii)

Carried forward

For Information only

So far as possible

The matter is still under consideration
This may please be treated as urgent
Consider it again

Decision is awaited

viii) Yours faithfully

IX)
X)

fefRaa @ =

)
i)
1)
Iv)
v)
Vi)
Vii)

With regard to ............
Urgently required

Born of contention

Brain drain

Pull ones leg.

To walk on air

To throw dust in the eyes.
With a wet finger.

To play with fire

viii) To back out of.
frafafaa & 9 fFdl o2 seg-gvai & a1l SaTe ST Gt W TR
e

i)

Vi)
viii)

AA-3T
arafa-arash
HA-RA
g
CCERICr)
fer—dm

ST —STelq
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v 3) )

3)

TrafeRaa # @ fordt T w3t &1 a1 GOR hif - [6]

LI TARA TN, TIAYT & SAaEAqTIeh it HeR F9ft F, Jomedt shiewdd
STETE | = fedt i 4000 avarat, 400 wvet wrame o | s @ 500
ayarEt, 100 @ i ferei-3a dew # arfurea arefieres i TaTe i afd-
gt 1 e ux faf |

HAAT

‘fora Terrera” ITaTett <R ShieaTqR o off w9 41, fagt & arvies g 2
@ 150 e geaeht i 6T o @ § - 39 e | SI1EY UF d9R hife |

FreafaRaa # @ foredt Tk ot &1 a1 aam i [6]

TTEET TIH o 3t STHICT THT STERTIE € T Sth 3T ST STeRTd i
U TEETT o foTt 1 g ®UT i /0T ITH A g A6 U forg ©
2 — U T YTEY d9R hHIfU |

atere
off Ta vTHT, TeTeTeh WA SoieRgi ek hUHT ATISIEh © “Sh 31Tt eIt AATISTeh
eh—geh <hl HITT oA 3q 3TTded U for@ @ & - S8em Ty 4R i |

Freaferfem & @ foret ws aftede v R erge i - [8]

Mahatma Gandhi understood the service ethic better than most.
In one memorable story from his life, he was traveling across India by
train. As he left the car he had been riding in, one of his shoes fell to a
place on the tracks well beyond his reach. Rather than worrying about
getting it back, he did something that startled his traveling companions,
he removed his other shoe and threw it to where the first one rested.
When asked why he did this, Gandhi smiled and replied. “Now the
poor soul who finds the first one will have a pair that he can wear.”

AT

TIMTER TRTe TWgA FTEehT WS aeaT W fashaet siumaeat. fiesr
ME oid. daeATd Tl WST HIA Jeohiawil 9. FHdciidl Wil 316t, ad
TEIFTER N Uk, g1 00 TSN, WLl hiedl, A, 2iHet, | shigl 38T o9 Ut
TFoT URETET STl Widt, FaeRet ATE. WIS ISR SHEET Teh TRIST Yoo et
HEEAT, ATELETSIAT (AT gar. ™ gg1 GvTeat areai-i Welt #idt aeft age
WEA TTheAL.
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¥T 4) FrafaRaa # & fdl ar oamda geAt & s fafe [16]
) e B % fafay wu e |
ii) fevar TREm & S FA-A E ?
iii) etreRTTaTURt % fagmoR Y wer i fevvam fefeu |
iV) Twet ergeTe % 9o fafem |
V) ThIeR oReH % wgayqut fog we-a ¥ ?
vi) gfga meam & et oea # T gl Hgm g @ 2

yy7 5) Frafafeaa & @ fedl fi7 w Rwfirat e - [12]
) & v & e i,
i) oHaE &% TER,
i) fosmom =« ,
iv) Y= amat-oem,
V) e ThEvE |
Foab b
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Total No. of Questions : 5] SEAT No. -

P798 [Total No. of Pages : 2
[4701] Ext. - 519

S.Y. B.A. (External)
HINDI (Special - 1)
T2t 9Tt ot o™
(2013 Pattern)
e - 3 @2 [gorfe : 100
g -~ 1) @t gvT sifFard § 4
2) R aiik fore s TvT % gt § |

gy7 1) o1) TAfeiRad § 9 gl ©: T3 o I Th—Teh 919 | eIRa ¢ [6]
i) o= arer <kt vk fawwar fafeu |
i) s T R e E 7
i) oret urar & R # s qt visg forfaw |
iv) arem fora wga & ?
V) < eafaat w fefan |
Vi) HERTE AT TeR |iufd aut qan s w8 & wdiernsit & am e |
Vii) Tt gEm SeTia gt eatat e |
viii) forge fordt e § 2
) fafafea @ @ fedl e geai & S @gu ¥ foafe - [10]
i) RETEr |l W Wiifore & FaTsu |
i) e Rl R § 2
i) e wed & e AT ¥ 2
iv) e fordt whEd € 2
V) ared-dga Tl wEd § 7
Vi)  sreltuerd % gt SqTevwr ferfay |
Vii) wroft amRt el | it werme % g8 7

PTO.



T ) Fasafeafier i s fredt 41w Frvwtforat fefi - [12]
o) Rt s W T s

) afeor wwa R TR aw g ((I9)
®) AT |

yy7 3) Frafafaa @ @ fordl 9 gt & s fafam - [18]
) WU WTHT skl AR AUTST |
) ‘Aegd’ el s wfern ufea @k |
®) I HEY qcd i 99y |
) O H Uk hl FHITSU |
3) Anr ferfu st R qen ATeRtoT W Heg | weRter TTfeTU |

yy7 4) frefeafen @ & fedi & uvai % s faeaw @ fafau - [24]
1)  ATHT T TWEY FareR 9T <kt farfir aftamnen = wwzmsT |
) &t # vgw form Tt & afosar awesu |
&) W o W Ty, gt aare ffie o W @9 ® et STt |

my7 5) Frafafea 4 @ fFdl 9 vt & s foeaw @ fafa - [30]
1)  wrT-foema i et @ ufe dif |
F) 1 o o1 TEw aare red aftada i faemd |eree Ty fifu |
®) AR fofu S fwearert w gt Sifer |
T) T arfufem, 1963 @ uite dif |
3) eafiEs it wrEToTe W afem dfu |
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Total No. of Questions : 5] SEAT No. -

P799

[Total No. of Pages : 2
[4701] Ext. - 520

S.Y. B.A. (External)
T ;. e -1
(HINDI : Special - I1)

IUATH, ATgeh aAT ueagria @t wrea

(2013 Pattern)

UTIeagRIch : i) \Hg W WA AT EHT — HHveR

e : 3 T2

i) I g Rt — farsoy waTem
iii) weagria E wea — wur. — =F. UNig TR,
=t. Tageaite T
[gorfes : 100

gerarg .~ 1) @it gvT s & 1
2)  FR st o s w3 quife § 1

gy7 1) o1) TrafeRaa 4 @ foadl B2 991 & ST Teh-Ts T o fafau - [6]

)
ii)
Iii)
V)
v)
Vi)
vii)

AR et aem § § 7

‘g T shifa’ o Tg@ & urEl % am feRau |

o WY gt At et ?

AR gl Aol i ot ?

‘Ao’ % WA HiT § ?

TIETE <kl TwHrequTT T A forfEm |

TRt T o forg Uget <t sumt forg wfa A & 2 2

viii) et St waT 1 Am fafen |
an) fFr=fofeam # @ el o gl & s d@ag ¥ fofan - [8]

)
Ii)
i)
%)
v)
Vi)

FIRET Y A FA AT UL ?

TR ht W feror ga W FA I @ ot ?

el T WTHT R ALLFRS T gl AT & ?

MUAt 3gua i fohe 9Ta i THR A | @Y § ?

W & FTAR HAT Fearal ol hiA-H T fuerft =iy ?
T[T I HET hY YAt = fuTE § ?

PTO.



gy7 2) 1) TrafeRea sraawon # @ Rl @t Y w@eyd wamemn fifvu [16]
)  Ta-wa oft Gur R Shifd &1 TR 3ISAT 2, UTEEt T SH g S 9
2 | Ao Targama e, & gamr o 7 formre Terd | IR = a1t SR
T E |
i) ug ok weft T TeRaT | A T SHIfd A KT AT A B, HeA o G
TafshaTaTel 31 ST 8 | 3Tag™ aR-aR U+ i grgaart ¢ |
jii)  oTTReR Tg TUaT SR Ufd o &9 H o1 § UTT § 3¢ ? HUSTY, TS0, ®iedl
3R TogEft 1 Uk g2 goTt e, W foRwt ot &rur 3 oust W gehs gehe
g1 Tehal g |
arr) FrafeRaa sramon & @ foedl g it wwed samen fifsu - [16]
) el el @), gn g8 W uif |
v wfe-afe w €, g a@ =it 1
i) A W gk, S wE A W |
3 ufeel & qu om g@ faerea g 1)
jii) X e ®E Y IAfe, WU HH-Ug I |
TRl 7Y 19 T g T SreEE |

gy 3) Frafefaa # & foredl @ Tvt & I Tkt ee—gw ufwai A foRaw . [18]
A) A A ATewk H Igevd farau |
) oA i gfaror ga T @ g fafam |
%) Ufea WAl o YR W FHeR FHT HIGHTT T HINT |
g) o @ wesft mfvet & T d FE-A wETS @ ?
3) U % G & Ui e I T wE  ?
W) wee Tl ot aui fagd R weRR wd § ? wuw hifv |

777 4) freferia § | fohelt gk w97 1 S foear @ forfere [12]
A) ‘wHg ¥ W gen gt Suwa i ey e viegt § foiRa |
) ‘Hgg ® @ geT el U % THE Ut s uierd §i |

gy7 5) fFrafefaa o & foedl S o=t & s foram @ fafam - [24]
) g wifa ek § Fafa awement ® yww Tiferu |
T) g A wifd’ ATeek I ATk % dAeal o AR U qHEn Hif |
&) ‘T Rt AT o USYiA R T WAl g, Ui SIgl ok STTYR W WE hifv |
g) ufda qEl & uR W g w1 IR qui wE fifu |
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Total No. of Questions : 5] SEAT No. -

P800 [Total No. of Pages : 2
[4701] Ext. - 521
S.Y. B.A. (External)
PERSIAN
(2013 Pattern) (General Paper - II)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) Attempt all questions.
2)  Figures to the right side indicate full marks.

Q1) Describe Persian Rubai, Its history and Salient features. [20]
OR

Give an account of literary works of Umar khayyam.

Q2) Explain the life sketch and literary works of “Hafiz Sherazi”. [20]
OR

Critically examine the characteristics of Ghazals of Hafiz.

Q3) a) Write a short notes in your Own persian about the views of Umar
khayyam on any two of the following : [10]

& 2. ’ Ay S, g
FUF it Do in ot e

b) Write a short notes in your Own persian about the views of Hafiz any
two of the following : [10]

¥ . ; - . -
DAL ¢ (@ (P FIE (P T2 (1

PTO.



Q4) Explain in persian or translate and Explain in to English, Urdu, or Marathi
any five of the following. [20]
&)}!‘L_./L{éJ;/’g‘;J/) .____,,l))-’ /?/w[.‘\_y}o//c'ff CED

cﬁ’x@ggy@/tw;
_,,ur/, o= oul r‘ 7>
f‘zv’l R z.J// )
Lﬂ})j"’//.y}u-{:’/ et
Y AR SO
L”}"’.)}‘-)-)’ Jtij:ﬂ/ ¥
Lilasd 2020y

_,»L;/db,,ff ulfml/

L_,.fLﬂ)Lg,)J 1/ o»duf/
wxuU/w,u,w Us o2
(_,«f(/‘u““’,ﬂ uuli_/cf))/}

L > oot JUE AP

{p(}f’/,ﬁ/ L 5 S GEoL

Q5) Explain in persian or translate and explain in English, Urdu or Marathi any

five of the following.

(‘('/JJ];) jy,://J )W/r’(ﬂ“/

82 IO
(/;JJ)/,z o, os o s d
22 f—-—/’ U); c{#" (){__f"
AP0 P PG
Zoer o s o

G F ol W s
.._....MP(L‘-(J'JM;(‘//I,L’ G

2N J/""c"’ Dot
w;,gy«)g!guang o

Dby Sl 47 P
{/(JL‘;A)/{/J%‘L(‘J
_/Lym,)ﬁfww‘ﬂ//‘ L2

LIOLL > (_/‘/) Aot
S  A s 51 1 (0
(___,.wl(j "J/"//‘j/ "—*"’//f"'/

Lad)A_/L-/ f»f)/"’/ Y
("{u”)”-/ f-f-‘d‘!-a_x_y/'—’{

("'/«,J!yfo)/)updbl,,p )
39 5ok S L ) o
£ /,’)//J/uff R (P
(" 3 d’/@b;(!,ﬂ L)
(“1?0; If LGt o
u’"j’/f" pu//uf:ym 1)
ﬂ"’/’x.)’,);),lu;d(/?) L&)
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Total No. of Questions: 5]

P801

Time : 3 Hours]

SEAT No.:
[Total No. of Pages: 3

[4701] Ext. - 522
S.Y. B.A. (External)
SANSKRIT

G - 11 : Sanskritarnavah

(2013 Pattern)
[Max. Marks : 100

Instructions : 1)  All questions are compulsory.
e gvT @ielav srravasd g,
2) Figures to the right indicate full marks.
FTeAtSIcT Sk GOl T FIAATA.

Q1) Trandate any two each from Section 'A' and Section 'B' in to Marathi or

English.

[10]

‘o anTfor ‘& faw T Skt SE At feRat Ut WISt <.

Section - ‘A’ / fawm - ‘er’

|) AAEATRSISY ®Hedd — i ATISW: P | ¥ vg aerat e, | @
TUATSSUETATRRY:, @ UT TrggrEaTe aql:, @ U9 Agfaamiy:, 9 ua
STuTferErTaTiifer:, ¥ ua ufvganueemed:, ¥ ua SuTR-9Ra:, ¥ tg dR-ar-
W, T T GHU-UH-Tereh:, | T G- @ -gTa-qg:, T U TAHRETUEeru:,
T g faeemfe=er: |
i) = 3TaioT || 3 % AREATE SR || AN s SHA TAfaes || Sgan < |
AwgATsIEd || B g || =gan qaw | e gaw || |fee o || o afg |
FHIATfeReaT AT JATArerfeheat ar T ||
i) oecRa: — HUWAAY T Tod gq9 | fF § Tg & | wag, g9u | e
ATTSETEEsHT WETAT: | oF Fedd A1 | el Teama: | | R | stoarad |
7 Fafd | (3o W Sufd W e 1)
AN Sgbea faamsgiasaty |
WW:W:WII
(st e == )

PTO.



Q2)

Section - ‘B’ / fawm - @

) oW a= wafd @& R Ta= [10]
At 9 WRAATuETa a4 |
AT o YHaTd ArAfeReAquTt
FEET yaged fage T 1|

ii) wETfgutd - a7 THed WrgeaHH Had gHtee: |
qrgeTET: ey R |

iii) sfws @it foamgeen
Fea™ T TR faEn |
T T WA == |

Explain with reference to context any two from each Section 'A' and 'B'.

[10]

‘o’ emfur ‘@’ fawTTIR U giEie AEeH TUSeRuT .

Section - ‘A’ / fawmr - ‘@1’
) wvd geEa afe stafa agafd |
i) ggwa fvergea wam wghatfem: |
i) wTgeat wa || fugeat wa ||

Section - ‘B’ / fawm - @
) T ufdcan aqisiases, we aeee Fe weeT | [10]

li) gafataafaTe: & a1 dga-E: ||
iii) wafd zgaer vyeageat faures: 11

[4701] Ext. - 522 2



Q3) Write an essay type answer (any one) :
afoer IW o, (FvreTd )

Q4)

Q5)

)

i)

Explain @@ and f=m according to uewet.
Explain the advice of Acarya to his Student.
ATATATT TS ShedeT SUCTT T .

Write an essay type answer (any one) :
afoer IW o, (FvreTd )

)

ii) Explain the views of sggft on fate and action. (3@ and =#).

b)

Appreciate the lesson wizargmfdmTET=T .
‘ARRETEEIGHATETH UTeTel TEIEuT .

wgi dafaueres iU wifass foem g .

Write critical notes (any two) :
o= ufteag forgr. (FurETE qiEier)
1)  Character sketch of Bhima
ot st
i) Changed views of g
T aauiada
i)  wrargrian
Write answers in sanskrit external. (any Five) :
HEhared I forel. (IvTadt i)
T&pa ARt forea (et gar)
)  wTEE HTEungTRa ATk % ?
i) ‘Stusa sheea guften’ w ure: wwmm weam wiea:
i) ‘gerteeaTa:’ e WA Jad ? A€ URET Hal h: 7
Iv) wigwgwE ear: & ?
V) daugld: SRS e wEiesn ?
Vi) TER: w% gwmve : ?
Vii) anre st T gt fore |

63
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Total No. of Questions : 5] SEAT No. -

P802 [Total No. of Pages : 3
[4701] Ext. - 523
S.Y. B.A. (External)
SANSKRIT (Special - I)
Kavyasastravimarsa, Vrttavicara and Kautiliya Arthasastra
Adhikarana 1 and 6

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions : 1) All questions are compulsory.
gd 9T @ielav srravasd g,

2) Figures to the right indicate full marks.
FTFIHSTT F GOl T FI1AATA.

Q1) Givereferenceto context (any two) : [10]
FHEH TEHTT AT (VAR &)
a) drgeit srgon fAfifa: Fetom |
b) serweE TvEAMER |

C) #q: g gaa: |
Q2) & Define Alankaras with example (any two) : [10]

ACTHNTT FIRIUT HIGTENUT TIY HAT. (HIVTAE! gH)
i) @A i) erem
iii)  srugfa: iv) ufeen

b) Define vrttas with example (any two) : [10]
RIS TEAUT HIGTEL0T T HA. (R IH)
) Thfa: i) arTeem
jii)  weaTsRTaT iv) gesft

PTO.



c) frmeam iy o (Fivd um=) !

) siguicuiaemEETE |

i) ST Ey: TERRI9: |
iii) 3id qUTeERITRA |

iv) wercagfaaued disemivg= @ |
V) q aeredt foweft foeereqen |
Vi) gETaR audeE T

vii) wgiiEisRr: |

Q3) Write an essay type answer (any one) :
gfeem s o1t (FureTd )

a)

b)

Q4) &)

b)

Explain yreerefasay
yregTeAfaeay AfoeR g .
Explain smeffeassn in Detail.
eSS YUigul T .

Give reference to context (any two) :

ey TFET . (UG ) ¢

) OrEg I T AeTeetierehT |

i) wowmREET 96 WeEEaTe e = |
iii) s gfereli g adymiEd @: |

Match the following (any five) :

3ferd g faferga Sen goan (e =) -

) o= 1) |

i) afriees 2) e |
i) Feremer: 3) safem: |
iv) amat 4) wAERY |
V) WUt 5) =& |
Vi) veETeEtEE: 6) & |

Vil) T ey

[4701] Ext. - 523 2
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Q5) @ Writecritical notes (any two) : [20]
e uftesg foren. (FvraTdt SEier) -
i) eruTeeaf:
i) sfgasa: @ sfugariam:
iii) feremages:
b) Explain “egeuteaf: @ @eaet:’ in Detall. [10]
TEUENI: T Heedtt: uiaeR TE &,
OR / fefam
Explain in Detail ‘vreamentwesy’
‘TR, AfER WY .

36383
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Total No. of Questions : 5] SEAT No. -

P803 [Total No. of Pages : 3
[4701] Ext. - 524
S.Y. B.A. (External)
SANSKRIT (Special - II)

IERY (Vedasaurabh)

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
g=A7 :— 1)  All questions are compulsory.
e 9T @ielav srravasd g,
2) Figures to the right indicate full marks.
FTFIHSTT S QU T FI1IATA.
Q1) Trandate any two of the following with an explanation. [10]

a) W wedd Toadt diftwmd areh o wdE: T W |
st Turen agfr: w7 et da gfte =g 1)

b) W wdAETT ST Ta fafiE T |
T i e Rero fedtegag v JEd 1)

) & fwmn: uftafs faar wofr fas: |
arereatisten A gl o gurg A ||

Q2) a Writealong answer to any one of the following : [20]
TTATAAdeh! hHITTATET TehTal HTER IR ToTgT.
i)  Appreciate a hymn to asi=r (%.5.83)

Te-agEaTe (%.5.83) g w1

i) Explain content of ‘@taawagwa (stad 3.30)appearing in the
Atharvaveda.

rrEAeTdter FraEagearen (stud 3.30) ST TE .

PTO.



b) Write short notes on any one of the following : [10]
JEteTieh! vt Teher 21 for.
) gt
i) Defferent names of sterdag
YA AT AT,

Q3) Write reference to context to any two of the following : [10]
BT SR TEe TSR &
a) I9m d wm O |

b) o= &g i 1| ag 9w |
C) AT Tl EHAUTAST A= AEHTATIHRAT oA |

Q4) a Explain astory of ‘smagffadtsmror’ [20]
‘STAgfadtTEuR TE .
OR / feran
Explain content of a story about @waT—ufur
TIATAUTSRAET T TIY .

b) Write short notes on any one of the following : [10]
eteTteh! ShIvTeTEl UehTer g forar.
1)  STEIURrY:

i) wufg

[4701] Ext. - 524 2



Q5) Write answers in the s=pa language. (any ten) : [20]
wEpaATd I foret. (o @)
i) dew s forem |
i) =ae wfa wugenty af= ?
i) o 7w fom ?
V) CATRUTHETITS TUddes hid Wigar: et ?
V)  ‘wEree:’ 3de el 9s AHEEy ?
Vi) AU B/ & 7
Vil) e e e A ?
Viii) srerdaees smamt fRg ?
iX) T yivenef gegur T SfvET ?
X) 7w foreaa W geag AT e UG add ?
xi) dRdentete smman: foe: aeea: @@ ?
Xii) wenafAug ArE @ Sufiug faeEr ?

36383
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Total No. of Questions : 4] SEAT No. -

P804 [Total No. of Pages : 3
[4701] Ext. - 526
S.Y. B.A. (External)
PALI
G - 1 : Pali Kusumanjali
(2013 Pattern)

Time : 3 Hours] [Marks: 100

Q1) Trandateinto English or Marathi. (Any Two) : [25]
STt hia TSI WIETR . (FIRE )
1) AT A, WIS, HAT ST ? 7 g, ATIFIYT, STl 7 Tagaraiash
7 fifeae 7 feremar =7 a9 soamm@ 7 stfteema 7 wEtae 9 Feamm
Hedfd | T8 § AT sTeateRd | feRswr, ATCleYW, WA sATRd ? 38 god 1,
ATIeAYd, AT STehe; 38 GREHHEA! {d—Wal aThd; 318 garat-al fo-
HAT AT | 378 qRATULRTIRAT Ufeuqr fa—wan sareRd | SEAT o, ATy,
HAT SAThd ? UAleg, ATCIdd, STeddidd Ud SAlesaadsh Hisage formma
Fam suamm stftrsema T Feamm @awta | @@ T 9 79T samehd |

2) uwA= A @ arEg wre wreed taede - 3d, W A, ST g agR
ITEGHN AT TR hel ISUTS | 1F Ud aeri - ‘arEHa Sqa,
EmssTaEAt et Fenfa aorte semgsaaE, @ et STee
TreRERETTeAT fa | IRgTI HTvTE! vedTg - “srie ST srEsaTaAt et
Treafa TR FTeMEsaa™, T TERATAl FTRIU dTEeRaHT fa | Teat, Wi TaH,
aredre femrat, arfear feama, stfesr ammamaY 'fa |

3) 3FYseH =TTk TRATHT A7 AT FaaH ATATUTTSHET TR AT W1 AJIdSH ;
SuEgiieat Wi srftraen whA il | e Afe= =& e goot
HATOTYT SRTET STFET T Heeiie ARTEuTd ST Trgate | ot @t
JATIET YUUT HATIOTY ST ST helTe Weg il SuTg il THisTal drag et
I oFUad dquEgH feaTierR™ | oY ©t oresad fieRg Ammaen |yt
AguEg |

PTO.



Q2) Trandate into English or Marathi. (Any Two) :

Syreft e TG WA . (FORE B

1)

2)

3)

“aem q Afenr sfiaw, firen quon el |
HEAT 7 qReaty, TaEd wgesnd ||

‘e Sratfoeh goRe, ATUREE T |
ket WA Wedl, TEUEENEE A ||
“‘Eiuma wemtET, ig o gamEy |

T 9T WO gifd, WRAREUR Jor ||
““gferovt sErefE A, e e garteat |
WOl ¥ W Afer, Wi g ||

T frea wfewr, FAmTEiTeE oy |
Hrifirean fresema, Wi feeset 1)
T ATATEATAT, Fvd TSN Al |
Fontemmor |, e fos voet 1|
forgaTees qaH, wese SgwTgt |
GHAE HUEHE, gt a9t 7 s 1|
FrER fUaw o, SoysaHarse at |
et gurg, fargam fiemes 1

“‘gugggaied = AT, |Mva g sttt ufd |

T A IUHITaT o, Feanaaed s ||

‘“‘ohgut @ gehd GHATEd, WM G TH HUUTITISAT |
AT S AfATH A TRaT, TaaTdaed st ||

‘UG EUUETGET, W g g-T 9 7 |

q T Wivedr =iedar, aEdrdaed s ||
“‘gugsrgia grmferar, @vd g Mt @ 19
a1t T e feAfaan, aeenieasE emssten ||

““gzuferoafemiaaT 39, TN g o1 ) w9 |

AT T T refeisaordl, T=areae st ||

[4701] Ext. - 526 2
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Q3) Explain with reference to context (Any Four) : [25]
HeWTEEa TITTaRuT AT, (RIUTAE TR) :
1) “‘fok wewa witea™, i ar et ad |
HE ATETHRTH, ooqd d @hal ||
2) ‘‘veuse] weagwETEl, Rl st WH |
HEThRTE(UTeh! HedT, Todclehidchedeh! ||
3) “‘emAfR gATvETie, wifewara wgR FelrE |
@ S Wield afg afe, geEareaed st ||
4) 19 @ FeatH arH e fFeatm aewts semgsgaan’ |
5) ‘38 gwa T, WATIeIYd, AT AThA ; 318 GREEHGA! fd—HAT SaThd ;

6) | ‘7 Wkt Queh Toug e 3eg gedl 3iigd Ut uaiewesfd afg wed
AT |

Q4) Write adetal note. (Any Two) : [25]
wiee & ferer. (IvrEt a9) ¢
1) demTar
2) W
3) arfyrsem

4) @=

36383
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Total No. of Questions : 5] SEAT No. -

P805 [Total No. of Pages : 4
[4701] Ext. - 527
S.Y. B.A. (External)
ARABIC (Gen. - 1II)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Q1) Translate into English or Urdu or Marathi any Two of the following
passages : [20]

fw’ PSSR AN L5 sznats — (e
ﬂwi\ %:’;éfsxz» W\c\)\ S€.55.50050 ,&»\2
YDLD‘\”Z(? ‘—/F‘j—)j Q}i)\}v\_v é\/—ve)\b;(,; LP

/
/.w/ > .2 >

TE SN 2125, db}ub)\m»ubvs»w
T)%**\Q\AW)‘MV\&‘» c)fnﬂé QJA:LA\
ﬁ’*\aos\uiss;/g»@@ Sl NG 531y
A AT NS TR AL
ORI AR 2 AN S G SES O
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Q2) Explainwithreferenceto the context any Five of thefollowing couplets: [15]
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Q3) a@ Explainany Two of thefollowing Surahs: [15]
>4
0 2. 9 = / /_) >
b) Summarise any Two of the following Lessons : [15]

P AL - 7 )?/‘5; S B /Jﬁ4
AN 23 @- A - 3o
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Q4) Define with Examples any Two of the followi ng Topics : [15]

"mdsu)\@ ngl\gme,;\ A3 @
C:fﬂv\e)\ @ - L\EN S22 )

Q5) a Transl atelnto English any Five of thefollowing Sentences: [10]
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b) TrandateintoArabic any Five of the following Sentences: [10]
1) Do you read and write Arabic in your class.

i)  Write your name on the new note book.

iif) Don't play in the street.

Iv) Don't sit on the chair.

V) Her brother won the first Prize in the match.
vi) Whereisyour office situated?

vii) My officeis situated in the old city.

viii) Please put the letter in an Envelope.

L
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Total No. of Questions : 5] SEAT No. -

P806 [Total No. of Pages : 3

[4701] Ext. - 528
S.Y. B.A. (External)
ECONOMICS
G - 2 : Modern Banking
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :-
1)  All questions are compulsory.

2) Figures in the right indicate full marks.

Q1) Attempt any one question of thefollowing :
ad Explainthestructureof Indian Banking.
b) Explainthefunctionsof Commercial Banks.

Q2) Attempt any one question of thefollowing :
ad Explain multiple credit creation process of Commercial Banks.
b) Explain the typesof Bank Account Holder.

Q3) Attempt any one question of thefollowing :

a Meaning of crossing cheque. Explain types of crossing cheque.

b) Explain Merits-Demeritsof Core Banking.

Q4) Attempt any one question of thefollowing :
a Explainthefunctions of Reserve Bank of India.
b) Explainthestructure of Indian Co-operative Banking.

Q5) Write short notes (any two) :
a Objectivesof NABARD.
b) Monetary Policy.
c) Types of Deposits.
d) Principlesof Banking.

L

[20]

[20]

[20]

[20]

[20]

PT.O.



Total No. of Questions : 5]

P806

[4701] Ext. - 528
S.Y. B.A. (External)

SOMIEC]
G -2 : YT TheaTq
(2013 Ge)
(Tt EUTaR)

gez : 3 @rd]
gEar :— 1)  gd gvT qislan Jravasd SiiE.

2) ITAIHSICT 37k VTS UT FIAATA.
3) @ewlard? ges st Ty glFkT BT,

[gzeor 707 : 100

797 1)

797 2)

797 3)

WTATAUh! hIUTATE! Teh T99 Eieal.
) WRATAIS Sk HATEETH AT T H.
F) SIUH SRt A Wil TY .

ATl AT T Y HrE.
) ATAR Shet TgTT ATt Sihar a8 .

q) ok WAGRIE THR AlOER T8 0.

WTATAUh! hHIUTATE! Teh T ErEar.

)  YATIIIT YT U i ? aTa TR ferore =,

) IR FRTAT FYATT T HIEE A faerg &

[20]

[20]

[20]



T574)  TTcliciichl SHIVATE Tk 99T Giedl. [20]
) URA figreg dehet %l Aferay T8 .
q¥) HRATHIA UghNl doh STGETATH @1 T8 .

grw5)  dwn feren. (ot d) [20]
) drarSst sEE.
q) AEHAAEIE SR
%) I UER.
) dfeRT=i T,

363838
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Total No. of Questions : 5] SEAT No. :

P807 [Total No. of Pages : 3
[4701] Ext.- 529

S.Y.B.A. (External)
ECONOMICS
Micro-Economics

(2013 Pattern) (Special Paper - 1)
Time : 3 Hours] [Max. Marks :100

Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any one question of the following. [20]
a) What is micro Economics? State the scope of micro economics.
b) Whatis Utility? Explain the law of diminishing marginal utility.

02) Attempt any one question of the following. [20]
a)  What is supply? Explain the determinants of supply.
b) Explain the law of variable proportions.

03) Attempt any one question of the following. [20]
a)  What is monopoly? Explain long - term equilibrium under monopoly.
b) Explain the marginal productivity theory of distribution.

04) Attempt any one question of the following. [20]
a)  Whatis Interest? Explain the loanable funds theory of Interest.
b) Explain the concept of welfare Economics. Describe the social welfare
function.

Q5) Write short notes (any two) [20]
a) Price Elasticity.
b) Basic Economic problems.
c) Selling cost.
d) Quasirent.

R R

PTO.



Total No. of Questions : 5]

P807

[4701] Ext.- 529
S.Y.B.A. (External)
ECONOMICS
Micro-Economics
(2013 Pattern) (Special Paper - 1)
(TSt FUTaR)

gz 3 71| [@gor 7or - 100
AT o~ 1) @F 97 QIslao savadd Iiigd.

2) SwdtBSIeT 3k gut quT FIfaara.
3) @gYrarst g A1 TIAUlAHT uETEl.

97 1)

97 2)

97 3)

97 4)

WTeATAAdh! HIUTATET Ueh T TS, [20]
HA) G AUV TEUIS 1A ? Y&H ALVTET SATH |,
) SUARAT FEUTS T ? Hedl HH SUAIRaET Haw T 1.

WTeATAAdh! HIUTATET Ueh U9 TS, [20]

1) YREST TEU 1A ? ResaTe e T W
) ‘agerer yHIOTEN FER TE W&

WTeATAAdh! HIVTATET Ueh U9 TISdT. [20]
) IR T 1A ? HadGRIdIeT TeHehTe I THATA TI8 .
) TauSETE ST ScTgeal g T w6

WTeATAAdh! HIUTATET Ueh T TISdT. [20]
H) AT TEUN T ? ST st et g waw w0

q)  HEATITHT ANITEATH Hheu"T TAY HIT.ATHTRNTR HedTul HeT JUH
w0



gy 5)  Ean fergr. (vTeAtEl g) 20]
o) Fma st
q) gAY AR T,
%) feshrers.

) ATV TS

W R
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Total No. of Questions : 5] SEAT No. :

P808 [Total No. of Pages :4
[4701] Ext.- 530

S.Y. B.A. (External)
ECONOMICS

Macro Economics

(2013 Pattern) (Special Paper - I1)
Time : 3 Hours] [Max. Marks :100

Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any one question of the following. [20]

a) What is Macro Economics? Explain the nature and scope of Macro
Economics.

b) What is National Income? Explain the difficulties in measurement of
National Income.

02) Attempt any one question of the following. [20]
a) Critically evaluate the Say's market law.

b) What is consumption function? Explain the factors influencing
consumption function.

03) Attempt any one question of the following. [20]

a) What is money? Explain the functions of money.

b)  What is Inflation? Explain the causes and consequences of Inflation.

PTO.



04) Attempt any one question of the following. [20]

a)

Define the Business cycles. Explain the control of business cycles.

b) What is Macro-Economic Policy? Explain the objectives of Macro-

Economic Policy.

05) Write short notes (any two): [20]
a) Circular flow of income between firms and household.
b) Psychological Law of consumption.
c) Demand pull and Cost push Inflation.
d) Instruments of Monetary policy.

W R

[4701]Ext- 530 2



Total No. of Questions : 5]

P808

[4701] Ext.- 530
S.Y. B.A. (External)
ECONOMICS
Macro Economics
(2013 Pattern) (Special Paper - I1)
(TSt Faiar)

Je . 3 7rd] [ @gor 707 : 100
AT ;- 1) @F T97 @IS0 S1a9ad g,

2) SwdtBSIeT 3k gut qoT FIfara.
3) oTIvad A9 gas HTHT HIET.
4) Tufarst ge U TITaAET T,

97 1)

797 2)

97 3)

Qe ieTdeh! ShIUTATET Ueh U9 |, [20]
) TUUSE UV U 1T ? AHUERl StdvTET TEy 9 AT WY
0.

) U A TS T ? A Ieqd WIS JUTaT SV H/.

WTeAeTeh! ShIVTATET Ueh U9 HISdl. [20]
) W = aeRtavEs Faume Rwtme geamae w0,
) IUNFTHEAT TEUN 1 ? SUNFTHATER UNUTH TR Teeh TIY Hl.

WTeAeTeh! ShIVTATET Ueh U9 HISdl. [20]
3T) T TEUNS I ? IR hTE HW(OEAR Y HA.
q)  TEAATE TEUNS i ? TAFATEI hRUT T TRUTH Ao €98 .

3 PT.O.



797 4)

97 5)

WTeAteTehl ShIVTATET Teh 99 |IEAT. [20]
) HATIREHTE SATEET ST SEATIREshTeT HEaumETEean STt At

TP .

q) WAL amefier SRUT TgUT R ? Auueieht seffeR envuTel 3T T
w0,

Zrar fergn. (ST 39) [20]

H) FHEA ATV TN HEAT ATSATAA IeaATe TShIHR TATE.
q) IUNETET gEEwTEia e,
®) WETOH-ATIHHG F G -graHHd S aTs.

) ETaugeh SRUTTEN TTed.

W R
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Total No. of Questions : 5] SEAT No. :

P809 [Total No. of Pages :8
[4701]Ext.- 531

S.Y. B.A. (External)
POLITICAL SCIENCE
G - II : Government and Politics of U.K.,U.S.A.

(2013 Pattern)
Time : 3 Hours] [Max. Marks :100

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any one question of the following. [20]
a) Explain the salient features of American Constitution.

b) Explain the structure and functions of the 'House of Lord's' in England.

02) Attempt any one question of the following. [20]
a) Explain the powers and functions of the 'Prime-Minister' of England.

b) Explain the salient features of the party system in America .

03) Attempt any one question of the following. [20]
a) Explain the structures and functions of the Supreme Court of America.

b) Explain the role and functions of pressure groups in England.
04) Attempt any one question of the following. [20]
a) Give the performance of Women's Movement in England.

b) Explain the structure and functions of the local Government in America.

PTO.



05) Attempt any two short notes of the following.

a)
b)
c)
d)

Executive powers of American President.

Judicial Review.
Racial Movement in England.

Labours Organisation in England.

R R
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Total No. of Questions : 5]

P809
[4701]Ext.- 531

S.Y. B.A. (External)
POLITICAL SCIENCE
G - II : Government and Politics of U.K.,U.S.A.
(2013 Pattern)
(TSt Faiar)
g 3 ard] [ @gor 707 : 100

gaar ;- 1) &d 97 qISIa0 SavaE .
2) SwdtBSIeT 3k guf qoT FIfaara.
3) @gYrast g@ A1 TIAlAHT TETEl.

o7 1) ETelteTdeh! ShIUTaTE Ueh U9 |rea. [20]
3T)  ITHNhTAT TSIl 3oeh AT TIY .

q) Fegndter sua aurret (House of Lords) AT @ wh1d TU® .

gp72)  WTelteTieh! ShIUTaTE Ueh U9 |rea. [20]
) FTASTAT UAUAHI SATUHRR T H1E TIY Tl
q) o usTUgdIet ATITEA T T

gp7 3)  WTeleTieh! ShIUTATE Ueh U9 |rea. [20]
3T)  ITHheAT TATed ETAATH AT o h1d TIY &,

) FSHHUTE qETE TeTE AT 9 T favig @



gy74) WTeliedchl hIUTATE Ueh U9 Tieal.
A) Teeuier e aeaden erar @i,
q) STk TATHS AT o1 o HE T & .

gg75) WTelterdeh! SIvTeATE g9 uT |iga.
)  ITHAHT AL HIARN TR,
q) AT G,

&) FolEHiA AIH TBAB.

g) TieieHeiier ST EoeAT.

R R
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[20]

[20]



Total No. of Questions : 5]

P809
[4701]Ext.- 531
S.Y. B.A. (External)
POLITICAL SCIENCE
G - II : Political Theory and Concepts
(2013 Pattern)
Time : 3 Hours] [Max. Marks :100

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer the following question (any one): [20]
a) Define Political Theory and Explain its nature and scope.

b) Explain the concept of state and discuss its Elements.

02) Answer the following question (any one): [20]
a) Explain the concept of power and discuss power as a tool of exploitation.

b)  What is Authority? Explain its forms.

03) Answer the following question (any one): [20]
a) Explain the various types of Rights.

b) Explain the concept of Equality and write its types.

04) Answer the following question (any one): [20]
a)  What is Democracy? Explain its merits and demerits.

b) Explain the concept of Globalization and discuss its impact on India.



05) Short note (any two):

a)
b)
c)
d)

Hegemony.
Liberal Democracy.
Marxist perspective on state.

Theory of popular sovereignty.

R R
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Total No. of Questions : 5]

P809
[4701]Ext.- 531

S.Y. B.A. (External)
POLITICAL SCIENCE
G - II : Political Theory and Concepts
(2013 Pattern)
(TSt Faiar)
Je . 3 7rd] [ @gor 707 : 100

AT ;- 1) @d 97 @ISiavr Jravads Higa.
2) SwdtBSIeT 3k gut qoT FIfara.
3) Tyt g@ 3 FvTalAHT T,

g7 1) WIeieiachl HIVTATEl Ueh U9 @ieal. [20]
3T) TR TagraTe SaTEaT TU¥ e TEY 9 SATH TY .

)  ASATE HhEUAT TIY HEA ASATSAT Teehiel aai hil.

g7 2) WIeiieidchl SHIVTATEl Ueh U9 @ieal. [20]
) Hel HeheUdT TIE HEA T g AT HIEA 31 ? o<l ol
) AT U W ? SATET YRR T w0

g7 3) WIeiieTachl HIVTATEl Ueh U9 @ieal. [20]
) g fafay gewr e w0,

) THAE HhoUAT TIY HET THR forat.



g7 4) WTeliedehl SHIVTATE Ueh U9 Hieal.
3T) ARIME TEUN T ? FIRIME 0T Y TIE T

[20]

¥) WATTeehIeRTuTTel eheUudT TI8 thied WRATIA SATeedl URUTHT=N et

<hT.

gp7 5) <o forgn. (Srordt §9)
a) oy’

q) IREAATE ATRIME.

®) HEFHAT TSAfISaH OO .

) AN e AxTaTd! g,

R R

[4701]Ext.-531 8
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Total No. of Questions : 5] SEAT No. -

P817 [Total No. of Pages : 4
[4701] Ext. - 543
S.Y. B.A. (External)
PUBLICADMINISTRATION
G- 2 : Indian Administration
(2013 Pattern)

Time : 3Hours] [Max. Marks :100
Instructions :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attemptany one of following question: [20]
a)  State the features of Indian Administration.

b) Explainthe role of Prime Minister.

Q2) Attempt any one of following question: [20]
a)  Write the structure Powers and Functions of LokSabha.

b) Explain the Functions of Election Commission.

Q3) Attempt any one of following question: [20]
a) Explain the structure, and functions of Union Public Service Commission.

b)  Write the objectives of Administrative reforms.
Q4) Attempt any one of following questions: [20]

a) Explain the Powers and Function of Governor.

b) State the composition and Functions of Municipal Council.

P.T.O



Q5) Write short notes (any two): [20]
a) Planning Commission.
b) Lokpal.
c) Containment Board.

d) Grampanchayat.

XXXX

[4701]Ext.-543 2



Total No. of Questions : 5]

P817
[4701] Ext. - 543
S.Y. B.A. (External)
PUBLIC ADMINISTRATION
G- 2 : Indian Administration
(2013 Pattern)

(FTE ®UiaR)

ae : 3 | [ @egor 7707 - 100
gedar :gl) @d gvT ATIVAF HIZd.

2) SISl 37k gul 0T gIfaArd.

g7 1) ETelieideh! HIVATE Uk U9A |rgd. [20]
) WRAE gemEAT=n afdreest |,

) UAUYHETRN YHEGT T H.

gyd 2) WIeeIdh! HIVMTE Uk U9 Giedl. [20]
A) AHAR AT, AER AT wE™ o=
) fasus smmeh w1 wE %L

g7 3) WTcliciieh! HIVATE Ueh U9 |igdl. [20]
HA) <higa ArRaal JFENEN AT AT T 0.
) wyEfRa gurume sfews foran.



uyq 4)  WTelieideh! HIVATE Uk U99 |rgdl. [20]
A) TSAUTATE HAURR AT FEA TAE A,
§) TRUTCTRT TEAT ATUT SHTH |AT.

gw7 5) fem form (Fioeardt §9) [20]
H) F=sE smam

g) HRUTA
®) DEUHAT qTfeteRT

g) YWY

XXXX

[4701]Ext.-543 4



Total No. of Questions : 5] SEAT No. -

P818 [Total No. of Pages : 4
[4701] Ext. - 544
S.Y. B.A. (External)
PUBLICADMINISTRATION
(S-1) : Personnel Administration
(2013 Pattern)

Time : 3Hours] [Max. Marks :100
Instructions to the candidates :

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any one of the following question: [20]
a)  Explain the Meaning and Importance of Personnel Administration.

b) State the meaning and various types of training.

Q2) Attempt any one of the following question: [20]
a)  Explain the meaning, Feature and functions of civil services.

b) Discuss the meaning, importance and Methods of recruitment.

Q3) Attempt any one of the following question: [20]
a) Explain the meaning and principles of promotion.

b) State the meaning and functions of the Administrative Tribunals.
Q4) Attempt any one of the following question: [20]

a)  Explain the concept and importance of Human Resource Development.

b) State the main features of management in Personnel Administration.

P.T.O



Q5) Write short notes (Any Two):

3)
b)
c)
d)

Benefits of Retirement.
Right to Strike.

Morality in Personnel Administration.

Causes of corruption.

XXXX

[4701]EXt. - 544 2
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Total No. of Questions : 5]

P818
[4701] Ext. - 544

S.Y. B.A. (External)
eh 9T
S-1:RUARl I9TEA
(2013 T2A)

(I3 ®UTAR)

d% : 3 @]
gudr :g 1) @«d gy @igfaun sayas rgd.
2) 3WEtHETA ik  qul qur gVifaara.

[wegor 7gor : 100

g7 1) Wil 9<ht FIvrearEl Tkt TgAel SR ferEn.
A) wHHTUR guTEATET el iUl HEea TUE WL

q) utdreromen red srfor fafay wewr =i,

ugq 2) WIeitel ekt HIUeaTEl Tkt TgATel SR fergn.
) GG Fa=n ek, afvwen enfor & e w0,
q) W oFed, ugea ST agdi == .

g 3) Wreliet G RIvATdl TRt TgATel S forel.
A) T A 3T dcd TAE .
q) UvTEehIE wrETtereRTuTen Hef AUt R |,

[20]

[20]

[20]



97 4) Wreitel Gkt HIUeaTEl TRt TgARl SR forE. [20]
A) AHEa wEeA e gweuat AU Agca TE w1
) FHHAN TIMEATHA SATEATIAT @ At |im.

g7 5) i fomr. (wvreard 3m) [20]
) war fHgde wEe.
) wuTal AR,
®) FHHAN JIEATIA ATdeha.
¥) YWYERER HROT.

XXXX

[4701]Ext. - 544 4



Total No. of Questions : 5] SEAT No. -

P819 [Total No. of Pages : 4
[4701] Ext. - 545
S.Y. B.A. (External)
PUBLICADMINISTRATION
S -2 : Local Self Government of Maharashtra
(2013 Pattern)

Time : 3Hours] [Max. Marks :100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any one of the following questions: [20]
a) Explain the Meaning, Nature and Scope of Local Self Government.
b) State the composition and functions of Zilla Parishad.

Q2) Attempt any one of the following questions: [20]
a) State the composition, powers and functions of Grampanchyat.
b) Explain the composition, powers and functions of Cantonment Boards.

Q3) Attempt any one of the following questions: [20]
a) Explain the composition and functions of Municipal Corporation.
b) Discuss the importance of “‘Gharkul Yojana’ with its failure and success.

Q4) Attempt any one of the following questions: [20]

a) Discuss Mahila Bachatgat Mohim with reference to Women
Empowerment.

b)  Discuss in detail the objectives, nature and importance of Mahatma Gandhi
Tanta Mukti Abhiyan under rural development programme.

P.T.O



Q5) Write short notes (Any Two):

3)
b)
c)
d)

73" Constitutional Amendment.
Balwantrai Mehata Committee.
Functions of Gramsevak.

Causes of Urbanisation.

XXXX

[4701] Ext. - 545 2

[20]



Total No. of Questions : 5]

P819
[4701] Ext. - 545

S.Y. B.A. (External)
AR IR
S - 2 : HENITT AT FE9med
(2013 deA)
(I3 ®WUTAR)
g : 3 am] [wggor 707 : 100

gt :gl) @d FvT TAVAF HIZA.
2) IIAIHSTA sk gul qur gifaara.

g7 1) Wil 9<ht FIvrearEl Tkt TgAel SR ferEn. [20]
A) TATHE TAIMEATEN 3700, TAEY ATUT ATH T H.
q) Fregmftwes = enfor @ |

g7 2) Wil dehl hIUeaTd! Tk TgaTel 7R forgl. [20]

A) YU AT, AAER G HH G,
¥) cheeHHe AN T, ATUHR T wM TE H.

up7 3) Wil dehl hIUeATE! Tk TgaTel 7R forgl. [20]
A) WHEATRUTTRl TAT ATUT hTH T8 .
) WEHA ATHY Tged Y HEA A9 AUAITA A B

97 4) WIeitel il hIveaTgl Tk TgaTel 7R forgl. [20]
A) Eft Aaciihiu=an Hawid Afgen I=d T Aifga=i == .

) U fowTE wEwRAISTATT HETCHTTE de1 Jehl @ qged favg
HEA A 3T 9 TWEY IR G =i w10,

3



g7 5) S forgr. (S g9)
) 73+t g gEEL.

q) SeEaE Wgdl qHIdl.

®) UTHAGHRTE HH,
) Vg HROL.

[4701] Ext. - 545
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Total No. of Questions : 5] SEAT No. -

P1577 [Total No. of Pages : 4
[4701] Ext. - 546

S.Y. B.A. (External)

PSYCHOLOGY
Social Psychology (General Paper - I1)
(2013 Pattern)
Time : 3 Hours] [Max. Marks :100

Instructions :
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer any one of the following questions in 400 words: [20]
a) What is aggression? Explain the forms of aggressions.

b) What is pro-social behaviour? Explain the commitment to socially
responsible behaviour.

02) Answer any one of the following questions in 400 words: [20]

a) Define Communication. Discuss communication process and types of
verbal & non-verbal.

b) Define social psychology. Describe the research areas of pro-social
psychology.

03) Answer any one of the following questions in 400 words: [20]

a)  What is prejudice? Discuss the causes of prejudice.

b) Explain the close relationships.

PTO



04) Answer any one of the following questions in 400 words:

a)

b) Define Compliance. Explain the uses of compliance techniques.

05) Write short notes in 100 words each (Any four):

a)
b)
c)
d)
e)
f)

Define self-concepts. Explain concepts related to self.

Attitude and behaviour.
Co-operation v/s competition.
Child sexual abuse.

Interview.

Levels of social behaviour.

Self-esteem.

7

Q
E
4
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o
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Total No. of Questions : 5]

PAS77 [4701] Ext. - 546

S.Y. B.A. (External)
PSYCHOLOGY
Social Psychology (General Paper - II)

(2013 Pattern)

(ATt TUTAR)
9% ; 3 | [weRur 10T : 100
AT . [) e WA HISU ATEavEs AT,
2) STAIHE 3k YUT IUT geiferaTa.
3) wewiETe! g US U9 Utreht UgTe.

7.1) @refiedsht SIvTeaTdl Teht S9AT™ 3 400 vreera ferar. [20]
3T)  ATSHAHAT FEUTS 1T ? ATShWeh TAWTATY ATThR TISE .
) WAIHE FEUTS 1 ? AHTAIHTE FHe(tel daqaeqar Taee &1,

77.2) Wetterdeht hIvTeTgt Teht T9ATe 3R 400 vrsera fetar. [20]
1) GO saTEat forgl. |uwor Ufsham o SUNume YehR T .
q) AT AHETETEl saredt fgr. armtiie AmEnET=l S e Wi,

7.3) WreiteTaeht hivTeaTgt Teht ST 3w 400 vreeta feret. [20]
) YAUE TEUNS 1T ? YU HIUT TIE L.

q) S ATd HEY TS W

7.4) Wrefiedeht SIvTeaTgl et ST 3R 400 vreera ferer. [20]
A) T HHEYAT FEUN HE ? F-HETUA HheuAT T hl.

) AU SATEAT TAgT. ATUTEATAT TATET ITANT TIE .



».5) gkt 100 vrsema engera feur fergr. (wureamdt = m) [20]

) SAfYrgdt @ Tdq
) ugwE foweg i

SISIS

[4701]Ext. - 546 4



Total No. of Questions : 5] SEAT No. -

P820 [Total No. of Pages : 4
[4701] Ext. - 549
S.Y. B.A. (External)
G - 2: Gandhian Thought

Time : 3 Hours] [Max. Marks :100
Instructions :

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain in detail relation between man and society according to Gandbhiji.
[20]

OR

Explain Gandhian concept of spiritualization of politics.

Q2) Explain and discuss the importance of Gandhiji’s eighteen point constructive
programme of social change. [20]

OR

Explain in detail Gandhiji’s idea of decentralization.

Q3) Explain Gandhiji’s views regarding inter-religious harmony. [20]
OR

Discuss Gandhiji’s views about industrialization.
Q4) Bring out the importance of religious instruction through education. [20]

OR
Explain Gandhiji’s idea of Dignity of labour.

P.T.O



Q5) Write short notes (Any Two): [20]
a) Panchayat Raj.
b)  Untouchability.
c) Satyagraha.
d) Stateless Society.

XXXX

[4701]EXt. - 549 2



Total No. of Questions : 5]

P820
[4701] Ext. - 549
S.Y. B.A. (External)
G - 2 : e foem
(A3 wUaTa)
ae : 3 ard] [ @egor 707 : 100

guar :g1) @d gy wigfaw sravas 3H1z.

2) IIAIHSTA sk gul qur gifaara.
3) w@gwrarst g@ U TIFUHAET qIgral.

g9 1)

g9 2)

97 3)

meficiiean Ta sa<hl enfur Ut amEfter HeY Al T8 . [20]
fRan
e TTHROM™ TR0 GheudT HI.

Tefisiicn AT URadarEsei=n 6T wodl [JuU™e FrREwd T8 FE &=
weea e & [20]

fren
miefisiien fores fosrtum=i weu Ao Ta =

ATRUMT GHATGEGEADT TS gERIA TTE H. [20]
feRan
FREFERIATah eisiear geishiaT adi &



g7 4) hgromem memmma enfie Pieoma wgea fave w5

fRan
mefshie gmufasS<i weuar Tag *1.

ug7 5) efigema du forgn. (et 9i9)
A) UUEd T
q) YT
®) TAUG

g) Usatada au

XXXX

[4701]Ext. - 549 4

[20]

[20]



Total No. of Questions : 5] SEAT No. -

P1578 [Total No. of Pages : 4
[4701] Ext. - 551
S.Y. B.A. (External) (Revised)
HISTORY OF CIVILIZATION
Indian Culture

(2013 Pattern) (General Paper - II)
Time : 3 Hours] [Max. Marks :100
Instructions to the candidates :
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer the following question (any one): [20]

a) Discuss the geographical features of India.

OR
b) Describe the various sources useful for the study of Ancient Indian
Culture.
02) Answer the following question (any one): [20]

a) Explain the teachings of Bhagwan Buddha.

OR
b) Why Gupta period is termed as ‘Golden Age’?

03) Answer the following question (any one): [20]
a) Discuss the origin of Indo-Aryan Languages.
OR

b) What do you know about Buddhist caves in Ancient India?

PT.O



04) Answer the following question (any one):

a)

b) Describe the contribution of Satyashodhak Samg .

Discuss the salient features of Bhakti Movement.

05) Write short notes (any two):

a)
b)
c)
d)

Definition of culture.

Ancient astronomy.

Apabhransha Language.

Sufi Cult.

[4701]Ext. - 551

OR

[20]

[20]



Total No. of Questions : 5]

P1578 [4701] Ext. - 551

S.Y. B.A. (External) (Revised)
HISTORY OF CIVILIZATION
Indian Culture

(2013 Pattern) (General Paper - I1)
(A3t TUTAR)
9% ; 3 | [wegor 701 : 100
oAt : [) W WA HISAul drEavEaes Mg,
2) STATHEA ek YUT TUT gYiferaTd.

gy7 1) wErefier At W forgt. (Fumrdl uew) [20]
) WRATSAT WRNTTeh A TITeeAT=t T ol
Tera
) WA YRAE SEhdIeal A 3ugth ST iy aieEr auik
AT

Ty7 2) Tt geAet W forgt. (Fumardl ue) [20]
) WA FEgret FIrhaur Tt w.
feram
q) TH HAESE AU A H e A ?

g7 3) w@refter ATt W forgt. (Fumardl uew) [20]
A) A - AR (ST - ATEA) WA T o=t .
feran
) T HRATAA Sge SUSieet graTd i Wi oTe ?



T¥7 4) Erefter geAT I forEr. (wivtd ue) [20]
) ufh TBASITAT Seheh ATITSEAT= Tl .
feran
¥) TN THTATS AR FU .

gy7 5) Eur fagr. (FivreEE g9) [20]

SISIS

[4701]Ext. - 551 4



Total No. of Questions : 5] SEAT No. -

P821 [Total No. of Pages : 4
[4701] Ext. - 552
S.Y. B.A. (External)
HOME ECONOMICS
G - 2 : Sociology of Indian Family
(2013 Pattern)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates :-

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer the following questions in 500 words each (any one): [20]
a)  “Study of Sociology” is necessary for astable and better family life why?

b) Describe the function of the Indian family.

Q2) Answer the following questions in 500 words each (any one): [20]
a)  Discuss the merits and demerits of joint family.

b) Explain the primary and basic development of human race.

Q3) Answer the following questions in 500 words each (any one): [20]
a) “Marriage is not a social contract but it is a social bond” Explain.

b) Describe the causes and effects of family disintegration.

Q4) Answer the following questions in 500 words each (any one): [20]

a) Explain the role of government in child and women welfare in Indian
society.

b)  Write an essay on Social Legislation about Marriage and Family in India.

P.T.O



Q5) Write short notes (any two): [20]
a)  Nuclear Family.
b) Types of Marriage.
c) Causes of Family Disorganisation.

d) Importance of Family Welfare.

XXXX

[4701]Ext.-552 2



Total No. of Questions : 5]

P821

[4701] Ext. - 552
S.Y. B.A. (External)
HOME ECONOMICS
G -2 : Sociology of Indian Family
(2013 Pattern)

(FE ®UiaR)

ae : 3 ard] [ @egor 707 : 100
oA cg 1)  §d gy qigfant ey HTEd.

2) IR 3 TYATA gUT T FVIfAAT.
3) w@gwrarst gz FUST gvIUiAEFT ggral.

g9 1)

g9 2)

g9 3)

Wrefier Tt 3R Tkl 500 vrea[ forgt. (SRivardt o) [20]

A) TR MU AIEAT HigfHh SEHTEIS! TS A TEvIH
Mg W ?

) URAE FHAredl HETY qUA HA.

WAt Tyt 3 gt 500 e forgt. (HivmaTdl uen) [20]
) T FeaTAl TUI-GIETE a9l H.
) WG IV MUHE T YA fSwTETe TUEin .

Tt Tyt 3T gt 500 veg forgt. (FivmaTdl uen) [20]
) “‘foarg & U AT IR TET o Uk WIS Sifeeehl e TUE
&,

7) fraa o *Rut a ufiome Fuia w0



g7 4) wifere wgAre IW At 500 e forgr. (vt ueR)

[20]

A) URAE THNTA ST 0T EeheamuTdial smemeit gt s &,
) WRAA foaarg onfur $ga aAfauds AN Ga9IweRr uh Hay

fez.

g7 5) few fomr. (wvreard 3m)

) o FEa

7) fEER ywr

®) Fed fORUTUATI HROI
T) FZd HoAUme Hged

XXXX

[4701]Ext.-552 4
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Total No. of Questions : 5] SEAT No. -

P822 [Total No. of Pages : 12

[4701] Ext. - 553
S.Y. B.A. (External)
DEFENCEAND STRATEGIC STUDIES
D.S.G-2: (A) Military Geography
(2013 Pattern)
Time : 3 Hours] [Max. Marks :100
Instructions :

1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is Geo-strategy? Explain its importance. [20]
OR
State the meaning and scope of Military Geography.

Q2) Explain in detail the concept of Grand-strategy. [20]
OR
State the impact of Geography on Sea Warfare.

Q3) Describe the characteristics and logistics problems in High Altitude area.
[20]

OR

Explain in detail the oil crisis in West Asia.

Q4) Explain in detail the Geo-strategic position and importance of Diego-Garcia.
[20]

OR

Explain in detail the principles of Logistics.

P.T.O



Q5) Write short notes (any two): [20]
a)  Strategy.
b) Military Power as an element of National Power.
c) Strategic importance of Kuwait.
d) Tactics.

XXXX

[4701]EXt. - 553 2



Total No. of Questions : 5]

P822
[4701] Ext. - 553

S.Y. B.A. (External)
GILTUT ATIOT ATHER IS
D.S.G-2: (A) TTShil ST

(2013 T2A)

(I3 ®UTAR)

ae : 3 ard] [@egor 7707 : 100
gedr :gl) @d uv7 @isfan savasw i1z,

2) ITEiRElT i AT QUi T gvifaara.

g 1)  Y-Fgid g wE 7 foe oEed o @ [20]
feRan
TERY AT e SATfUT AT w.

gy7 2) fovme ggifoeh dwcum afoem e . [20]
feRan
I A FGeR TSI SHIE |
o7 3) eifosw v afyred enfon qast soewden wuEn i, [20]
feRan

ufgem ondmETdiel ae God AiEFITd TUE &,

gy7 4) fem-mbtara g-wmies om enfon ugea T w0 [20]
feRan
EeT Il dcd Ao T .



yg7 5) efigwma fow forgn. (i@ 9i9)
) FegHita
q) TR I T AEI A TR UTH
%) FAdA WS HEed
g) SEud

XXXX

[4701]Ext. - 553 4
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Total No. of Questions : 5]

P822
[4701] Ext. - 553
S.Y. B.A. (External)
DEFENCEAND STRATEGIC STUDIES
D.S. G -2:(B) Geo - Politics
(2013 Pattern)
Time : 3 Hours] [Max. Marks :100

Instructions :
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Describe the nature of Geo-Politics.
OR
Describe the theory of Sea Power of Admiral A.T. Mahan.

Q2) Explain the basic elements of Nation.
OR

‘Political Geography is a dynamic science’ Discuss.

Q3) Explain the detail concept of boundaries and frontier.
OR

Describe in detail the Territorial Water.

Q4) What are the problems of Land locked states? Give the solutions.

OR

Describe the Geographical factors affecting war.

[20]

[20]

[20]

[20]



Q5) Write short notes (any two): [20]
a) Importance of wartime Geo-Politics.
b) Political Geography.
c) Boundary.
d) Buffer state.

XXXX

[4701]Ext. - 553 6



Total No. of Questions : 5]

P822
[4701] Ext. - 553

S.Y. B.A. (External)
HITUT IATUT ATHR IS

D.S. G - 2 : (B) {IISI-IAT
(2013 T2A)

(I3 ®UTAR)

ae : 3 ard] [@egor 7707 : 100
gudr :g 1) @«d gy @isfao savas 3H1E.
2) 3IFHIHSTT Tk UvATA qU U FVIfAAIa.

g7 1) gueHiee @y fave w0, [20]
feRan
sfefinet ©d. wgm T ard wxen fagia fave wa.
97 2) U™ YANd Ueh TIY . [20]
feRan

TART WA 3 faa= e g’ == .

gg7 3) T enfor ey = Gweum wferm ToE w. [20]
feRan
TR ST GfeEd Juia &1L

T97 4) AT TP TEEN 9 e U A [20]
e

FGTaR URUTH FHIUT=AT WRNTeTeh geehta quid .



yg7 5) efigwma fow forgn. (i@ 9i9)
) FGHTAA JUSHITO Hged

) TRE YA
®)
g) UM Ik WY
XXX

[4701]Ext. - 553 8
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Total No. of Questions : 5]

P822
[4701] Ext. - 553

S.Y.B.A. (External)
DEFENCE AND STRATEGIC STUDIES
D.S.G-2:(C) Industrial Security

(2013 Pattern)
Time : 3Hours] [Max. Marks :100
Instructions :
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain meaning concept and objectives of Industrial Security. [20]
OR

What is Investigation? How does it take place.

Q2) Describe in brief Industrial Crimes. [20]
OR

Explain in detail Fundamental Rights.

Q3) State the functions of Security Department. [20]
OR

Describe causes and preventive measures of fire.

Q4) State the duties of Chief Security Officer. [20]
OR

State various types of first aid.



Q5) Write short notes (any two): [20]
a)  Security Lighting.
b) First Information Report.
c) Carbon dioxide equipment.

d) Search gate.

XXXX

[4701]Ext. - 553 10



Total No. of Questions :5]

P822
[4701] Ext. - 553

S.Y.B.A. (External)
GILTUT ATIOT ATHER IS
D.S.G-2:(C) Industrial Security

(2013 T2A)

(I3 ®WUTAR)

ae : 3 ard] [@egor 7707 : 100
gudr :g 1) @«d gy @isfaw savas 3H1E.
2) 3IFHIFSTA FF TvATA qU U7 FVIfAAIa.

g7 1)  sirenfies wrern svef, Geweumn enfor 3R we w0 [20]
feRan
<RI TEUTH ™ ? ot HIN kel S ?

uy7 2)  sitenfies SETdiiel Teaie ieeET 9uia . [20]
feRan
AN AN 2ATSFITT FU .

gy 3)  wren fawmmeh ®@ @ [20]

fRan
TN ROl 9 Uldaenciess U™ faue .

11



gy7 4) UHE TR TR S @i
fRan
goHiTere fafay geRr T w0,

gy7 5)  eftesma few fergr. (wivreamdt a1F)
) Y& TRTIT SATAEAT

q) ulgent @R
W) e S SATFATES IUHIUT
g) wSdt w

XXXX

[4701]Ext. - 553 12
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Total No. of Questions : 5] SEAT No. -

P823 [Total No. of Pages : 8
[4701] Ext. - 554
S.Y.B.A. (External)
DEFENCE AND STRATEGIC STUDIES
D.S.S-1:(A) Indian Military System After Independence

(2013 Pattern)
Time : 3Hours] [Max. Marks :100
Instructions :
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explainindetail “Tibet Problem”. [20]
OR

Explain in detail “Siyahchin Problem”.

Q2) Explain the causes and Implication of Kashmir Operation. [20]
OR

Describe the strategic and military lessons of 1971 war.

Q3) Explain the causes of 1965 war. [20]
OR

State the Border Dispute between India-China.

Q4) Explain the post-Independence Military system of India. [20]
OR

Explain the pre-Independence Military system of India.

P.T.O



Q5) Answer in Brief (any two): [20]
a) Issue of J & K.
b)  Nuclear power.
c) Operation Talwar.

d) Indian Missiles.

XXXX

[4701]ExXt. - 554 2



Total No. of Questions : 5]

P823

[4701] Ext. - 554
S.Y.B.A. (External)

DEFENCEAND STRATEGIC STUDIES

D.S.S-1:(A) Indian Military System After Independence

(2013 Pattern)
(I3 ®UTAR)

d% : 3 ad| [wggor 707 : 100
guar :g 1) @«d gy @igfaun sayas rgd.
2) 3IFAIHSTT Sk QUi U Fifaara.
3) @awiarst gz U TyAulA®T ggrEl.
g7 1) e oo afeem e %, [20]
feRan
ferafm awen afoem g w0
99 2) A eI wRO1 3fUr gfumm TUE . [20]
feRan
1971 = gegTe AHRh MU TSR g9 FUH .
97 3) 1965 = FeaTit HROI T A [20]
feRan
URA ST Sweiel HaTaTg T8 &90.
gyq 4) TAEAHGE HRA SR STaee AfeeR T8 . [20]

feRan
AT HRAE TRl Saaedl Aok U8 .



g7 5) eigw™ W forgr (FEd 9h):

XXXX

[4701]Ext. - 554 4

[20]



Total No. of Questions : 5]

P823
[4701] Ext. - 554

S.Y.B.A. (External)
DEFENCEAND STRATEGIC STUDIES
D.S.S-1:(B) Maratha Military System

(2013 Pattern)
Time : 3Hours] [Max. Marks :100
Instructions :
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the third Anglo - Maratha war and its impact on Contemporary
Maharashtra region. [20]

OR

Analyse the role of Jijabai and Dadoji Konddev in making of Shivaji.

Q2) Describe the Shivaji as a Military Leader. [20]
OR

Describe the battle of Pratapgad and explain how it was decisive battle.

Q3) Explain the Campaign of Mirza Raja Jaysingh & treaty of Purendar. [20]
OR

Assess the Shivaji’s raid on Shahistekhan.

Q4) State the strategic importance of Shivaji’s sea forts. [20]
OR

Explain the Organization of Maratha Armed force under Shivaji.



Q5) Answer in Brief (any two): [20]
a) Bajirao-|I.
b) Nanasaheb Peshwa.
c) Santaji & Dhanaji.

d) Rajaram.

XXXX
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Total No. of Questions : 5]

P823

[4701] Ext. - 554
S.Y.B.A. (External)
DEFENCEAND STRATEGIC STUDIES
D.S.S-1:(B) Maratha Military System
(2013 Pattern)

(I3 ®UTAR)

a% : 3 A [wggor 707 : 100
guar :g1) @d gy @igfan sravyas Argd.

2) IIAIHSTA sk gul qur gifaara.
3) w@gwrarst gz FUST gvIUiAEFT ggral.

go7 1) TR SUe-wer geg enfur e dichiie TERISER eiel uRomm wg . [20]
feRan
oSt wERTen SEv-uevidial frereng enfur greieht wieda =i gitew

e .

o7 2) “Torarh ugRet U @SRd Ad 9ol . [20]
fRan
TATRTETAT T@Ed dUiA shed TdTRTSTR T1gTe gt 9l JehR Ush fHutieres
T3S gl ? F TE W
go 3) Tzt safimeh @ifgn enfor gieen @ afeem aviq =0 [20]
feRan
et wErisiea IERREHET geearel JoaHA HA.



TvT 4)  Trarst wgreea g fheeaie Wi WEwd TE L

fRan

P ErTemn FEETTETee FUet A=l uUeAr TWE w.

gg7 5) eigwE SW g (e 3):
A) ufgen S

¥) AHEERS uvE
®) Hared iU AT

g) VAR

XXXX
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Total No. of Questions : 5] SEAT No. -

P824 [Total No. of Pages : 8
[4701] Ext.-555

S.Y.B.A. (External)
DEFENCE AND STRATEGIC STUDIES
D.S.S-2(A) : International Relation

(2013 Pattern)
Time : 3Hours] [Max. Marks :100
Instructions to the candidates :
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the impact of New Cold War on World Politics. [20]
OR

Describe the Realism theory to the study of International Relations.

Q2) Discuss the International Political economy. [20]
OR

Describe the role of Non-Alignment Movement in the end of Cold War.,

Q3) Explain the 1989 changes in East Europe. [20]
OR

Discuss approaches to the study of international relations.

Q4) Describe the New World Order. [20]
OR
What is Cold War? State the nature and scope of the Cold War.

P.T.O



Q5) Write short notes (any two):

3)
b)
c)
d)

GATT.
Disintegration of Soviet Union.

International Law.

New International Economic Order.

XXXX

[4701]Ext.-555 2
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Total No. of Questions : 5]

P824

de : 3 ard|

[4701] Ext.-555
S.Y.B.A. (External)
DEFENCEAND STRATEGIC STUDIES
D.S.S-2(A) : International Relation
(2013 Pattern)

(FTE ®UiaR)

g g 1)  @d gy qigfaut mavas S

2) SISl 37k gul 0T gIfaArd.
3) w@WRYIEISt ez $USH TvAUfAehT UgTat.

[wegor o7 - 100

g9 1)

g9 2)

g9 3)

TR IAGERTen ANTfdeh TARRUMER AT TRUTH T .
feRan

ATAEE T ATHEEddl areqadrg faggia fave w.

‘TAWET TASTehIT rdegaeen’ aer o= &l
feRan
YA AT AfeaTs! deastel qiwet faveg &,

1989 mtfie yd AU STt Sget T .
feRan

AT FHLUTAT FATETEEdA [y gEiewHEEa a<i w1

[20]

[20]

[20]



gyq 4) A ST SgeTd™ quia . [20]
feRan

viiageg U w1 ? vfiageerel T 9 AT |,

ge7 5) R for (Fowd 2A) [20]
H) Te
¥) wifegua gHaaa fawm
®) AW HwE
g) T aWEE ot e

XXXX
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Total No. of Questions : 5]

P824
[4701] Ext.-555

S.Y.B.A. (External)
DEFENCE AND STRATEGIC STUDIES
D.S.S-2(B) : International Security

(2013 Pattern)
Time : 3Hours] [Max. Marks :100
Instructions to the candidates :
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the meaning and effect of Ethnic Conflicts. [20]
OR

Explain the concept of Non-Alignment and state its role in Maintaining
International Security.

Q2) State the nature and effects of Cyber Crimes. [20]
OR

Describe the nature and problems of Arms Control and Disarmament.

Q3) Describe the theory of Detente. [20]
OR

Explain the meaning and concept of National Security.

Q4) Explain the characteristics of Post-Cold War Period. [20]
OR

Explain the various environmental problems.



Q5) Answer in Brief (any two): [20]
a)  Terrorism,
b) Balance of Power.
c) Diplomacy.

d) International Security.

XXXX
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[4701] Ext.-555
S.Y.B.A. (External)
DEFENCEAND STRATEGIC STUDIES
D.S.S-2(B) : International Security
(2013 Pattern)
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Total No. of Questions : 5] SEAT No. -

P1579 [Total No. of Pages : 4
[4701] Ext. - 556
S.Y.B.A. (External)
SOCIAL WORK
(I) Introduction : Fields of Social Work
(IT) Population Education

(2013 Pattern)
Time : 3 Hours] [Max. Marks :100
Instructions :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define and elaborate the concept of Social Work. [20]
OR

State the need of rural welfare.

02) Describe the concept social welfare with examples. [20]
OR
Highlight the concept ‘Population Education & State its need in Higher
Education.
03) Specify the factors affecting population growth in Urban area. [20]

OR

Explain : Growing population & Economic problems.

PTO



04) Specity the status of women in joint family. [20]
OR

State anti-social malpractices in Urban area.

05) Write short notes on any two: [20]
a) Education for Empowerment.
b) Fertility rate & mortality rate.
c) Childlabour in India.

d) Role of Government in Tribal Development.

s,
p
E

\
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Total No. of Questions : 5]

P 1579 [4701] Ext. - 556

S.Y. B.A. (External)
SOCIAL WORK
(I) Introduction : Fields of Social Work
(IT) Population Education

(2013 Pattern)
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Total No. of Questions : 5] SEAT No.

P1311 [Total No. of Pages : 3
[4701]EXxt.-558
S.Y.B.A. (External)
COMMERCE (General - 1)
Business Accounting
(2013 Pattern)

Time : 3Hour] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) What is Book keeping? Describe Rules of Journalising with suitable examples.

[20]
OR
Journalise the following transactions in the books of Madhav.
April 1-  Started business with cash Rs. 1,00,000
April 4- Deposited cash in Bank Account Rs. 10,000
April 5- Paid office Expenses Rs. 5,000
April 6- Received commission Rs. 1,000
April 8- Sold goods of Rs. 5000 to Ram
April 10- Purchased goods for cash Rs. 1,000

April 14- Withdrew cash for personal use  Rs. 2,000

April 20- Paid salary to sham Rs. 1,000

P.T.O.



Q2) Prepare cash book with cash and Bank column in the Books of Mr. Tejas.[20]

Oct.1-  Cash Balance Rs. 20,000 Bank
Balance Rs. 10,000
Oct.3-  Paid for Printing Rs. 7,000
Oct.8-  Cash sales Rs. 23,000
Oct.9-  Cash purchases Rs. 26,000
Oct.-10- Paid for cartage Rs. 1,000
Oct. 12- Paid telephone bill Rs. 4,000
Oct. 15- Received cash Rs. 5,000  from Abhay.
Oct.17- Deposited cash into bank Rs. 10,000
OR

Describe various types of Subsidiary books.

Q3) Write a note on profit and Loss Account and on Balance Sheet. [20]
OR

Prepare profit and Loss Account and Balance Sheet from the following for
the year Dec. 2013.

Trial Balance
Particulars Debit Credit
Capital - 20,000
Debtors 5,400 -
Drawing 1,800 -
Machinery 7,000 -
Creditors - 2,800
Wages 10,000 -
Purchases 19,000 -
Opening Stock 4,000 -
Bank Balance 3,000 -
Carriage 300 -
Salary 400 -
Rent 900 -
Sales - 29,000
51,800 51,800

[4701]Ext.-558 2



Additional information

a) Closing stock Rs. 1,200

b) Outstanding Rent Rs. 100

c) Depreciate 10% on machinery.
d) Prepaid wages Rs. 400.

Q4) State the objectives of Cost Accounting and limitations of Financial Accounting.

[20]
OR
Prepare store ledger Account on the basis of FIFO method.
April 1-  Opening Balance 100 Qty @ Rs. 20.
April 5-  Purchased Material 200 Qty @ Rs. 15.
April 6- Purchased Material 50 Qty @ Rs. 10.
April 8- Issued 100 Qty.
April 9- Purchased Material 100 Qty @ Rs. 17.
April 20 - Issued 200 Qty
April 22 - Purchased Material 200 Qty @ Rs. 22.
April 30- Issued 150 Qty.
Q5) Write Short Notes on (Any four) : [20]
a) Ledger.

b)  Utility of Book Keeping.

c) Methods of Time Keeping.
d) Steps in purchase procedure.
e) Types of overheads.

f)  Petty cash book.
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Total No. of Questions : 5] SEAT No. -

P825 [Total No. of Pages : 4
[4701] Ext. - 559
S.Y. B.A. (External)
G-2:EDUCATION

(2013 Pattern)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Answer any one question in 500 words: [20]

a) What is Secondary Education? What are the problems in Secondary
Education? Suggest remedies to overcome these problems.

b) What is Heredity? Explain the educational importance of Heredity and
Environment.

Q2) Answer any one question in 500 words: [20]
a) Explain in detail Mahatma Gandhij’s Basic Education System.

b) Whatis forgetting? What are the causes of forgetting? Suggest the remedies
to overcome the problem of forgetting.

Q3) Answer any one question in 500 words: [20]

a)  What is Insight Learning? Describe the merits and limitations of Insight
Learning.

b) “School is a social institute’. Explain the statement.

P.T.O



Q4) Answer any one question in 500 words: [20]

a) ‘Adolescence stage - period of storm’. Explain.

b) What is Vocational Education? Explain the importance of Vocational
Education.

Q5) Answer the following questions in 200-250 words each (Any Two): [20]
a) Thorndike’s Laws of Learning.
b) Stages of Memory Process.
c) Social Heredity.
d) Sakhar Shala.

XXXX
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Total No. of Questions : 5] SEAT No.

P826 [Total No. of Pages : 4
[4701] Ext. - 561

S.Y.B.A. (External)
MATHEMATICALSTATISTICS (General - II)
Discrete Probability Distributions, Statistical Methods & R - Software
(2013 Pattern)

Time : 3 Hours] [Max. Marks :100
Instructions :

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Use of calculator and statistical tables is allowed.

4)  Graph papers will be provided on request.

Q1) Attempt the following:
a) State whether the following statements are true or false: [1 each]
i)  The command >? help, in R-software is used to get help.
i) Record of daily prices of gold is an example of time series.
iii) In NBD, mean is equal to variance.

iv) The covariance between any two variables in multinomial distribution
is positive.

v)  Multiple correlation coefficient lies between —1 to +1.
b) Choose correct alternative for each of the following;: [1 each]
i)  The distribution of sum of i.i.d. geometric r.v.s. is:
1) Binomial 2)  Uniform

3) Poisson 4)  Negative-binomial

PTO



ii) The command in R-software as > seq () used to:

1) endR 2) quitR

3) startR 4) create a sequence
iii) The partial correlation coefficient lies in the interval:

1) [0 1] 2) (01

3) [-11] 4 1D

iv) The difference between actual and estimated value of response
variable is known as:

1) Yield 2) Residual
3) Correlation 4)  None of these

v) TestingH : p=p, againstH : p#p, is:

1) righttailed 2) lefttailed
3) twotailed 4) none of these
c) Define the following terms: [2 each]

i)  Time series.

i)  Truncated distribution.
iii) Multiple correlation.
iv) Level of significance.

v) Vital statistics.

02) Attempt any four of the following;: [4 x 5 =20]
a) Derive m.g.f. of the Negative Binomial distribution with parameters k
and p.

b) Define truncated poisson distribution. Obtain the mean of it.
c)  Write the output of following commands in R-programme:
i) >z=c(3,5,6,8)

>y=z+2
i) >z=seq(-1,2,by=0.5)
>y=2%z

d) Write a note on R-software.
e) Obtain the mgf of multinomial distribution.

f) Ifr,=0.7,r,=r,=0.4 then compute R ,andr_,

13
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03) Attempt any four of the following: [4 X § =20]

a)  With usual notations, describe a large sample test for testing H, : P, =P,
against H, : P, # P,. Use 5% level of significance l.0.s.).

b) A quality control supervisor inspects the lot. The previous experience
shows that 10% items are rejectable, 80% items are acceptable and 10%
items are acceptable after rework. Suppose a lot 15 items is submitted
for inspection. Find the probability that 2 items are rejectable, 8 are
acceptable and 5 needs to be reworked.

c) What is time series? State various models of time series.

d) Under certain conditions (to be stated), prove the Poisson approximation
to NBD.

e) Show that the marginal distribution of multinomial distribution is binomial.

f)  Describe moving average method of estimation of trend in time series.

04) Attempt any two of the following: [2 x 10 = 20]

a) Obtain the equation of regression model for trivariate data by method of
least square.

b) Define the following terms:

i) A statistic, i) level of significance,
ii) a hypothesis, iv) critical region.
c) 1)  Compute crude death rates for population A and population B given
below:
Age group Population A Population B
Population | Deaths Population | Deaths

Below 10 900 12 800 32
10-20 1500 8 3000 12
20-60 4500 38 4800 48
Above 60 600 30 1400 42

if)

Comment on your result.

Write a note on demographic ratios in vital statistics.

d) Define the partial correlation coefficient. Obtain the expression of r,
interms of total correlation coefficient.
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05) Attempt any one of the following;: [1 x20=20]

a) 1) A T.V. repairman finds that the time spent on his job follows
exponential distribution with mean of 30 minutes. If he repairs sets
in order in which they came in, and if the arrival of sets follows a
Poisson distribution with an average rate of 10 per 8 hrs day.
Calculate:

1) The expected number of TV sets in the system.
2) The expected waiting time in the queue.
[6]
ii)  Describe the procedure to draw a sample by SRSWR and SRSWOR

using R - software. [6]
iii) Compute GFR, ASFR and TFR for the following data: [8]

Age group Number of women Number of births

15-19 24000 800

20-24 20000 2400

25-29 15000 2000

30-34 12000 600

35-39 6000 120

40-44 4000 10

b) 1) Define confidence interval. State the two sided confidence interval
for population mean K with 95% confidence coefficient. [6]

i)  Explain the use of R-software in F-test. [6]

i) A random sample of 400 persons from country A gave mean height
170 cm. Another sample of 800 persons from country B gave mean
height 178 cm. The population standard deviations are 6 cm and
8 cm respectively. Test the hypothesis that persons in country B
are taller than those of A. Use 5% level of significance. [8]

&
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Total No. of Questions: 5] SEAT No. -

P 827 [Total No. of Pages: 2

[4701] - Ext. - 562

S.Y. B.A. (External)
ENGLISH (General -11)

Sudy of English Languageand Literature

(2013 Pattern) (Paper - 11)

Time: 3Hoursg| [Max. Marks: 100
Texts Prescribed :
1) Rainbow: A collection of short stories.
Ed. Board of Editors, Orient Blackswan.
2) Linguistic: AnIntroduction
Ed. Board of Editors, Orient Blackswan.
Instructionsto the candidates: -
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) @ Attempt any one of the following in about 100 words each : [10]
)  Write anote on Plato's theory of Mimesis.
i)  Write anote on short-story as aform of literature.
b) Attempt any one of the following in about 100 words each : [10]
1)  Explainthe central ideaof the story ‘ The Bet'.

i) State and explain the three questions mentioned in the story 'The
Three Questions.

Q2) Write short notes on any four of the following : [20]
a Word Stress.
b) Front Vowelsin English.
c) Consonantsin English.
d) Minima Pairs.
e) Placesof Articulation.
f)  Usesof falling Fone.

P.T.O.



Q3) Attempt any two of the following in about 100 words each : [20]
a Bring out the supernatural element in the story ‘ The Open Window’ .
b) Comment on thetitle of the story ‘ After Twenty Years'.
c) Comment on the Signal Man as the Protagonist of the story ‘ The Signal
Man'.

d) Explain‘Lawley Road’ asahumourous story.

Q4) Write notes on any two of the following in about 100 words each : [20]
a) Process of Prefixation.
b) Morphemes and Allomorphs.
c) Types of Bound Morphemes.
d) Morphology as abranch of Linguistics.

Q5) Write notes on any two of the following in about 100 words each : [20]
d CodeMixing.
b) Typesof Style.
C) Regiger.
d) Magjorfeaturesof Indian English.

+4+++
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Total No. of Questions: 5] SEAT No. -

P 828 [Total No. of Pages: 2

[4701] - Ext. - 563
S.Y. B.A. (External)
ENGLISH (Special Paper - 1)
Appreciating Drama

(2013 Pattern)

Text Prescribed :
1) The Merchant of Venice by William Shakespeare
2) A Doll’'sHouse by Henrik Ibsen

3) Old Sone Mansion by Mahesh Elkunchwar

Time: 3Hourg| [Max. Marks: 100
I nstructionsto the candidates: -

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any four of the following questions : [20]
ad Explainround and flat charactersin Drama. Give examples.
b) Definecomedy. Give examples.
c) Explaintheterm setting’ . Give examples.
d) Whatisdramatic conflict? Mention itstypes with examples.
e) Comment on ‘theme’ asan element of drama.
f)  Explaintheterm 'tragic hero' with suitable examples.

Q2) Attempt any one of the following questions: [20]
a Write anote on the plot structure of The Merchant of Veenice.

b) Justify theview “ Shylock ismore sinned against than sinning”.

Q3) Attempt any two of thefollowing questions: [20]
ad Comment on the significance of thetitle A Doll’s House.
b) Bring out theimportance of Nils Krogstad in A Doll’'s House.
c) Discussthe theme of marriage as presented by Ibsen in A Doll’'s House.

P.T.O.



Q4) Attempt any two of thefollowing questions: [20]

a Old Stone Mansion is not asimple family drama; it is more than that, a
document of social change, political change. Comment.

b) How doesthe play Old Sone Mansion present the theme of illusion and
redity?

c) Draw acharacter sketch of Vahini.
Q5) Attempt any eight of the following questions: [20]
a Write abrief note on the use of stage propertiesin Old Sone Mansion.
b) How does Mahesh Elkunchwar use humour and pathos in the play Old
Sone Mansion?

c) Mentiontheflat charactersin The Merchant of Venice.

d) Whatisthe symbolic significance of “palanquin” in Old Sone Mansion?

€) Does Shakespeare observe unity of time in The Merchant of Venice?
Explaininbrief.

f)  Discussthe significance of thetrial scenein The Merchant of Venice.

g Comment on humour in The Merchant of Venice.

h) What isthe climax in ADoll’'s House?

1)  Write anote on the symbolsused in A Doll’'s House.

)  Whatistheroleof ChristineLindein ADoll’'s House?

K) Who isthe protagonist in A Doll’s House? Why?

)  What isthe theme of The Merchant of Venice?

S+
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Total No. of Questions: 5] SEAT No. -

P 829 [Total No. of Pages: 3
[4701] Ext. - 564

S.Y. B.A. (External)
ENGL|SH (Special Paper - 11)

Appreciating Poetry
(2013 Pattern)

Text Prescribed : Auroral Musings
Time: 3Hourg| [Max. Marks: 100
I nstructions to the candidates: -
1) All questions are compulsory.
2) Figuresto the right indicate full marks.

Q1) Answer any four of thefollowing : [20]
ad Bring out the significance of the words ‘light’ and ‘talent’ in Milton's
“On HisBlindness”.
b) Explainthemathematical conceit of parallel [inesusedin“The Definition
of Love'.

c) Describe the metaphor of besieged town in “Batter My Heart”.

d) Examine“On HisBlindness’ asapetrarchan Sonnet.

€) Describethe setting in Gray’s “Ode on the Death of a Favourite Cat”.
f)  Bringoutalusionsin Marvell’s“The Coronet”.

Q2) Answer any four of thefollowing : [20]
a Bring out the power of music in “Alexander's Feast” ?
b) Discuss Donne's“Broken Heart” as an love poem with a difference.
c) Consider“Thelnvocation” asapoem conveying Milton's Christian faith.
d) Comment on the sound and sight imagery in “The Blessed Damozel”.

e) Bring out the ‘mock’ element of the ‘Toilet Scene’ from Pope’s
The Rape of the Lock.

f)  What isthe poet’s appeal to the west wind?

P.T.O.



Q3) Answer any two of thefollowing :
What do you understand by ‘Romantic Poetry’? Discuss its chief

a)

b)
c)

characteristics.

[20]

What is‘lyric’ ? Discuss the qualities of aperfect lyric with examples,

Discussthe chief characteristics of Victorian period and itsimpact on the

poetry of that period.

Q4) Answer any two of thefollowing :

a)
b)

c)

Q5) Explainwith referenceto the context any four of thefollowing :

a)

b)

Discuss Gray’s “On the Death of a Favourite Cat” as an elegy.

[20]

Does Hardy’s “The Oxen” support superstition. Support your answer

withvalid arguments.

Bring out the symbolism used in Yeats' s “ Sailing to Byzantium”.

Drive my dead thoughts over the universe
Likewithered leavesto quicken anew birth!

And, by the incantation of thisverse,
Scatter, asfrom an unextinguished hearth
Ashes and Sparks, my words among mankind!

Oh gir, she smiled, no doubt,

Whene' er | passed her; but who passed without
Much the same smile? This grew; | gave commands;
Then all smiles stopped together.

If someone said on Christmas Eve,
“Come; see the oxen knedl,

“In the lonely barton by yonder coomb
Our childhood used to know,”

| should go with him in the gloom,
Hoping it might be so.

[4701] Ext. - 564 2
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d) O sagesstandingin God's holy fire
Asin the gold mosaic of awall,
Comefromthe holy fire, pernein agyre,
And be the singing-masters of my soul.

€) Theyreckonill wholeave meout;
When methey fly, | am thewings;
| am the doubter and the doulbt,
| am the hymn the Brahmin sings.

f)  Sincethen- ‘tis Centuries - and yet
Feels shorter than the Day
| first surmised the Horse's Heads
Weretoward Eternity.

+4+++
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Total No. of Questions : 5] SEAT No.
P1580

[Total No. of Pages : 3
[4701] Ext. - 566

S.Y.B.A. (External)

MATHEMATICS
MG - 2 : Discrete Mathematics and Linear Algebra
(2013 Pattern)
Time : 3 Hours] [Max. Marks :100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Attempt each of the following: [20]

a) State the converse of the conditional statement : “If it snows today, I will
Ski tomorrow”.

b) Construct a truth table for (pVvq)—g¢.

c) Let P(x) denote the statement “x<4”. What are the truth values of P(4)
and P(6)?

d) How many ways are there to select a captain and a Vice Captain from 15
members of a cricket team?

e) How many elements are in A; UA, if there are 12 elements in A , 18
elements in A and 6 elementsin A; NA,?

f)  Determine whether the set W = {(x, y) | x = 2y} is a subspace of R?.

g) Find the angle between the vectors (1, 1, 0) and (-1, 2, 1) with respect to
usual inner product.

h) Let T:R?— R? be defined as T(x, y) = (x, 1). Is T a linear transformation?

i) Let A:[_l 213 4] . Let T:R®— R? bealinear transformation

0O 02 -10 '

such that Tx = Ax. Compute T (1, 0, -1, 3, 0).

j)  Suppose U, V and W are vectors in a inner product space such that

(UV)=2(V,W)=—3,(UW)=5u|=L|v|=2]w|=7.
Evaluate (U+V,V+W ).

PT.O



02) Attempt any four out of six: [20]

a) Showthat p \/(q A r) and ( pVvq )/\( pvV r) are logically equivalent.

b)  Write negations of
i) VX<x2> x) :
ii) 3x<x2 = z) :

c) Give a direct proof that if m and » are both perfect squares, then mn is
also a perfect square.

d) Prove that the number of different permutations of »n objects, where
there are n, identical objects of type 1, n, identical objects of type 2,

n!

---, n, identical objects of type R is equal to nInl—— —ng!"

e) How many solutions does the equation x, +x, + x, = 11 have, where
x,, X, and x, are nonnegative integers?

f)  Translate the statement “The sum of two positive integers is always
positive” into a logical expression.

03) Attempt any two of the following;: [20]

a) In a survey of 270 college students, it is found that 64 like brussels
sprouts, 94 likes, broccoli, 58 like Cauliflower, 26 like both brussels
sprouts and broccoli, 28 like both brussels sprouts and Cauliflower, 22
like both broccoli and Cauliflower and 14 like all three vegetables. How
many students do not like any of these vegetables?

b) A Coin is flipped 10 times where each flip comes up either heads or
tails. How many possible outcomes.
i)  Arethere in total.
ii)  Contain exactly two heads.
iii) Contain atmost three tails.
iv) Contain the same number of heads and tails.

c) Show that if » is an integer and »°* + 5 is odd, then 7 is even using

i)  a proof by contraposition.

i) a proof by contradiction.
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04) Attempt any four of the following: [20]

a) If U and V are any two orthogonal vectors in a real inner product
space, then prove that HL_J +\_/H2 :HL_JHZ —I—H\_/H2 .

b) IfT: R®— R? isa linear transformation given by
T(x,y,2)=(Xx+y—2,x—2y+2,—2Xx—2y+2z2), then find basis and
dimension of Ker T.

c) Show that the set B={1—|— 2X+X%,2+X,1— X-|—2X2} is a basis for P..

d) If W, and W, are subspaces of a Vector space V, then prove that
W, + W, is a subspace of V.

e) IfS=(v,v,--,v }isan orthogonal set of non-zero vectors in an inner
product space, then prove that S is linearly independent.

f) Let T:R*->R? be a linear transformation defined as
T(X,y,2)=(X+y+2z,y+2). Find the matrix A of T with respect to
standard basis of R*> and R?.

05) Attempt any two of the following: [20]

a) Provethatalinear transformation T:V — W is non-singular if and only if
the set {T(Ul),T(Uz),———,T(Un)} is a basis of W whenever the set
{Ul,Uz,———,Un} 1s a basis of V.

b) Let R have the Euclidean inner product. Use Gram-Schmidt Process to
convert the basisB={(1,0, 1), (-1, 1, 0), (-3, 2, 0)} into an orthonormal
basis.

c) LetV be a n-dimensional vector space. Then prove that

i)  Any linearly independent subset of V with # elements is a basis.

i)  Any subset of V with n elements which spans V is a basis.

Y74 V74 V74
;?g ¢ ;g’g
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I nstructions to the candidates: -
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator and statistical table is allowed.
4)  Symbols have their usual meanings.

Q1) Attempt thefollowing:
a State whether the following statementsaretrue (T) or false (F) :
[1 mark each]
) Poissondistribution isa syriipnetric distribution.
i)  Modeof Binomial distributionisunique.
i)  Expected value of a constant is zero.
iv) If A"and B' are independent, then A and B are independent.

v) If P(A) = 0.4, P(B) = 0.3 then P(ANB) must be greater than or
equal to 0.7.
b) Choose correct alternativesfor the following : [1 mark each]
) A random variable X takesvalues 1, 2, 3with P(X =1) = 0.2 and
E(X) =22thenP(X =2) is:
A) 05 B) 0.1
C) 03 D) 04

i) Larger thevaue of then better isthe:

A) Linear relation between X, X, and X...
B) Curvilinear relationship.

C) Linear relation between X and X..

D) Linear relation between X and X...

P.T.O.



iii) Let X, and X, be independent poisson variates then Z = X, + X,
followswhich of thefollowing distribution :
A) Binomid B) Poisson
C) Uniform D) None of the above

IV)  Nine persons sit for a photograph in a row. The probability that a
family of three always sitstogether is:

A) B)

C) D)
v)  Which of thefollowing statement istrue?
A) B) P(A|B)=P(A)

C) P(A[B)<P(A) D) None of the above

Answerinbrief : [2 marks each]

1)  Explain concept of independence of two events.

i) Statetheadditive property of Binomial distribution.

i)  What arethelimitationsof classical definition of Probability.

Iv) StatetheAutoregression model of time seriesand explain theterms
involvedinit.

v) Define: Permutation and %%}%ia&)

Q2) Attempt any four of thefollowing : [4 x 5=20]

a)
b)
c)

d)

f)

Find the total number of 3 digit numbers that can be formed from 6
digits 2, 3, 5, 6, 7 and 9. How many of these are less than 4007?

A random variable X follows binomial distribution with parameters n
andp. If p=0.6 E(X) =6, find nand V(X).

Explainthe concept of conditional probability distributionsin respect of
bivariate probability distribution.

Explainwith oneillustration each:

)  Complementary event,

i)  Mutualy exclusiveevents.

Explainin brief the seasonal component of time serieswith illustration.
Define conditional probability also state the multiplication theorem on

P(ANB).
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Q3) Attempt any four of thefollowing : [4 x 5=20]

a)

b)

f)

Thefollowing isthe probability distribution of random variable X :

X 0 1 2 3 | 4

P(X=x)| 005|015| 0.20| 0.35|0.25

Obtain the distribution function of X and also compute V(2X + 5).
Define adiscrete uniform distribution. State its mean and variance. State
any tworeal lifesituationswhereit isapplied.

Explainthefollowing terms:

)  Total Fertility Rate (TFR).

i)  Gross Reproduction Rate. (GRR).

Explain pair-wise independence and compl ete independence in case of
three events.

A taxy-cab firm has 10 taxy-cabswhich can be hired in aday. The demand
for taxy-cabs on each day is a Poisson variate with mean 6. Find the
probability that on agiven day :

1)  No taxy-cab is demanded,

i) All the taxy-cabs are demanded.

Explain the concept of multiple and partial correlation with suitable
Ilustration.

Q4) Attempt any two of thefollowing: _ [2 x 10 = 20]

a)

b)

d)

The mean, standard deviation a®tl correlation coefficients obtained for
three characteristics X, X, and X, are given below :

=6.8 =10  r,=060
=70 =080 r,=0.70

=74 =90 r,=065

) Obtain the equation of plane of regression of X, on X, and X..
i) Estimate X, when X, =8.0and X, =72.
Explain the procedure of estimating trend by the method of least square.
Explainthefollowing terms:
)  Crude Death Rate (CDR),
i)  Age-Specific Death Rate (ASDR),
i)  Standardized Death Rate. (STDR),
Thejoint p.m.f. of X and Y is
P(x,y)= C(2x+ 3y), x=0,1,2
y=123
= 0 othewise
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Find

I)  themarginal probabilitiesof X and,
i)  theconditional probability of X givenY =2
i) correlation between X and Y.
Q5) Attempt any one of thefollowing : [1 x 20 = 20]
ad 1) Let A and B be two events defined on Q. If P(A) = 0.4,
= 0.7 and P(B) = p, find the value of p if A and B are
A) mutudly exclusve, B) independent. [5]
i)  Definecumulative probability distribution of adiscreter.v. and state
itsimportant properties. [7]
i) Define : Multiple correlation coefficient and partial correlation
coefficient. [4]
Iv) State the axioms of probability. [4]
b) 1) Thejoint probability distribution of X andY is: [8]
Y
X 0 1 2
-1 0
1
Calculate AUB)
A) PX=1]Y=0)and =1|X=-1)
B) E[YX=-]]
C) V(X|y=1)
i)  Given the following data, compute GF.R, A.SER, T.ER, GR.R.

and NRR, assuming sex ratio at birth as 105 malesto 100 females.

[12]

Age No. of women No. of Surviva

in 1000 births factor
15-19 510 25000 0.969
20-24 440 79650 0.967
25-29 360 63930 0.963
30-34 350 31000 0.958
35-39 340 17000 0.952
40-44 370 6130 0.942
45-49 330 340 0.928

+4+ 4+
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Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) a) Explain the nature of a Formal Deductive system. What are the attributes
of a deductive system? [10]

b) Prove the following Theorems with the help of the Axioms given below :

Axioms : [10]
D (pva)op
i) p>(pva)

i) (pvag)>(qv p)
iv) (pv(qu)):)(qv(pvr))
v) (qor)o((pva)>(pvr))
Theorems :
1) p>p
2) (p2(@>or)o(gq>o(por))
OR

a) Explain the difference between singular and general propositions. Give
examples. Explain the symbolization of the traditional A, E, I, O
propositions in predicate logic.

PTO.



b)

Q2) 2)

b)

b)

Symbolize the following propositions with the help of the symbols in
brackets.

i)  Reporters are present.
(Rx : x is a reporter Px : x is present).

i)  Diplomats are not always rich.
(Dx : x is a diplomat. Rx : x is rich).

iii) The common cold is never fatal.
(Cx:xisacold. Fx : x is fatal).

iv)  None but the brave deserve the fair.
(Bx : x is brave. Fx : x deserves fair).

v) To swim is to be penguin.
(Sx : x swims. Px : x is a penguin).

Why do we need the quantificational rules? Explain the preliminary version
of'the universal Instantiation (U.I.) with an example. [10]

Prove the validity of the following arguments : [10]
) (X)(MxDNXx)
(IX)(MX.Ox) /... (3x) (Ox.Nx)
i) (X)(Dx >~ EXx)
(X)(FX D EX) /.. (X)(Fx o~ Dx)
OR

Explain the method of proving invalidity of the invalid quantificational
arguments.

Prove the invalidity of the following arguments.
) (X)(SXD~Tx)

(X)(Tx D> Ux) /.. (3x) (Ux.~SX.)
i)  (X)(Gx 2 HXx)

(3X)(Ix.HX) /... (IX)(CX. IX)
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03) a)

b)

b)

04) a)

b)

State the difference between a singly general proposition and a multiply
general proposition. Give examples. [10]

Symbolize the following propositions using the given symbols.  [10]

i)  Ifall dogs are carnivorous, then moti is carnivorous.
(Dx : x is adog. Cx : x is carnivorous, m - moti)

i)  If something is wrong then it should be rectified.
(Wx : x is wrong. Rx : x should be rectified)

i) If something is missing then if nobody calls the police it will not be
recovered.
(Mx : x 1s missing. Px : x is a person. Cx : X is a police Rx : X is
recovered)

iv) If any bananas are yellow, then some bananas are ripe.
(Bx : xisabanana. Yx : x is yellow. Rx : X is ripe.)

v) Ifthere are any Poets, then all philosophers are poets.
(Px : x is a poet. Tx : x is a philosopher)

OR
Explain the need for revised quantificational rules. Give examples.
Prove the validity of the following arguments.

)  (X)(Hx > Mx) /..Hs> (3x) (HX.Mx)
i)  (@X)XxD(Y)(YyD2Zy) /. .(3x) (XXYX) D (Ty)(Xy.Zy)

Explain the structure of relational proposition. What are the kinds of

relational proposition? Give examples. [10]
Symbolize the following propositions with the help of the symbols in the
brackets. [10]

i)  Johnistaller than Andrew.
(Txy : x is taller than y. J - John. a - andrew)
i)  Chicago is between Newyork and sanfrancisco
(C : chicago, N : Newyork, S : Sanfrancisco, Bxyz : x is between
y and z)
i) Everything attracts everything.
(Axy : x attracts y)
iv) Every cloud has a silver lining.
(Ax:xissilver Kx : x is lining. Bxy : x belongs toy. Cx : x is a cloud)
v)  Good men have always friends.
(Gx : x is good. Mx : x is man. Fxy : x is friend of'y.)
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OR
a) Explain the nature of relation of Identity. Give versions of the rule of
Identity.
b) Prove the validity of the following arguments

) (@X)Mx. (y)(My D Dyx) /... (3X)(Mx.Dxx)
i) (X)(Px2(Ey)Fyx)
(X)(Y)(Fyx D Lyx) /.. (X)(Px D (3y)Lyx)

05) Write short notes : (Any Four) [20]
a) Preliminary version of the rule of E.G.
b) Enthymemecal Arguments.
¢) Quantificational ‘square of opposition’.
d) Free and bound variables.
e) Attributes of dyadic relation.

f)  Axiomatic system.
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AITST FATAR

[zzgor 7or : 100
qd ToT qigao ATavaeE HIEd.
ITEIHEIT Tk QU T FIIfaara.
q&@ 3UST ToTIIAHT TETA.

97 1) 1)

)

SATRTNEh RTHI-Eh JUTE WY T &1, FTHIH JuTedre ot sora ? [10]
TTefe T ferel JenaR amued faeg &, [10]
AR :
) (pvag)op
M p>(pva)
i) (pva)>(qvp)
iv) (pv(avr)o(av(pvr))
v) (@>r)>((pva)o(pvr))
ud
) pP>p
i) (p>2(@>r)>(@>(por))
Tepan
TehdTet T T faTATdier Wieh Tate o, 3grgdur =, urares A, E, |,
O =t faamTerr= faga adhvmaTde g Tue .



7 2) )

Treiter faamm wam foaet e T g =,

i) aTaiER Sufea SITed.

(RX : X g1 aratgr Px : x Sufeera amz.)
i) TR AgHt sfiua STHaTa 3 AT,

(D X : X g1 =it RX @ X sfiHa og.)
iii) gt 9dl grenTeEs HeiE T9d.

(CX : x JgHT=it =i, FX : X Ureh1ereh)
iV) e IR TR aefi|uT SrEaTd.

(BX : X 3. FX : X agfiaum)
V) gl Tgu ufte g

(SX : x Uigatr. Px : x ufeq amg.)

TEATIRTT FHEmT= T SATIEATeT St HiEd ? |rafires sergeieror (U. 1)
71 femTe iyt erTadt Tuse . [10]
Wl AT JehaT faeg & ¢ [10]
) (X)(Mx2NX)

(3x)(Mx.0X)/ .-, (3x) (Ox.Nx)
i)  (X)(Dx>~EX)

(X)(Fx D EX)/ ... (X)(Fx o~ Dx)

foRan

TEATIHTT Th JhaTgrel Tgwhal e weuarTel Uegdl Tase .
WTelter ghargral STgwhdl ¥eg .
) (X)(SXD~TX)

(X)(Tx 2 Ux)/ .~. (3x) (Ux.~Sx.)
ii)  (X)(Gx D HXx)

(3IX)(IX.HX) / .-. (3IX)(CX. IX)
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97 3) )

THATHTEETE § SgaTHFIET ST Wieh 31Ul g3 Tuee . [10]
et faume el fomg aoes fomgre . [10]
) R A FI AEVLE A, T WAt WEHLTR .
(Dx : x 1. CX : X WiEWeeh M - Hid. )
i) R & fousa o/fe, WA & ool Ui,
(Wx : x forargeret RX ; X g&&a el UTfest).
iii) R FEEd Tad WA, T TR FHUE GieTd defael g, @@ o
HIUSUTR ATEL.
(MX : X gaa. Px : x sa=ht. CX : X ifer®. RX : X Am9Eat.)
iV) R Tt hedt Tuaest e, aX STEl et fusherelt STdeie.
(BX : X &ed. RX : X Ui, Yx : x fua=)
V) TR RV wel AEdie. T Td deaT el AT,
(Px : x&wet. TX : X aH)

e
e famrea gutia g TS 1 WTEd ? e 35 |,
Wit Jrerargrt gehal fieg .
)  (X)(Hx>Mx)/..Hs>D (3x) (HX.MXx)
i)  (AX)XxD(Y)YyD2Zy)/..(3X) (XxX.YX) D (Ty)(Xy.Zy)

FEYET Tt AT T T, Tereare feremmer Tehr ShiuTd ? 3erewor am. [10]
Tretter faamre feeett fag aues g &, [10]
) S SirgueT 39 o,

(Txy : X, y e 320 ame. J &, a- 3fg)
i) TorRRTl =gt T HAIehAT 7Y TR,

(Bxyz:xya zeamug g, C- frewmm, N - =qaieh, S - Havhi=aht)
iii) e TSe T M AT wid.

(AXy : X y & Teh¥d Hd. )
V) T ST | e A,

(Cx:x=m AX : x|, Kx @ X & @ws. Bxy : x, y <t amg.)
V) ORTedn W AgHe e e,

(Gx : x wmTet. Mx : X |, Fxy : xy = fus)
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e
) AR HEUT™ TEEY T H 9 q1eed Haurei 9 9n.
) WA Fhargrl Jehal faeg w.
) (AX)Mx. (y)(My 2 Dyx) /... (@X)(Mx.Dxx)
i) (X)(Px>(3y)Fyx)
(X)(Y)(Fyx 2 Lyx) /.. (X)(Px 2 (Jy)Lyx)

97 5) @refter ot fergr. (wioremdl =m) [20]
ar) E. G. =t fawmt mufus eirex.
¥) e
®)  wEAuh faam - foe.
g) {7 ST qEEER.
) o weom oren.
W) SSIH T,

SISIS
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Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1)A) Traduisez en anglais [10]
Neuf frangais sur dix passent leurs vacances en France,

Meétropole (home country) et DOM-TOM. Les 10% qui partent

a I’étranger se rendent majoritairement en Europe (Espagne,

Ttalie), puis en Tunisie et au Maroc. Cette proportion de

déplacements a *étranger est tres faible par rapport a d’autres

pays (environ 5% aux Pays-Bas, Suisse et Allemagne,

plus d’un tiers en Grande-Bretagne ou au Canada, et plus

d’un quart en Irlande).Cependant, aux Etats-Unis et au Japon,

cette proportion est encore faible.
[12]

B) Traduisez en francais.
W e live in a complex world. Technology has transformed our manner

of living. Everything has changed rapidly.: fashion, family, professions,
means of transport , medias, eating habits etc. At the same time, pollution
has become a major problem. the earth is heating up, the animals are losing
their habitat. the plastic bag is everywhere. It is necessary to act quickly to

stop the destruction of our planet.

C) Compréhension: Lisez le passage et répondez aux questions suivantes:

" Pour mes copines et moi, avoir un portable est trés important. On peut s'appeler
sans passer par nos parents et on est toujours en contact. Avec mon Smartphone,

je peux aussi envoyer des photos aux autres. Pour les jeunes aujourd’hui, les
mobiles sont indispensables. Mes parents utilisent les leurs seulement de temps
en temps, mais nous €teignons jamais les nétres"” "il faut interdire les portables en

classe. Ils sonnent pendant les heures de cours et dérangent les professeurs et les

autres éléves . En ville ou dans le train , on entend les sonneries constantes et les

gens qui parlent sans cesse a haute voix"

Répondez aux questions suivantes: [12]
1) D'apres le texte, citez deux avantages des portables.
2) D'apres les texte, citez deux désavantages des portables.
3)Quelle est la différence dans l'usage des portables entre les parents et les enfants.
4) Donnez le contraire: éteindre, interdire
5) Dites autrement:

a)On peut s'appeler sans passer par nos parents,

b) les mobiles sont indispensables.

6) Formez un adverbe: constant

7) Formez un nom: parler

0Q2) Répondez aux questions(3 au choix) [15]
1) Faut-il encourager les jeunes précoces d'entrer dans les concours sportifs a

PT.O



cet jeune age. Quels sont les avantages et les désavantages d'un tel entrainement?

2) Est-ce que vous étes pour ou contre les jeux vidé€os. Justifiez.

3) Quels sont les avantages et les inconvénients d'une famille nucléaire ainsi que
ceux d'une famille conjointe. Illustrez / avec les exemples.

4) Qu'auriez-vous fait aprés votre licence? expliquez vos projets d'avenir

Q3) Répondez DEUX au choix. [20]
1) Rédigez un fait divers pour décrire un événement dans votre ville/pays
2) Faites le critique d'un film que vous avez récemment vu.
3) Un/e de vos amis part en voyage dans les montagnes. Qu'est-ce que vous lui
conseilleriez du point de vue écologique?

Q4) Grammaire:
a) Complétez avec le subjonctif ou l'indicatif [3]
1) J'espére que ce film (avoir) un grand succes.
2) Quoique les billets (étre) chers, ils ont €té vendus en 2 jours.
3) De peur que le chien ne (sortir) pas de la maison. elle ferme la porte.

b) Reliez les actions en utilisant aprés avoir/apres étre/avant de. [31
1) finir le travail / aller au restaurant
2) faire une réservation/partir pour un voyage
3) ne pas avoir envie d'assister au cours, passer de bonnes vacances

¢) Mettez les verbes au conditionnel présent ou au passé. [21
1) Si j' étais le maire de ma commune, je (faire) de mon mieux pour les habitants.
2) Si elle vient avec ses enfants, nous(pouvoir) visiter la forét.

d) Le nouveau proviseur du lycée envisage ce qu'il fera dans les cinq prochaines
:pour le lycée et les étudiants.
Imaginez trois actions et exprimez-les au futur et au futur antérieur.(utilisez 6

verbes différents) (6]
e) Expliquez votre préférence de sortie en utilisant les connecteurs de cause et de
conséquence( au moins 4) [4]
f) Mettez a la voix passive. [4]

1) le gargon a mangé¢ la pomme.

2) Les acteurs accompagneront le metteur en scene.
3) 1l avait vu ce film, il y a deux ans.
4) Jules César avait conquis la Gaule.

g) Complétez avec les pronoms personnels [5]
Pierre : Je ai téléphoné hier. Vous ne avez pas
répondu !
Paul et Marc : C’est vrai ? On est venu chez mais ta
mere a dit que tu étais sorti avec Jean.
Pierre : Je ne comprends pas ce qui est passe.
h) Formez les noms: introduire, triste, jouer, souffrir [4]
174 < 7 7
;?g 7 ;gg

[4701]Ext. - 585 2



Total No. of Questions : 5] SEAT No. -

P387 [Total No. of Pages : 2
[4701] Ext. - 8
EF.Y. B.A (External)
URDU
(2013 Pattern) (General Paper - I)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) Attempt All Questions.
2)  Figures to the left indicate full marks.

A.Bang-e-DaraPart - | B. Chand Hum Asr by Maulvi Abdul Hague
-Gty
(15) -G I 1z Sy Ay

RL o

-;éoﬁ;f(o/{ ;@JU}'@J?JJJ@‘ ;)J‘

(15) i Sl G e
b
_gubwjrfidjéfb

(15) A ) N R
b
& gbj{c,«;f%o?(fjgbﬂ‘

(15) LS TSl
L |

3

_géoilggag‘%c//&ul&%

PT.O.



(12) | E TP S s (e
A B _r 5(& _r u:’ff _

(10) | R A -

s swhie Sigort o

(18) PG I M Bl &

5T o 3 82 3T s sl b ARt o
RSN o J&f Ust ! Iz u”? DL (] - PR
LY e T LU W S UGB S
cFI Tt s 3T Edt §dy Sl f
LI W Bl o £ 2 L?gk«.fur(é.n;fz. A -0
eSS S st = 6 i un B
)/m;out“’"{]ﬂ)oﬁéc‘.—(f{“ é);J;Ku/:_.(EQJI,}d/ A
e Yleme Lol b & By u:/&ca"i@j; A

363838

2 [4701] Ext. - 8



	4701Ext-1
	4701Ext-10
	4701Ext-11
	4701Ext-12
	4701Ext-13
	4701Ext-14
	4701Ext-15
	4701Ext-16
	4701Ext-17
	4701Ext-18
	4701Ext-24
	4701Ext-3
	4701Ext-31
	4701Ext-36
	4701Ext-39
	4701Ext-41
	4701Ext-45
	4701Ext-48
	4701Ext-5
	4701Ext-50
	4701Ext-501
	4701Ext-502
	4701Ext-503
	4701Ext-504
	4701Ext-508
	4701Ext-513
	4701Ext-514
	4701Ext-515
	4701Ext-518
	4701Ext-519
	4701Ext-520
	4701Ext-521
	4701Ext-522
	4701Ext-523
	4701Ext-524
	4701Ext-526
	4701Ext-527
	4701Ext-528
	4701Ext-529
	4701Ext-530
	4701Ext-531
	4701Ext-543
	4701Ext-544
	4701Ext-545
	4701Ext-546
	4701Ext-549
	4701Ext-551
	4701Ext-552
	4701Ext-553
	4701Ext-554
	4701Ext-555
	4701Ext-556
	4701Ext-558
	4701Ext-559
	4701Ext-561
	4701Ext-562
	4701Ext-563
	4701Ext-564
	4701Ext-566
	4701Ext-568
	4701Ext-569
	4701Ext-585
	4701Ext-8


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


